NHeBMOLUNHHAD

Cepua G61-Z

@20 ~ 100

o Mucras» (1.e. NpefenbHO NpocTas, rMagkas) dopma

o KomnakTHOCTb, pasbopHas KOHCTPYKLIAA

 MHoroo6pasue BapuaHTOB MOHTaXa: Ha nanax, Ha thiaHLie (NepeaHem unu 3agHem),
Ha Lande (NepeaHelt unu 3aaHeit), Ha 3aHem LapHIpe

Bbicokan MakcumanbHas ckopocTb nopLuHs - 1000 mm/c
B03MOXHOCTb YCTAHOBKM AATUMKOB MONOXKEHNS

VicnonHeHus ¢ ynpyrum u nHeBMaTu4eckiuM gemndepom
VicnonneHne opHocToporHero feiicTana ana @20, 25, 32 1 40 Mm
WcrionHeHue ¢ 3aLLuTol LTOKa OT 3arpsiaHeHuii (rodpp. yexon)
VicnonHeHns ¢ [BYCTOPOHHIM LLITOKOM, C HEMPOBOPOTHBIM LUTOKOM

TeXHHYECKHe XapaKTepHCTHKH

[inaveTp nopuua (m) 20 [2 32 J4a [s [6 [s8 [100
Cpepa OuLLIEHHBI CxaTbill BO3AYX 63 MacnopacrbineHus
WenbitatensHoe aasnenue (Mra) 1.5
MakcumansHoe pabouee aaenetue (MMa) 1.0
MurumanbHoe pabouee fasnerue (MMa) 0.05
Temneparypa okpyxatoLueil cpeapl (°C) -10 ~ +70 (6e3 AaTUMKOB NONOXEHIS)
-10 ~ +60 (c jatumKkamin nonoxeHus)
CKOpOCTb MOpLLHA (MM/C) 50 ~ 1000 50 ~ 700
[emncpuposaHue Ynpyruii gemndep / MHeBmatnyeckuii emncep
0630p nporpamMmbl NOCTABKH
Cepust [HeicTane LLiTok CraHgapt. | BapuaHTbl [uametp
CTIOfNH. C 3awwutoit MHesmorugpas-| “ucras | Besmemn | (mm)
LUTOKA JINYECKMIA cepus
CG1-Z Cranpapt [pyctopoHHee | OpHocTopoRHuiA | Ynpyruii ° ° ° ° ° 20~100
MHeBmaTuyeckin | @ ° )
[BycTopoHHmMiA | Ynpyruit ° o ° ° °
MHeBMmaTuyeckuii | ® ° °
OpHocTopoHHee | OgHOCTOPOHHMA | Ynpyruii ° 20~40
(MpyXuH. BO3-
Bpar/nogava)
CG1K-Z C 3awLéHHbIM [ycTopoHHee | OpHocTOpoHHMIA | Ynpyruii ° o 20~63
0T NpoBOpOTa MHeBmatuyeckin | ® 40~63
LUTOKOM {1ByCTOPOHHMI Ynpyruit [ 20~63
CG1R-Z [pamoro OpHocTopoHHuMiA | Ynpyruit o ° o 20~63
MOHTaXa MHeBMmaTuyeckuii | ® °
CG1KR [lpsmoro MoHTaxa OpHocTopoHHuiA | Ynpyruii ° 20~63
C HEnpBOp. LLTOKOM
CG1Y-Z C Huskum OpHocTopoHHuii | Het gemndpepa ° 20~63
TPpeHnem Ynpyruit o 20~100
NpHHaANeXHoCTH
Kpennexue OcHogHoe | Jlanbl MepenHuii | 3agHui MepepHss | 3agHas [MpoyLmHa
cnaHey, | dnaxey, Landa Landa
CraHpapt | Taiika TOKa [ L] ® L] [ ° °
LLTudpt npoyLumHbI - - - - - - °
Onuus OpuHoYHas ° [ ) ® ® ® ®
BIIKA LUTOKA
[BoiiHas [ ° [ ° ° ° °
BUNIKA LUTOKA**
(co wrucpraw) * Kpowme uunurppos @80 1 @100
Onopa _ _ _ _ o o hd ** Biioyast HeyCTaHOBMEHHbIE LUTACTbI I
3aluTHbli rochp o [ ] ° [ ] ° [ [ ] CTOMOPHbIE KOMbLia

1-96



O

SMC

MHesmouunNUHAp
Cepus CG1-Z

[innubl Xopa

[uametp (Mm)

CranpaptHbili xon” (M)

JuHHbIz xon” (MMm)

20

25, 50, 75, 100, 125, 150, 200

ot 201 go 1500

25

25, 50, 75, 100, 125, 150, 200,

32

250, 300

40

50/63

80

100

ot 301 go 1500

1) MHEBMOLMNMHAPSI C HECTAHAAPTHOI ATIHOM XOAa U3rOTABNMBAIOTCS MO 3aMpoCy.

2) A CTIONHEHIIA C ATMHHBIM XOZOM NPUMEHSETCA MOHTAX Ha flanax Ui Ha NepesHeM draHue 3auyTHbli rocpp
- Bes rochpa
J* | HeiinoHoBas TkaHb 70°C
HUMBII m’ﬂ 3dKa3a C G 1 N - m Z K* | Tepwmoctoiikas TkaHb 110°C
* Tonbko ANA LUNMHAPOB
C HapyXHoii peaboil LUToKa
— | Bes marHuTHoro Konbua Onuyun
D* | C MarHuTHbIM KOMbLIOM o nopwHs () Peass XC6* | Hepwaseowit wrok
* Kpowe wuurapos @80 1 3100 a ea:l 2 TR XB6* | Beicokan Temneparypa 150°C
Tun kpennexus 20 | 50 apyxHas (6ea maruTa)
B bazoBblil 3 63 F Bryrpentian ¥B7 | Hwakan Temneparypa -40°C
Z* | basosbliii 6e3 0TB. ANA Liandbl E20 D (6e3 warhura)
L Ha nanax 40 | 100 XC22*| YnnoTHenwa s FKM
F Tlepeni naren; @ Xop (Mm) XC10*| CngoerHsiit gByxIITOKOBH
Cwm. Tabn. cTangapr. xopos MHEBMOUMTMHAP (4-NO3ULMOHHBIA)
G 3agHuii chnaHeL @ [lemcbupoBaHue -
= XC11* | CaBOEHHBIA NHEEMOUMAMHAD
U* | Mepentss uanca N | Ynpyruii gemncpep (3-noauumoHHbI)
T* | 3agHss uanda A [MHeBMmaT4eckuii femncep XC35* | ononmumensHsii naryHHsii
D [MpoyLmHa crpebok
* Kpome uunurppos @80 1 @100 XC4* | YcunewHsii ckpebok
Homep ang 3akasa npHHagneXxHocTen * no sanpocy
KpenexHbie [uametp (Mm)
3/1IEMEHTI 20 25 32 40 50 63 80 100
Jlanb* CG-L020 CG-L025 CG-L032 CG-L040 CG-L050 CG-L063 CG-L080 CG-L100
OnaHxel CG-F020 CG-F025 CG-F032 CG-F040 CG-F050 CG-F063 CG-F080 CG-F100
Brynka CG-T020 CG-T025 CG-T032 CG-T040 CG-T050 CG-T063 - -
[poyinHa** CG-D020 CG-D025 CG-D032 CG-D040 CG-D050 CG-D063 CG-D080 CG-D100
Onopa CG-020-24A CG-025-24A CG-032-24A CG-040-24A CG-050-24A CG-063-24A CG-080-24A CG-100-24A
* KomnnekT cocTouT 3 0fJHOM nanbl
** - Bknioyas LUTUCTHI, CTONOPHbIE KOMbLi@ U KPenexXHble 60Tbl
KomnnexTbl nan v chnaHues BKNiovaloT kpenexHbie 6onTbl
Bec NHEBMOLMAHKAPA M KPENEXHBIX 3NeMeHToB (Kr)
Aunametp (Mm) 20 25 32 40 50 63 80 100
bazoeoe kpennenue (B)| 0.11 0.17 | 0.24 0.44 0.79 1.06 207 | 3.6
OcHoeHoin| bazoeoe Kpennenue (Z)| 0.11 017 0.25 0.45 0.80 1.09 - -
Bec Ha nanax 0.21 0.29 0.40 0.67 1.26 1.77 3.04 491
:a ¢naHue 018 | 026 | 038 | 065 | 1.16 | 1.64 | 278 | 444 MlpHMep pacuera:
auan¢e : 0.12 0.19 0.28 0.49 0.88 1.20 - - CG1LA20-100Z
C npoylwnHoi 017 0.25 0.39 0.68 1.19 1.78 277 4.44 {920‘ xos 100, Ha nanax)
Onopa 008 | 009 | 017 | 025 | 044 | 080 | 098 | 1.75 P
: OcHoBHoit Bec: 0.21 (Ha nanax, 20)
IapHUpHOe coefinHeHne 005 | 009 | 009 | 010 | 022 | 022 | 039 | 057 .
= JononHuTeNsHLIR BEC: 0.05 Ha 50 mm xopa
[BoiHOE WapHWpHoe 0.05 0.09 0.09 013 0.26 0.26 0.64 1.31
Xop umnuHppa: 100 Mm
coefiHeHve (co WTnpTamu)
[lon. Bec Ha Kaxable SOMMXoga | 0.05 | 0.07 | 009 | 014 | 021 | 025 | 035 | 050 £lon. BEC ANA UCTIONHEHUA C
= nHesMaryeckum gemndepom: 0 kr
[lon. Bec Ha NHeBMaTUYECKMiA 0 0.01 004 |0 001 | 004 | O 0.04
Aemndep 100
CHWX. Beca AnA BHYTP. peabbbl wroka| -0.01 | -0.02 | -0.02 | -0.05 | -0.10 | -0.10 | -0.19 | -0.27 Bec=0.21+0.05x 50 +0=0.31«r

1-97


lf
Прямоугольник

lf
Машинописный текст
одной лапы

lf
Машинописный текст


MHeBMoOUUNHHAP
Cepus CG1-Z

KoncTpykumna

C ynpyrum nemnedpepom

0

D)

C nHeBmMaTHYeCKNM nemndiepom

B[ @

280, 2100

=
|

DOE@0 ei'.L;

DOBERDBE

ST

. (B
b
Y0 @ © @ @

i I

OnuHHbIG X0,

MREeN©331712 G5 9 @ a8

—hil ) T

|
(A8

f\g]
|

280, 2100

[nuHHbIi xog 1001 ~ 1500

[ -~ ‘]] O\ | /C) lz\u‘
[nnHHbIR Xop,
PemKomnnexr

CreumdiuKauus CocTowT U3 no3. 20, 21, 22
Mos. | HassaHue Marepuan [Mpumevanue @ (vm) | Homep ans 3akasa
1 LLiTokoBas KpbilLKa AnoMUHIEBbIN crnas AHopMpoBaHHbIiA 20 CG1N20Z-PS
2 KpblLUka rib3bl AnoMUHIEBbIN crnas AHOZVMPOBaHHbIN 25 CG1N25Z-PS
3 [MopLueHb AnoMUHIEBbIN Crnas 32 CG1N32Z-PS
4 Lok HepxageloLLias ctanb @20, 25 - ¢ MarHUTHbIM KOJbLIOM 40 CG1N40Z-PS

Yrnepogucras cranb

TeépLoe XxpomaTupoBaxue

HanpasnsioLLee KonbLO LUTOKA

[MoLWMNHUKOBbIN cnnaB

5

6 Ynpyruit gemncep Monumep @32 1 bonee — ofHaKOBbIE
7 Ynpyruit gemncep Monumep

8 CronopHoe KonbLio HepxageloLLas cTanb Kpome @80 1 100

9 W3HocHoe KonbLo Monumep

10 [aiika wToka

YI'HGPOJJ,I/ICT&H Ctajlb

Ll,IAHKOBOG XpomatupoBaHue

11 Brynka nHeBmatuy. femncpepa A

AnioMUHI1EBbIN Crinas

12 Brynka nHeBmatuy. femncpepa B

AnioMUHINEBbIN CriNas

13 OnopHas Lwaiiba ynnoTHeHus

Cranb

U,I/IHKOBO(-) XpomatupoBaHue

14 KnanaH nHeBmatuy.aemncbepa

[o @40 - yrnepopucTas ctanb

Hukenesoe NOKpbITNE

@50 1 6onee - cTaNbHas NPoOBOsOKa

LlI/IHKOBoe XpomatuposaHue

15 CrarnbHoli Luapuk

Yrnepogucras cranb

16 Marxera nHesmariy. semncpepa A | YpetaH

17 Matxeta nHesmaruy. semncpepa B | YpetaH @32 1 bonee — Takas xe, Kak Marxeta gemncepa A
18 3anHan Kpbillka AnoMUHIEBbIIA Crinas AHOLMPOBaHHbINA

19 [vnb3a AnOMUHIEBbIN cnnaB AHOL/POBaHHbIN

20 YnnoTHeHue WToka NBR

21 YnnotHeHe nopLUHs NBR

22 [Mpoknagka runb3bl NBR

23 YnnoTHeHe KnanaHa NBR

I'IpmeanMe: npu HeOﬁXOﬂMMOCTVI YCTaHOBKI JaTYNKOB MONOXEHNA
NpeaycMOoTPEHO UCMOJIHEHWE C MarHUTHBIM KOMTbLIOM Ha NOpLUHE.

1-98




O

SNCn MHesmouUNHHAp
Cepus CG1

Pasmepbi

CG1BN: ¢ ynpyrum aemnchepom
GA 2-RC(PT)P GB TATB
Pa3me nonepeyHoe ceyeHue
MM _H1 Pevep |

N\ T kaiouBt I 2-TC

ol |
2

e N (N | | - RN 5=
wiS A= bEAl w
(= T 4 i i

‘ | | 1 |
AL |
T A T_K|F|TA| \4TC 18
A S +Xop F
L ZZ +Xop M

@ (M) | Crama. xoz (Mm) JinuH. xo, (Mwm) A AL B1 |C D E F GA | GB H H1 | J

20 [o 200 201~ 1500 18 155 [ 13 14 8 12 2 12 10(12) 35 5 26 M4 rny6. 7
25 [0 300 301~ 1500 22 195 | 17 16.5 10 14 2 12 10(12) 40 6 31 M5 rny6. 7.5
32 [0 300 301~ 1500 22 195 | 17 20 12 18 2 12 10(12) 40 6 38 M5 rny6. 8
40 [0 300 301~ 1500 30 27 19 26 16 25 2 13 10(13) 50 8 47 M6 rny6. 12
50 [0 300 301~ 1500 35 32 27 32 20 30 2 14 12(14) 58 1 58 M8 rny6. 16
63 [0 300 301~ 1500 35 32 27 38 20 32 2 14 12(14) 58 1 72 M10rny6. 16
80 [0 300 301~ 1500 40 37 32 50 25 40 3 20 16 (20) 71 13 89 M10 rny6. 22
100 [0 300 301~ 1500 40 37 41 60 30 50 3 20 16 (20) 71 16 110 M12 rny6. 22
@(mv) | K KA MM NA P S TA B TC* 11D 4 TE TF TG Y74

20 5 6 M8 24 1/8 69(77) 11 11 M5 8 ;m 4 05 55 106 (114)

25 55 8 M10x1.25 29 1/8 69(77) 11 11 M6x0.75 10, 5 1 6.5 111(119)

32 55 10 M10x1.25 355 | 1/8 71(79) 11 10(11) M8x1.0 120" 55 1 75 113(121)

40 6 14 M14x1.5 44 1/8 78(87) 12 10(12) M10x1.25 14;0'OB 6 125 | 85 130(139)

50 7 18 M18x1.5 55 1/4 90(102) 13 12(13) M12x1.25 160'0'OB 75 2 10 150 (162)

63 7 18 M18x1.5 69 1/4 90(102) 13 12(13) M14x1.5 180*0'OB 115 (3 145 | 150(162)

80 10 22 M22x1.5 86 3/8 108 (122) - - - - - - - 182 (196)

100 10 26 M26x1.5 106 12 108 (122) - - - - - - - 182(196)

lMpumeuaHme: B ckobkax faHbl pa3mepsl A5 UCMIOMHEHA C ANMHHBIM XO[0M

C 3awuTHbIM rothpom

[ ZZicaXm

1 NPaBo Ha BHeCeHNe TEXHUYECKNX N pa3MepPHbIX N3MeHeHUN

o(vm) | e f h 1J JH JW / 7z

20 30 18 55 27 156.5 10.5 0.25xopa 126 (134)
25 30 19 62 32 16.5 10.5 133 (141)
32 35 19 62 38 18.5 10.5 135 (143)
40 35 19 70 48 215 10.5 150 (159)
50 40 19 78 59 24 10.5 170(182)
63 40 20 78 72 24 10.5 170(182)
80 52 10 80 59 - - 191 (205)
100 62 7 80 7 - - 191 (205)

Komnanua SMC coxpaHseT 3a cobol

npwmeqaﬂwe: MUHUMANbHbIIA XOF, 418 UCTIONHEHIA C 3aLLUTHBIM KOXYXOM - 20 MM

1-99



MHeBMoOUUNHHAP
Cepus CG1

Paamepbi
BHyTpeHHas pe3bba HaKOHEYHHKA WTOKA S0 |12 m MM 77
MM 20 8 13 M4 84 (98)
....['n@MHa peabbbl A1 5 8 1 M5 85 (93)
T 7 32 12 14 M6 87 (95)
|' 40 13 15 M8 95 (104)
i'gﬂ \ 50 18 16 M10 108 (120)
'| 63 18 26 M10 108 (120)
/ 80 21 19 M14x1.5 | 130 (144)
’ 100 |25 22 M16x1.5 | 133 (147)
- ZZ + Xon * B CKOOKax fiaHbl pa3Mepbl 4Nt UICMIONHEHS C J/IMHHBIM XOZO0M.

C [IBYCTOPOHHUM WITOKOM

2xP
WA /(Rc. NPT, G) wA 8xdJ
Jo w 9 Paamepnog kot KA F_GA |  fpoccems senmwposasum mﬁ%‘w“ GA F Paamep o kot KA
MM Hi oo [ ,J _ Hi MM
wb o — ° = 4 i i
oS 1P IR P &
«| B HEEEY
=L
Paanep | ) \
nogkmoy B AL L AL Paamep nog ko4 B

Ak 1Al axte T Kk | Ta c

i H e S 4 Xog = H + Xon L NA .

= ZZ + 2Xopa =
@ (mm) | Crana. xoz (Mm) HnuH. xoz (M) A AL B1 © D E F GA H H1 | J K
20 10200 201 ~ 1500 18 | 155 | 13 14 8 12 2 12 35 5 26 M4 rny6. 7 5
25 £0300 301 ~ 1500 22 (195 | 17 16.5 | 10 14 2 125 | 40 6 31 M5 rny6. 7.5 55
32 10300 301 ~ 1500 22 (195 | 17 20 12 18 2 12 40 6 38 M5 rny6. 8 55
40 70300 301 ~ 1500 30 |27 19 26 16 25 2 13 50 8 47 M6 rny6. 12 6
50 £0300 301 ~ 1500 35 |32 27 32 20 30 2 14 58 11 58 M8 rny6. 16 7
63 £0300 301~ 1500 35 |32 27 38 20 32 2 14 58 11 72 M10rny6. 16 7
80 10300 301 ~ 1500 40 |37 32 50 25 40 3 20 71 13 89 M10 rny6. 22 10
100 70300 301~ 1500 40 |37 41 60 30 50 3 20 71 16 110 | M12my6.22 10
@ (vm) | KA MM NA P S TA TC 77 WA | WH Wo
20 6 M8 24 1/8 77 11 M5 147 16 1.5 25°
25 8 M10x1.25 29 1/8 77 1 M6x0.75 157 16 15 25°
32 10 M10x1.25 355 | 18 79 1 M8x1.0 159 16 15 25°
40 14 M14x1.5 44 1/8 87 12 M10x1.25 187 17 15 20°
50 18 M18x1.5 55 1/4 102 |13 M12x1.25 218 18 3 20°
63 18 M18x1.5 69 1/4 102 | 13 M14x1.5 218 18 3 20°
80 22 M22x1.5 86 3/8 122 | - - 264 24 4 20°
100 26 M26x1.5 106 12 122 | - - 264 24 4 20°

1-100



1 NPaBo Ha BHeECeHNe TEXHUYECKNX N pasMepHbIX N3MeHeHun

Komnanua SMC coxpaHseT 3a cobol

O

SNCn MHesmouUNHHAp
Cepus CG1

Paamepbl ¢ KpeneXHoIMH 3/1eMEeHTaMH

Nanbi / CGNLN
(] B LC LD LH LS LT LX Lz M W X Y VA 7z
(Mm) bes |C be3 rogpa C rocopom

rodpa | rochpom
20 34 4 6 20 45 (53) 3 32 44 3 10 15 7 47 67 + 1/4 xopa | 110 (118) 130 (138) + 1/4 xoma
25 385 |4 6 22 45 (53) 3 36 49 35 10 15 7 52 74+ 1/4 xopa | 1155 (1235) 137.5 (1455) + 1/4 xoma
R |45 |4 7 5 | 45(53 3 4 58 35 [ 10 16 8 53 75+ 14 xoma | 1175 (1255) | 1395 (147.5) + 1/4 xoma
40 545 |4 7 30 51 (60) 3 54 71 4 10 165 | 85 635 835 + 1/4 xona | 135 (144) 155 (164) + 1/4 xoma
50 705 |5 10 40 55 (67) 45 66 86 5 175 | 22 11 755 955 + 1/4 xoma | 157.5 (169.5) 177.5 (189.5) + 1/4 xoma
63 | 85 |5 12 45 | 55(67) 45 | 82 106 | 5 175 | 22 13 | 755 | 955+ 1/4 xona | 1575 (1695) | 177.5 (1895) + 1/4 xona
80 101 |6 11 55 60 (74) 45 100 125 | 5 20 285 | 14 95 104 + 1/4 xoma | 1885 (202.5) 197.5 (211.5) + 1/4 xopa
100 | 121 |6 14 65 60 (74) 6 120 150 | 7 20 30 16 95 104 + 1/4 xoma | 192 (206) 201 (215) + 1/4 xoma

I'Ipumeqaume: B CKoOKax [OaHbl pa3mepbl 414 UCNONHEeHNA C ANNHHBIM XOLOM

Nepenuuii thnaney / CG1FN 3apuuit thnaney / CG1UN

| [oFx:os)
77 +Xon FTL_LF 0B

[OFX 015 |
0B

@ (Mv) | AuanasoH xoga (Mm) B E F FX FD FT 3agHuii cnaHey, ZZ MepegHuit hnavel, ZZ
CTaHgapTHbif | ANMHHBIA Bes rodpa | C rodpom Bes rodpa C rocppom

20 g0 200 201 ~ 1500 40 12 2 28 55 6 112 (120) 132 (140) + 1/4 xoma | 106 (114) 126 (134) + 1/4 xopa
25 po 300 301~ 1500 44 14 2 32 55 7 118 (126) 140 (148) + 1/4 xoma | 111 (119) 133 (141) + 1/4 xopa
32 g0 300 301 ~1500( 53 18 2 38 6.6 7 120 (128) 142 (150) + 1/4 xoma | 113 (121) 135 (143) + 1/4 xopa
40 g0 300 301~ 1500 61 25 2 46 6.6 8 138 (147) 158 (167) + 1/4 xoma | 130 (139) 150 (159) + 1/4 xopa
50 go 300 301 ~1500( 76 30 2 58 9 9 159 (171) 179 (191) + 1/4 xoma | 150 (162) 170 (182) + 1/4 xopa
63 g0 300 301 ~1500( 92 32 2 70 11 9 159 (171) 179 (191) + 1/4 xoma | 150 (162) 170 (182) + 1/4 xopa
80 go 300 301 ~ 1500 104 40 3 82 11 11 193 (207) 202 (216) + 1/4 xopa | 182 (196) 191 (205) + 1/4 xopa
100 go 300 301 ~1500| 128 50 3 100 14 14 196 (210) 202 (219) +1/4 xopa | 182 (196) 191 (205) + 1/4 xona

MpumeyaHns:
1) B ckobKax faHbl pasmepbl A71si UCMIONHEHUS C ATIMHHBIM XOAOM
2) @F — puameTp BbiCTyna B LEHTPasbHOM YacTin hniaHLa

1-101



Cepus CG1

Paamepbl ¢ KpeneXHoIMH 3/1eMEeHTaMH

Nepennss uantha / CG1UN

Hapyx. aam. Lwmiacbra
—

2-0TDes

| L

LLupuHa KpenexHoro KpoHLLTelHa

l-—-—l

E*f

X
N 4-0TF -
- GT?E T g :_ T ZZsXon - _
4
g
3apnsas uanda / C61TN 3 1S
3 3 Iﬁlbhgng;?mro
A& KPOHLLITEIHA
ol &
1k 4, &l g
HEE @ @\ —
/ \
.'IJ i L — _'| tl
g
| 7 + Xog l‘j_‘ 1 )
t 77 +Xog 1 aTE*§"®
@ (vm) | OuanasoH xoma (Mm) B TDes TE TF TH TS TT TV W X TY
CravgaptHbiit| JnuHHbIA
20 po 200 201~ 1500 | 38 8 o0 10 5.5 25 28 3.2 35.8 42 16 28
25 g0 300 301~ 1500 | 45.5 10000 10 5.5 30 33 3.2 39.8 42 20 28
32 g0 300 301~ 1500 | 54 1200 10 6.6 35 40 45 49.4 48 22 28
40 £o 300 301~ 1500 | 63.5 140 10 6.6 40 49 45 58.4 56 30 30
50 £o 300 301 ~1500 | 79 1650 20 9 50 60 6 724 64 36 36
63 1o 300 301~ 1500 | 96 180 20 11 60 74 8 90.4 74 46 46
@ (Mm) | Mepeanss uanda 3agHan Landa
z z 77
Hapyx. pesbba BHyTp. pesbba Hapyx. pesbba BHyTp. peabba Hapyx. peabba BHyTp. pesbba
HaKOHEYHIKA LUTOKA | HAKOHEYHUKA LUTOKA | HAKOHEUHNKA LUTOKA | HAKOHEUHWKA LUTOKA | HAKOHEYHWKA LUTOKY  HaKOHEYHWKa LUTOKa
20 46 24 93 (101) 71 (79) 114 (122) 92 (100)
25 51 25 98 (106) 72 (80) 119 (127) 93 (101)
32 51 25 101 (108) 75 (83) 125 (132) 99 (106)
40 62 27 118 (126) 83 (90) 146 (153) 111 (118)
50 71 29 136 (147) 94 (105) 168 (179) 126 (137)
63 71 29 136 (147) 94 (105) 173 (184) 131 (142)

* COCTOUT 13 LUTUCHTOB, NNOCKOIA LUABbI 11 6ONTa C BHYTPEHHUM LLECTUTPAHHUKOM.

Mpumeyanns:
1) B ckobKax faHbl pa3Mepbl 4715 UCMIONHEHUS C ATIMHHBIM XOAOM

2) @E — puameTp BLICTyMa B LEHTPaNbHOI YacTil (hiatLa

1-102




1 NPaBo Ha BHeECeHNe TEXHUYECKNX N pasMepHbIX N3MeHeHun

Komnanua SMC coxpaHseT 3a cobol

O

SMC

MHesmouUNHHAp
Cepus CG1

Paamepbl ¢ KpeneXHoIMH 3/1eMEeHTaMH

NMpoywwua / CG1DN
8-J
220~ ¢63 <
!_ Z + Xon —t— "V" ~ +0.10
n ZZ 3 Xon 4-0TE/ oTE
(Ha putcyHke nonoxeHue nopTos nokasaHo noBepHyTsIM Ha 90 rpagycos)
280,100
]
- |
=
Z+ Xop |
[ ZZ +Xon, "
* BKnioyas LUTUATbI MPOYLLINHbI 1 CTOMOPHbIE KOMbLiA
@ (Mm) | CraHmapTHbii| B CcD (074 L RR \ TE TF TH TT TV W X TY TZ
xog, (Mm)
20 1o 200 38 8 29 14 11 - 10 5.5 25 3.2 35.8 42 16 28 43.4
25 1o 300 45.5 10 33 16 13 - 10 5.5 30 3.2 39.8 42 20 28 48
32 1o 300 54 12 40 20 15 - 10 6.6 35 45 49.4 48 22 28 59.4
40 1o 500 63.5 14 49 22 18 - 10 6.6 40 45 58.4 56 30 30 714
50 10 600 79 16 60 25 20 - 20 9 50 6 72.4 64 36 36 86
63 10 600 96 18 74 30 22 - 20 11 60 8 90.4 74 46 46 105.4
80 1o 750 99.5 18 56 35 18 26 - 11 55 11 110 72 85 45 64
100 1o 750 120 22 64 43 22 32 - 13.5 65 12 130 93 100 60 72
@ (MM) | HapyxH. pesb6a HakoHeuHVKa LToka BHyTp. peabba HakoHeuHuKa LUToKa Homep ans 3akasa
z 77 z 77 COOTBETCTB. WTndhra
20 118 (126) 139 (147) 96 (104) 117 (125) CD-G02
25 125 (133) 146 (154) 99 (107) 120 (128) CD-G25
32 131 (139) 155 (163) 105 (113) 129 (137) CD-G03
40 150 (159) 178 (187) 115 (124) 143 (152) CD-G04
50 173 (185) 205 (217) 131 (143) 163 (175) CD-G05
63 178 (190) 215 (227) 136 (148) 173 (185) CD-G06
80 214 (228) 2725 (286.5) 162 (176) 220.5 (234.5) 1Y-G08
100 222 (236) 298.5 (312.5) 173 (187) 2495 (263.5) 1Y-G10
MpumeyaHms:

1) B ckobKax faHbl pasmepbl A71si UCMIONHEHUS C ATIMHHBIM XOZOM
2) @F — puameTp BbiCTyna B LEHTPasbHOM YacTin hriaHLa

1-103




MHeBMoOUUNHHAP
Cepus CG1

Paamepbi

C nueBmatuyeckum pemncpepom / C61BN

2xP

..WA._ /(Re, NPT, G) P, _.WB._ 10° Wk
Egz":'{ipm K A_ F._ ._G& f [poccenb aemnchuposaHua ng;'\:iploq WH\ 9@, . ad} ".j"
. xTC M g | + Nt /
/_/ \ N A e ) I
.'{. . /‘l "'. A |’\/';'“‘J :':‘ 1
: E i1 EO. u: ||‘(‘/; H =3 ©
| ]_.' 7 - A w
N A Pasmep ! i
b W no Koy B/ {
- "
ll d_TE N ;l'B_ 3 c ‘ 8 xd
ICIRG C LF S 7
- NA - - -
@ (Mm) | Crang, xom (Mm) JnuH. xo (Mwm) A AL B1 |C D E F GA | GB H H1 | J
20 10200 201~ 1500 18 155 [ 13 14 8 12 2 12 10(12) 35 5 26 M4 rny6. 7
25 10300 301 ~ 1500 22 195 [ 17 16.5 10 14 2 125 | 10(125) | 40 6 31 M5 rny6. 7.5
32 10300 301~ 1500 22 195 [ 17 20 12 18 2 12 10(12) 40 6 38 M5 rny6. 8
40 00300 301 ~ 1500 30 27 19 26 16 25 2 13 10(13) 50 8 47 M6 rny6. 12
50 10300 301 ~ 1500 35 32 27 32 20 30 2 14 12(14) 58 1 58 M8 rny6. 16
63 10300 301 ~ 1500 35 32 27 38 20 32 2 14 12(14) 58 11 72 M10rny6. 16
80 10300 301 ~ 1500 40 37 32 50 25 40 3 20 16 (20) 71 13 89 M10 rny6. 22
100 10300 301 ~ 1500 40 37 41 60 30 50 3 20 16 (20) 71 16 110 M12rny6. 22
@ (Mm) KA MM NA P S TA | TB TC 7z WA [ WB WH | Wo
20 6 M8 24 M5 69(77) 11 11 M5 106 (114) 16 15(16) 15 25°
25 55 8 M10x1.25 29 M5 69(77) 11 11 M6x0.75 111(119) 16 145(16) | 15 25°
32 55 10 M10x1.25 35 | 18 71(79) 11 10(11) M8x1.0 113(121) 16 14(16) 15 25°
40 14 M14x1.5 44 1/8 78(87) 12 10(12) M10x1.25 130(139) 17 15(17) 15 20°
50 7 18 M18x1.5 55 1/4 90(102) 13 12(13) M12x1.25 150 (162) 18 16(18) 3 20°
63 7 18 M18x1.5 69 1/4 90(102) 13 12(13) M14x1.5 150 (162) 18 17(18) 3 20°
80 10 22 M22x1.5 86 3/8 108 (122) - - - 182 (196) 22 20 (24) 4 20°
100 10 26 M26x1.5 106 1/2 108 (122) - - - 182 (196) 22 20 (24) 4 20°
Mpumeyanms:
1) B ckoBkax faHbl pasmepsl 4ns UCTIONHEHIS ¢ AMAHHBIM XOZOM
C 3aWMTHLIM rothpom 2) @E — fuameTp BLICTyMa B LEHTPaNbHOIA YacTi (oatLia
8 . - -Bu-
o SR
_ H i i T U 1
2l ol ATl IS =1 mit N7\
o| @ : of @ 'Jl_ | \.L/{ FA
= A | = (=) HE [ )
¢ ||t el t
h+e h+¢ W
ZZ + ¢ + Xog . ZZ + ¢ +Xop
080, 100 020 ~ 063
o(mv) | e f h IJ JH JW I zZZ
20 30 18 55 27 15.5 10.5 0.25 126 (134)
25 30 19 62 32 16.5 105 xopa 133 (141)
32 35 19 62 38 18.5 10.5 135 (143)
40 35 19 70 48 215 105 150 (159)
50 40 19 78 59 24 10.5 170 (182)
63 40 20 78 72 24 10.5 170 (182)
80 52 10 80 59 - - 191 (205) N .
MWHUManbHbIN XOA4 ANA UCNONHEeHUA
100 62 7 80 71 - - 191 (205) C 3aLUUTHBIM KOXYXOM — 20 MM
Homepa ans 3aKa3a XomyToB flaruukn nonoxenus
Tun Huametp (Mm) [JlaTuuKin NONOXeHus YCTaHaBNMBAIOTCA
patamka | 20 25 32 40 50 63 80 100 Ha XomyTax.
D-C7/C8 | BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040 | BMA2-050 | BMA2-063 | — - KpenexHble XoMyTel i AaT4uKi
O NonoXeHWs 3aKa3blBalOTCS OTAENbHO.
Bonee nogpobHyio nHGopmaLio MOXHO
D-B5/B6 | BA-01 BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10 MONY4UTS IO 3arpocy.
D-G5/K5

1-104



Air Cylinder

o 20,0 25,0 32,0 40, ¢ 50, 0 63, 2 80, 3 100

Female rod end
available as
standard

Rod end styles
suitable for the
application can
be selected.

Male thread

Easy fine adjustment of auto switch position

Fine adjustment of the auto switch position
is possible by simply loosening the screw
attached to the auto switch.

Transparent switch bracket improves
visibility of indicator LED.

(Fine adjustment of auto switch)

LED colour indicator

d

No trunnion mounting female thread

dded to basic type variation

No foreign matter accumulation due
to the simple construction

No trunnion mounting female thread
H
I A
H N
I

New Direct mount, non-rotating rod type (CG1KR-Z) is added.

N

~N

Theymodels;withirodiend;bracket:and/or—
[‘pl‘vot'fbracketgggmnumbers;mgggpandéd!,

® CG1-Z (Single acting), CG1K-Z, CG1R-Z, CG1KR-Z, CG1Y-Z

CAT.EUS20-224C-UK



Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

Example) CDG1[D] N20-50Z- N V_|\_I -M9BW

Mounting

end bracket With rod end bracket
— | None and clevis — | None V: Single W: Double
- knuckle joint knuckle joint

Pivot bracket is
shipped together
with the product,
but not assembled.

<

Single knuckle joint
W | Double knuckle joint

N

=

* Applicable to only mounting D, \
UandT.

Various mounting bracket options

e Suitable mounting brackets can be selected for
the installation condition.
e Improved amount of mounting freedom

\
s". 553

i
%‘ ' --Head flange

Single knuckle joint

Axial foot

Basic (No trunnion mounting female thread)

Axial foot

No environmental hazardous
substances used

Compliant with EU RoHS directive.
Lead free bushing is used as sliding material.

Easy fine adjustment of auto switch position

Fine adjustment of the auto switch set position can be performed by loosening the
auto switch attached screw without loosening the auto switch mounting band.

Operability improved compared with the conventional auto switch set position \ J

adjustment, where the complete switch mounting Screw attached to auto switch Specifications, performance and

band requires loosening. i mounting method are same as the
’ = \_Auto switch >eXIStmg product. /

Grease is selectable. (Option)

® Grease for food processing equipment (XC85)
Switch ho ® PTFE grease (X446)

Water resistant compact auto
switch now available
® Solid state auto switch D-MLIA(V)

Visibility of the indicator
LED improved with the
transparent resin switch bracket
(Standard specification)

(s
Auto switch mounting band d

O

SvVC



Series CG1

A=




Combinations of Standard Products and Made to Order Specifications

Series CG1

@ : Standard CG1 CG1K
© : Made to Order (Standard type) (Non-rotating rod type)
O : Special product (Please contact SMC for details.)
__ - Not available Double acting Single acting Double acting
Single rod Double rod Single rod Single rod Double rod
Rubber | Air | Rubber | Air | Rubber | Rubber | Air | Rubber
Page 5 Page 23 Page 31 Page 38 Page 43
Specifications Applicable bore size 2 20to o 100 020t0040|020t0063|0401t0 063|020 t0 0 63
Standard | Standard (] o ) [ ) o ) )
Long st Long stroke 2 20to @ 100 [ ) [ ) [ ) [ ] O @' @0 @l
D Built-in magnet o o () ) o ) ) )
CG10F | With One-touch fittings Note 15) 220t0063 | @ O O O O O O O
CG10-[Jk | With rod boot 020tog100| @' @' @ @wl O O O @)
CG1OH Air-hydro type @ 20 to ¢ 63 [ ) — (] — — — — _
10- Clean series 220to2 100| @ o) @ @™ O — — —
25A-Note 9) | Copper (Cu) and Zinc (Zn)-free Note 15) | g 20 to @ 100 [ ] () @) O O O O O
20- Note 9) Copper Note 8 and Fluorine-free 2 20 to @ 100 [ ) (] (] o O ) O )
cG10§ Water resistant 232t00 100 @ o O O @) — — —
CG1OM Cylinder with stable lubrication function (Lube-retainer) |@ 20to @ 100| @ O O O — — — —
XB6 Heat resistant cylinder (=10 to 150 °C) Note?) (OLLENG) Omed  © O — — —
XB7 Cold resistant cylinder (-40 to 70 °C) Note 7) (OLLING) el O @) — — —
XB9 Low speed cylinder (10 to 50 mm/s) 020100100 © O O O — — — —
XB13 Low speed cylinder (5 to 50 mm/s) © O O @) — — — —
XC4 With heavy duty scraper 032t0063| O (@) O @) @) — — —
XC6 Made of stainless steel g20toe 100 © © © © Otees|  — — —
XC8 Adjustable stroke cylinder/Adjustable extension type O ©) — — O O O —
XC9 Adjustable stroke cylinder/Adjustable retraction type © © — — O O O —
XC10 Dual stroke cylinder/Double rod type 0 20to @ 63 © © — — O O ©) —
XC11 Dual stroke cylinder/Single rod type @) @) — — — O O —
XC12 Tandem cylinder ©) O _ _ _ owsl O o
XC13 Auto switch rail mounting 220toe 100 © © O ©) O O @) O
XC20 Head cover axial port 220toe63| © O — — (©) O 0O —
XC22 Fluororubber seal Ol © Gl ING) @) O O O
hoar | e meeion | 9 |9 00000
XC29 Double knuckle joint with spring pin O O @) @) oMl O O O
XC35 With coil scraper © O O O @) — — —
XC37 Larger throttle diameter of connection port (@) O @) O O O O @)
2 20 to o 63
XC42 Z:I:-m shock absorber in head cover o © . . o O O .
XC85 Grease for food processing equipment |6 20to ¢ 100| © © © © O O @) @)
X446 PTFE grease 220toe 100 © O O @) @) — — —

Note 1) o 40 to @ 63 only

Note 2) Without bumper

Note 3) o 32 to @ 100 only

Note 4) SV type only (Heat resistant grease is used.)

Note 5) o 20 to @ 63 only

Note 6) Single acting/spring return type (S) only

Note 7) The products with an auto switch are not compatible.

O
2



Series CG1

CG1KR

Note 15) Note 12)
(Direc?mGollﬁt type) N ong::;:\r;?:é‘ tt’ype) (V?iﬁnee‘lnd lock) (ScmGoltE zylinder)
Double acting | Double acting | Double acting | Double acting
Single rod Single rod Single rod Single rod
Rubber | Air Rubber Rubber | Air —
Page 47 Page 52 Page 56 =
@ 20 to o 63 2 20to 0 63 2 20to o 100 2 20to o 100 bo
o [ J o o ([ () Standard
O O O o () o Note 10) Long st
o [ J [ o [ o D
O O O O O O CG10F
O O O () o O CG10-00x
O — — — — — CG10OH
[ O — O O — 10-
O O O O O O 25A- Note 9)
) ) O @) @) — 20- Note 9)
O O — O O — cG10§
O @) — — —_ — CG1OM
ov  © _ O O — XB6
O O - — | = — P
omsl O — @) O — XB9
om8l O _ — — — XB13
O | © — O | O — XCa
© © — O ©) © XC6
@ @) @ Note 15) ONoteIB] ONole 1) O XC8
@ @) @ Note 15) @LL oLl O XC9
O O O O O O Xc10
O O O O O O XC11
O O O O O — XC12
© O O © © O XC13
@ O © Note 15) O O @ xc20
o* O O O O — XC22
O O O O O © Xca7
O O O O O O XC29
O O — O O — XC35
O O O O O O XC37
O O O O O — XC42
O O O O O — XC85
O O — — — — X446

Note 8) Copper-free for the externally exposed part
Note 9) For details, refer to www.smc.eu.
Note 10) Long stroke is beyond the performance guarantee.

Note 11) Female rod end is available as a special order.

Note 12) For details about the smooth cylinder, refer to www.smc.eu.

Note 14) Available only for locking at rod end.
Note 15) The shape is the same as the existing product.

)
)
Note 13) Available only for locking at head end.
)
)

O
2

Standard
Double Acting, Double Rod
CG1w

1f

[ Non-rotating Rod
Double Acting, Double Rod
CG1KW

Direct Mount

1 (Direct Mount, Non-rotating Rod I
Double Acting, Single Rod
CG1R

With End Lock

[

Double Acting, Single Rod
CG1

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

‘ Made to Order



Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1
g 20, 0 25, ¢ 32, 3 40, @ 50, o 63, @ 80, & 100

How to Order

B CcG1B[N20[ 100

|
[T CDG1BIN[20] -100

-M9BW|_ |-

With auto switch - _l
(Built-in magnet) Bore sizel Pivot bracket Made to Order
Mountinge— 0] 20 mm — None For details, refer to page 6.
i Pivot bracket is shipped together .
B Basic 25| 25mm N |® Number of auto switches
Z* |Basic (without trunnion mounting female thread) 32| 32 mm with the product, but not assembled — 5505
L Axial foot 40| 40 mm + Only for D, U, T mounting types S 1ppc -
F Rod flange + Pivot bracket is shipped together —
G Head flangge gg gg 22 with the product, but not assembled. n n_pcs.
u* Rod trunnion 80| 80 mm Rod end brackete e Auto switch
T* Head trunnion 100] 100 mm — None | — [ Without auto switch |
D Clevis \"/ Single knuckle joint # For applicable auto switches,
 Not available for o 80 and & 100. ‘ ® Type W __ | Double knuckle joint refer to the table below.
’ chzuF;ggigrag:&ert‘s :zlspe;::gl;%gether with N Rublber bumper = No bracket is provided for the female rod end.
+ The cvlinder for F. G. L. D mounting tves is Z: A Air cushion = Rod end bracket is shipped together with the product, but not assembled.
} Basic{without trur;nién Ymounting fe?nglz threa&) = A knuckle joint pin is not provided with the single knuckle joint.
Port thread type e—— ® Suffix for cylinder (Rod boot)
Rubber bumper Air cushion »Rod end thread = Without rod boot
M5x0.8 | @20, 8 25 J Nylon tarpaulin
— . — |Male rod end - -
Re 020100100 Rc o0 32 to g 100 F  |Female rod end K Heat resistant tarpaulin
TN NPT |#20t0o@ 100|| NPT* |g32too 100 * In the case of w/rod boot, and a foot bracket or
TF M5x0.8 | 220,025 G* 0 32too 100 » Cylinder stroke [mm] rod flange as a bracket, those parts are to be
G @ 32 t0 @ 100« Not available for & 20 and o 25. Refer to “Standard Strokes” on page 6. assembled at the fime of shipment,

= For female rod end, no rod boot is provided.

Applicable Auto Switches/Refer to the Auto Switch Guide for further information on auto switches.
. . =) - Load voltage AUt9 Siiich) mod_e . Lead wire length [m] . .
Tvne Special Electrical| 5 Wiring Applicable bore size Pre-wired |  Applicable
s function entry | 8| (Output) DC AC 2 20to @ 63 2 80,06100 | 0.5 | 1 | 3 | 5 |None|connector load
2 Perpendicular In-line In-line (=) [((M)[ (L) [(2)|(N)
) M9INV M9ON = ® 0 O|—| O
Mt sV.12v N9PV MoP e TeeoI=1 0 crout
. — — circui
o Grommet 3-wire (PNP) — — G5P e — e o — o)
= M9BV M9B = ® &0 O —| O
2 2-wire 12V — — K59 ® — @/ O|—| O —
2 Connector — H7C — o — o000 —
o . MINWV MONW = ® 0 O —| O
E el e N v — — G59W | @ |—|@|O|—| O | IC |Relay,
@ | Diagnostic indication - 3-wire (PNP) ’ MOPWV | M9PW — ® |®@/® O|—| O |circuit| PLC
& | (2-colour indication) — — G5PW ® — @/ O|—| O
] 2-wire 12V M9BWV MOBW = ® &0 O —| O o
° Grommet — — K59W ® — 00— O
@ 3-wire (NPN) 5V 12V MONAV***| MONA*** — o olelol—] © IC
Water resistant 3-wire (PNP) ' MOPAV*** | MOPA*** — O |0O|@|O|—| O |circuit
(2-colour indication) wire 12V M9BAV** | MOBA*** — O|0O|@|O|—| O _
= = G5BA*™* | — [—|@|O|—| O
Vit diagnosicovput(2:olowrindeaton) 4-wire (NPN) 5V, 12V — H7NF G59F ® —|®@ O|—| O [lCcircui
= v 3wire (Equiv.toNPN)] — | 5V — A96V A96 — ® |—|®|—|—| — [Ccircut| —
L ) 100V A93V A93 — o — o0 —| — —
2 Grommet |No| 100 Vorless| A90V A90 — ® —|®|—|—| — |Cciru
2 — [Yes| 1oy [00V.200V] — B54 o —|efe[—| — Rela
3 No| 2wire |24V 200Vorless|  — B64 o —Jo— | — — | 7%
B Connector &S — — C73C | — e — o000 —
g No 24V or less — csoc [ — @ | —|®e|@/®] — [Coiui
Diagnosic indicaton (2dlour ndain) | Grommet |Yes — — — B59W ® —\e|—|—| — —

= \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
A water-resistant type cylinder is recommended for use in an environment which requires water resistance. However, please contact SMC for water-resistant cylinder of @ 20 and o 25.

* Lead wire length symbols: 0.5 m--c-eeeeeeveeeee — (Example) MONW 5m.... - Z (Example) MONWZ = Solid state auto switches marked with “O” are
1m- -+ M (Example) MONWM None - N (Example) H7CN produced upon receipt of order.
3m-- - L (Example) MONWL

* Since there are other applicable auto switches than listed above, refer to page 74 for details.
* For details about auto switches with pre-wired connector, refer to Auto Switch Guide.
* The D-A90J00/M90100 auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

5 Z SNC



Symbol

Rubber bumper

Air cushion

——/I

:‘,‘:ﬂ ]

Made to

Order

\ \ \

Made to Order
(For details, refer to pages 77 to 93.)

Symbol

Specifications

-XAO

Change of rod end shape

-XB6

Heat resistant cylinder (=10 to 150 °C)*1

-XB7

Cold resistant cylinder (—40 to 70 °C)*2

-XB9

Low speed cylinder (10 to 50 mm/s)*3

-XB13

Low speed cylinder (5 to 50 mm/s)*3

-XC4

With heavy duty scraper

-XC6

Made of stainless steel

-XC8

Adjustable stroke cylinder/Adjustable extension type

-XC9

Adjustable stroke cylinder/Adjustable retraction type

-XC10

Dual stroke cylinder/Double rod type

Air Cylinder: Standard Type
Double Acting, Single Rod

Specifications

Series CG1

Bore size [mm]

20 | 25 | 32 | 40 [ 50 | 63 | 80 | 100

CG1

°
S
o
&
=)
1=
@«
5
=
k3]
<<
)
o
=]
<3
(=]

-XC11

Dual stroke cylinder/Single rod type

-XC12

Tandem cylinder*3

-XC13

Auto switch rail mounting

-XC20

Head cover axial port™3

-XC22

Fluororubber seal*1

-XC27

Double clevis and double knuckle joint pins made of stainless steel

-XC29

Double knuckle joint with spring pin

-XC35

With coil scraper

-XC37

Larger throttle diameter of connection port

-XC42

Built-in shock absorber in head cover side

-XC85

Grease for food processing equipment

-X446

PTFE grease™3

«1 Cylinders with rubber bumper have no bumper.

%2 Only compatible with cylinders with rubber
bumper, but has no bumper.

*3 Only compatible with cylinders with rubber
bumper.

Refer to pages 68 to 74 for cylinders with
auto switches.

* Auto switch proper mounting position
(detection at stroke end) and its mounting
height

* Minimum stroke for auto switch mounting

* Auto switch mounting brackets/Part no.

* Operating range

» Cylinder mounting bracket, by stroke/Auto
switch mounting surfaces

Action Double acting, Single rod
Lubricant Not required (Non-lube)
Fluid Air
Proof pressure 1.5 MPa §
Maximum operating pressure 1.0 MPa - 2
Minimum operating pressure 0.05 MPa g 8 E
Ambient and fluid Without auto switch: =10 °C to 70 °C (No freezing) § é’w
temperature With auto switch  : =10 °C to 60 °C ;U
Piston speed 50 to 1000 mm/s ‘ 50 to 700 mm/s §
Stroke length tolerance Up to 1000 st 5t mm, Up to 1500 st 5% mm =
Cushion Rubber bumper, Air cushion &
Basic, Basic (without trunnion mounting female thread), %1—
Mounting™** Axial foot, Rod flange, Head flange, Rod trunnion, Head (%(5
trunnion, Clevis (used for changing the port location by 90°) go
2
Male | 028 | 0.41| 0.66| 1.20| 2.00| 3.40 | 590 990 | L[5
Rubber | rod end (=
bumper @
Allowable Female | 644 | 018 | 029 | 052 | 091 | 154 | 271 | 454 || |2
kinetic rod end X
energy Male |R:0.35|R:0.56 Serm
8)) Air rod end | H: 0.42 | H: 0.65 0.91 | 1.80| 3.40 | 4.90 |11.80 | 16.70 . 58
cushion | Female c|s
0.11 | 0.18 | 029 | 052 | 091 | 154 | 271 | 454 | |93
rod end £l
©
* R: Rod side, H: Head side g8
#+ Cylinder sizes @ 80 and @ 100 do not have basic (without trunnion mounting female thread), rod | 5|2 ;
trunnion and head trunnion types. Foot, flange and clevis types of cylinder sizes from ¢ 20 to @ |Z §!
63 do not have trunnion mounting female thread. Operate the cylinder within the allowable kinetic S =
energy. 0]
20
. 3
Accessories —_
g
€lo
. .| Axial | Rod | Head | Rod | Head <132
Mounting Basic | oot flange | flange |trunnion|trunnion Gz =% =
[
Rod end nut o [ ) [ ) o [} [} o 2|35 O
Standard —— 58|10
Clevis pin — — — — — — [ J s
Single knuckle joint ° ® ) ] ] [J ® || |©
Double knuckle joint E
P [ J [ J [ J [ J [ J [ J [ [
Option (with pin)** g
Pivot bracket* — — — — o o* [J gl ¢
Rod boot ° ° ° ) ® ® e | = E
« Not available for 80 and @ 100. 3l O
xx A double knuckle joint pin and retaining rings are shipped together. g
£
Standard Strokes x
8 v
: [mm _{—3' o
Bore size Standard stroke Note1) Maximum manufacturable stroke Note2)| |Gl
20 25, 50, 75, 100, 125, 150, 200 201 to 1500 g (6]
25
32 (S C—
40 25, 50, 75, 100, 125, <
50, 63 150, 200, 250, 300 301101500 g
80 n
100 g
Note 1) Intermediate strokes not listed above are produced upon receipt of order. Manufacture of <
intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
Note 2) The maximum manufacturable stroke shows the long stroke. 5
Note 3) Applicable strokes should be confirmed according to the usage. For details, refer to “Air °
Cylinders Model Selection”. In addition, the products that exceed the standard stroke o
might not be able to fulfill the specifications due to the deflection etc. 8
S
©
=

O

SVC




Series CG1

Ordering Example of Cylinder Assembly

Rod Boot Material

. Clevi ; ;
Cylinder model: CDG1DN20-100Z-NW-M9BW > Symool| Rod boot material |27 ceeraing
Auto switch J Nylon tarpaulin 70°C
K Heat resistant tarpaulin 110 °C*
+ Maximum ambient temperature for the rod
boot itself.

Mounting D: Clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint Pivot bracket

Auto switch D-M9BW: 2 pcs.
xPivot bracket, double knuckle joint and auto

switch are shipped together with the product, but

not assembled.

Mounting Brackets/Part No.
-
Mounting Order Bore size [mm] Contents
bracket q'ty 20 25 32 40 50 63 80 100
Axialfoot ~ |2Noe’)| CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-LO50 | CG-L063 | CG-L080 | CG-L100 |2 foOtS:
8 mounting bolts
Flange 1 | CG-F020 | CG-FO25 | CG-FO32 | CG-FO40 | CG-FO50 | CG-F063 | CG-F080 | CG-F1oo | | flange,
4 mounting bolts
Trunnionpin | 1 | CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 |  — — |3 punnion pins, 2 trunnion bolts,
Clevis 1| CG-D020 | CG-DO25 | CG-DO32 | CG-DO40 | CG-DOSO | CG-DOG3 | CG-DOBO | CG-D100 |1 SEvis: 4 mounting bolts
clevis pin, 2 retaining rings

Pivot bracket Nte2)| 1 CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | CG-080-24A | CG-100-24A | 1 pivot bracket

Note 1) Order two foots per cylinder.
Note 2) Can be combined with the trunnion pin and the clevis.

Mounting Brackets, Accessories/Material, Surface Treatment

Segment Description Material Surface treatment
Foot Carbon steel Nickel plating
Flange Carbon steel (2 20 to o 63) Nickel plating
Cast iron (o 80, o 100) Nickel plating
Mounting Clevis Carbon steel (o 20 to o 63) Nickel plating
brackets Cast iron (o 80, o 100) Nickel plating
Trunnion pin Carbon steel Salt-bath nitrocarburising
Trunnion pin Trunnion bolt Carbon steel Nickel plating
Flat washer Carbon steel Nickel plating
Rod end nut Carbon steel Zinc chromated
. - Carbon steel (2 20 to g 32) Nickel plating
Single knuckle joint Cast iron (o 40 to @ 100) Zinc chromated
- Carbon steel (g 20 to g 32) Nickel plating
Double knuckle joint Cast iron (o 40 to g 100) Zinc chromated
Accessories Knuckle pin Carbon steel —
Clevis pin Carbon steel —
. Carbon steel (2 20 to g 63) Nickel plating
Pivot bracket Cast iron (o 80, o 100) Nickel plating
Mounting bolt Carbon steel Nickel plating
Retaining ring Carbon tool steel Phosphate coating

Mounting Procedure

Mounting procedure for trunnion
Follow the procedures below when mounting a

pivot bracket on the trunnion.

o 20to o0 63

Trunnion bolt (With
scotch grip) 4 or 5

) times remounting
Cylinder body possible

=

i I \ Flat washer

) | \ Trunnion pin
4

(Put grease on the exterior.)
Pivot bracket

Mounting procedure for clevis
Follow the procedures below when mounting a pivot bracket on the clevis.

o 20 to o 63

Retaining Clevis pin L
5 ring f’(Put grease)

Cylinder body Retainin:
Y ring

o 80,0 100

Retainin:

Clevis pin

ring \(Put grease) AL
| HLEE.__

Cylinder Retaining

body H/ ring

Pivot bracket




Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

Weights g
o
[kg] =
Bore size [mm] 20 25 32 40 50 63 80 100 ﬁ—,w
- Basic (B) 0.11 0.17 0.24 0.44 0.79 1.06 2.07 3.16 § (&)
S Basic (2) 0.11 0.17 0.25 0.45 0.80 1.09 — — o
g Axial foot 0.21 0.29 0.40 0.67 1.26 1.77 3.04 4.91 é
% Flange 0.18 0.26 0.38 0.65 1.16 1.64 2.78 4.44 =
3 Trunnion 0.12 0.19 0.28 0.49 0.88 1.20 — — &
Clevis 0.17 0.25 0.39 0.68 1.19 1.78 2.77 4.44 - %
Pivot bracket 0.08 0.09 0.17 0.25 0.44 0.80 0.98 1.75 § 8 E
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22 0.39 0.57 EEO]
Double knuckle joint (with pin) 0.05 0.09 0.09 0.13 0.26 0.26 0.64 1.31 @ %Q
Additional weight per 50 mm of stroke 0.05 0.07 0.09 0.14 0.21 0.25 0.35 0.50 Tg
Additional weight for switch magnet 0.01 0.01 0.01 0.01 0.01 0.02 0.02 0.04 =]
Additional weight with air cushion 0 0.01 0.04 0 0.01 0.04 0 0.04 2
Weight reduction for female rod end —-0.01 -0.02 —0.02 —0.05 -0.10 -0.10 -0.19 -0.27 EEJ
Additional weight for long stroke 0.01 0.01 0.02 0.03 0.06 0.12 0.21 0.31 3 -
Calculation (Example) CDG1FN20-100Z oBasic weight - eweeeeeerenninnnii 0.18 kg (Flange, @ 20) gw
(Built-in magnet, Flange, @ 20, 100 stroke) o Additional weight for stroke --------«eeeevvee 0.05 kg/50 mm _go
e Air Cy|inder StrOKE +vrverrrrrnrnrrarnnrniiiennnns 100 mm %
® Additional weight for switch magnet.----- 0.01 kg g’
0.18 + 0.05 x (100 / 50) + 0.01 = 0.29 kg (3
o
=
Built-in One-touch Fittings (The shape is the same as the existing product.) @ E
— g’w
5
CG1 | Mounting style | N | Bore size | F —| Stroke 8 O
Q
-l_ . 93
Built-in One-touch fittings  Specifications £
B . =lo
This type has the One-touch fittings integrated in a cylinder, which enables - ore size [mm] 20,125,192, 40’,50’ 58 § %
to reduce the piping labor and installing space dramatically. Action Double acting Sl =
Fluid Air s
. . Maximum operating pressure 1.0 MPa ga
Dimensions (Dimensions other than those shown below are the same as the standard type.) Minimum operating pressure 0.05 MPa % O
Piston speed 50 to 750 mm/s E
aA a8 — Cushion Rubber bumper (=
k=]
oHD ol:ﬁrﬁl]ze GA| GB |HD|HH|PD Basic, Axial foot, Rod flange, =|E
Pipe 0.D. oPD Mountin Head flange, Rod trunnion, Head S
a 20 [12] 12 [13|242] 6 9 trunnion, Clevis (used for S5
i Tz 25 1210 (12)] 13 [26.7| 6 changing the port location by 90°) 3 g’w
N 32 1210 (12){ 13 [30.2| 6 * Auto switch can be mounted. 51<0O
40 12 [10(12){ 16 |34.6| 8 + Female rod end is not available. 2
50 13| 13 |20 (40.6/ 10 * Use the existing seal kit. é
63 |13] 13 |2047.1[10 . . =
Applicable Tubing O.D./I.D. &
Note) ( ): Long stroke - =)
Bore size [mm] 20 25 32 40 50 63 E o
Applicable tubing O.D.[mm] | 6/4 | 6/4 | 6/4 | 8/6 |10/7.5/10/7.5 § EE
Applicable tubing material Can be used for either nylon, g O
soft nylon or polyurethane tubing. 2l O
Clean Series r
]
10-CG1 | Mounting style || Type (Cushion) || Bore size | = | Stroke | Z 3 6
©
C
TCIean Series (With relief port) : 8
The type which is applicable for using inside the clean room graded Class Specifications =
100 by making an actuator’s rod section a double seal construction and Bore size [mm] 20, 25, 32, 40, 50, 63, 80, 100 (S E—
discharging by relief port directly to the outside of clean room. " -
Action Double acting '<=.>
Fluid Air §
Maximum operating pressure 1.0 MPa n
Minimum operating pressure 0.05 MPa g
Cushion Rubber bumper, Air cushion <
Piston speed 30 to 400 mm/s
Relief port size M5 x 0.8 g
S
. Basic, Axial foot, Rod flange, o
Mounting Head flange™* o
* Auto switch can be mounted. 3
=% The basic type is B type only. However, no trunnion mounting female g

O

thread is provided.

SVC

8




Series CG1

Air-hydro
CG1 | Mounting style | H | Bore size | - | Stroke | Z- | Pivot bracket | | Rod end bracket
TAir-hydro
Low pressure hydraulic cylinder of 1.0 MPa or less Specifications
When using together with the CC series air-hydro unit, constant and low -
speed actuation and intermediate stopping similar to hydraulic units are - =SSR [l 20, 25, 32, 40’_ 50, 63
possible with the use of valves and other pneumatic equipment. Action Double acting
Fluid Turbine ol
Dimensions (Dimensions other than those shown below are the same as the standard type.) Proof pressure 1.5 MPa
GB - Maximum operating pressure 1.0 MPa
r+ Bore size GBITB| s |22 — -
[mm] Minimum operating pressure 0.18 MPa

I e 20 12|11 77]114
% - XI” ~ 25 |12|11] 77]119

32 12111 ] 79121

15 to 300 mm/s
Rubber bumper (Standard equipment)
510 60 °C

Piston speed
Cushion
Ambient and fluid temperature

S + Stroke 2 40 13]12] 87]139 Basic, Axial foot, Rod flange, Head
27 + Stroke 50 |14]13]102[162 Mountin flange, Rod trunnion, Head trunnion,
63 1413102162 9 Clevis (used for changing the port

location by 90°)

# Auto switch can be mounted.

Water Resistant

CDG1 |Mounting style | |Type| | Bore size| | Port thread type| - | Stroke| Z- | Pivot bracket| | Rod end bracket| - | H7BAL| |-XC6|

Water resistant 2-colour indication,

With auto switch solid state auto switch

(Built-in magnet) Water resistant cylinder

— H7BAL |0 32t0 063
R | NBR seals (Nitrile rubber) G5BAL | 2 80. 0 100
V | FKM seals (Fluororubber) :
Made to Order

Specifications

ACaution

Since the scraper is press-fit into the rod cover, it cannot be replaced.

Action Double acting, Single rod

Cushion Rubber bumper/Air cushion

Auto switch mounting Band mounting type
Applicable for use in an environment with water splashing Made to Order XC6: Made of stainless steel

such as food processing and car wash equipment, etc.

Bore size [mm]

32, 40, 50, 63, 80, 100

x Specifications other than above are the same as standard type.

Dimensions (Dimensions other than those shown below are the same as the standard type.)

With rubber bumper

WA
GA GB 8 GA GB o§
‘ w
¥HH bl Lg i T Q D
] | 23 - ZN\
= ~& ) I 4’\ :Ir ) (ar)
w1 A BSX &) 4 N4 2 &
(F1) |[TA TB (F1) _|[TA TB
S + Stroke F S + Stroke F
Z7Z + Stroke ZZ + Stroke
[mm]
Bore . o Y74
size (E1)| E* ((F1)] F* |GA S TA WA Male thread | Female thread
32 [17 18] 2 | 2 [ 18] 77(85) | 17 | 22 [119 (127)| 93 (101)
40 |21 |25 | 2 | 2 | 19| 84(93) | 18 | 23 |136 (145)[101 (110)
50|26 |30 2 | 2 |21 97(109) 20 | 25 |157 (169)[115 (127)
63 | 26 32| 2 | 2 |21 | 97 (109)] 20 | 25 [157 (169)[115 (127)
80 [ 32 40| 3 | 3 [ 28 |116(130) — | 32 |190 (204)[138 (152)
100 | 37 |50 | 3 | 3 | 29 |117 (131)] — | 33 |191 (205)|142 (156)

+ Dimensions marked with “«” are the same as the standard type.

# (): Denotes the dimensions for long stroke.

O

With air cushion




Air Cylinder: Standard Type
Double Acting, Single Rod

Cylinder with Stable Lubrication Function (Lube-retainer)

Series CG1

CDG1

y4

M

Stroke |[|Rod end thread

Z-

Mounting Bore size Pivot bracket

Rod end bracket

Auto switch

With auto switch —l—CyIinder with Stable Lubrication Function

Specifications

(Built-in magnet) (Lube-retainer)

i

Bore size [mm]

20, 25, 32, 40, 50, 63, 80, 100

Action Double acting, Single rod
Minimum operating pressure 0.1 MPa
Cushion Rubber bumper

« Specifications other than the above are the same as the

standard type.

Dimensions (Dimensions other than those shown below are the same as the standard type.)

Standard
Double Acting, Double Rod
CG1w

CG1

°
S
o
&
=)
=
@«
5
=
k3]
<<
)
o
=]
<3
(=]

» No trunnion mounting female thread is provided on the rod side. (For B: Basic) [mm]
GA 2xP Bore size GA P Bore size GA P
T 20 14 | M5x0.8 50 (14) | (Rc 1/4)
T T 25 13 M5 x 0.8 63 (14) (Rc 1/4)
32 (12) | (Rc 1/8) 80 (20) | (Rc 3/8)
%, _— - 40 (13) | (Rc 1/8) 100 20) | (Rc 1/2)
* When female thread is used, use a washer, etc. to prevent the contact

the workpiece.

part at the rod end from being deformed depending on the material of

(): Same as the standard model.
# The mounting dimensions of the mounting bracket are the same as the

standard type.

A\ Precautions

- e R R S e R R S R R e R A R SN R R R R R R R e R A e R R e e A e e ey
1 Be sure to read this before handling. Refer to the back cover for Safety Instructions. For Actuator and Auto Switch 1
1 Precautions, refer to “Handling Precautions for SMC Products” and the Operation Manual on SMC website, |

1 http://www.smc.eu

B o o o o e e Em Em Em Em S E B EE EE BN SN S BN B EE R EE RN SN SN BN SN EE EE RN SN SN B B Em Em AN BN Sm S B S Em mm mm mm e el

\ Handling

A Warning

1. Do not operate the cushion valve in . When a cylinder is operated with one end

the fully closed or fully opened state.
Using it in the fully closed state will cause
the cushion seal to be damaged. Using it
in the fully opened state will cause the
piston rod assembly or the cover to be
damaged.

. Do not turn the cushion valve the
number of rotations shown below
or more from its fully closed state.
If it is turned the number of rotations
shown below or more, the cushion valve
may come off and jump out by the air
pressure, causing a hazard.

Bore size . Hexagon wrench
Rotations .
[mm] nominal size
20 2 1.5
25 3 1.5
32 4 1.5
40 5 1.5
50 3 3
63 4.5 3
80 5 4
100 5 4

. Operate within the specified
cylinder speed and kinetic energy.
Otherwise, cylinder and seal damage may
occur.

. Use caution regarding the cushion
performance in the low-speed range.
There may be individual performance and
effect variances when used near 50 mm/
s. Please consult with SMC about usage.

fixed and other free (basic, flange types), a
bending moment may act on the cylinder
due to the vibration generated at the stroke
end, which can damage the cylinder. In
such a case, install a mounting bracket to
suppress the vibration of the cylinder body
or reduce the piston speed so that the
cylinder does not vibrate. Also, use a
mounting bracket to suppress vibrations
when moving the cylinder body or when a
cylinder is operated horizontally and fixed
at one end at a high speed and frequency.

. Do not apply excessive lateral load
to the piston rod.
Easy checking method
Minimum operating pressure after the
cylinder is mounted to the equipment
[MPa] = Minimum operating pressure of
cylinder [MPa] + {Load weight [kg] x 9.8 x
Friction coefficient of guide/Sectional area
of cylinder [mm?2]}
If smooth operation is confirmed within the
above value, the load on the cylinder is
the resistance of the thrust only and it can
be judged as having no lateral load.

/\ Caution

1. Do not use the air cylinder as an
air-hydro cylinder.
This may result in oil leak.

. Install a rod boot without twisting.

If the cylinder is installed with its bellows
twisted, it could damage the bellows.

ZSNC

. Tighten clevis bracket mounting

bolts with the following proper
tightening torque.

2 20: 1.5 N-m, g 25t0 32: 2.9 N-m,

2 40: 4.9 N-m,

2 50: 11.8 N-m, @ 63 to 80: 24.5 N-m,

2 100: 42.2 N-m

Disassembly/Replacement

/A Caution

1. Do not replace the bushings.

The bushings are press-fit. To replace
them, they must be replaced together with
the cover assembly.

. To replace a seal, apply grease to

the new seal before installing it.

If the cylinder is put into operation without
applying grease to the seal, it could cause
the seal to wear significantly, leading to
premature air leakage.

3. Cylinders with ¢ 50 or larger bore

sizes cannot be disassembled.
When disassembling cylinders with bore
sizes of @ 20 through @ 40, grip the double
flat part of either the tube cover or the rod
cover with a vise and loosen the other side
with a wrench or a monkey wrench etc.,
and then remove the cover. When re-
tightening, tighten approximately 2 degrees
more than the original position. (Cylinders
with @ 50 or larger bore sizes are tightened
with a large tightening torque and cannot
be disassembled. If disassembly is
required, please contact SMC.)

10

1f

Direct Mount

Double Acting, Single Rod
CG1R

With End Lock

(

Non-rotating Rod

Double Acting, Double Rod
CG1KW

1( Direct Mount, Non-rotating Rod | [

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CG1

Construction

With rubber bumper

2 80,0 100

Long stroke Long stroke

1001 to 1500

With air cushion

19 18

L

A

Al
s

|
|
&7

Component Parts

Long stroke

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminium alloy Hard anodised 16 | Cushion seal A Urethane o 32 or larger is
2 | Tube cover Aluminium alloy Hard anodised 17 | Cushion seal B Urethane common.
3 | Piston Aluminium alloy 18 | Head cover Aluminium alloy Hard anodised
4 | piston rod Stainless stegl For 9 20 or @ 25 with built-in magnet 19 | Cylinder tube Aluminium alloy Hard anodised
Carbon steel™ Hard chrome plating* 20 | Rod seal NBR
5 | Bushing Bearing alloy 21 | Piston seal NBR
6 | Bumper Resin @ 32 or larger is 22 | Tube gasket NBR
7 | Bumper Resin common. 23 | Valve seal NBR
8 | Retaining ring Stainless steel |Except ¢ 80 and g 100
9 | Wear ring Resin Replacement Parts: Seal Kit
10 | Rod end nut Carbon steel Zinc chromated Bore size [mm] Kit no. Contents
11 | Cushionring A Aluminium alloy 20 CG1N20Z-PS
12 | Cushion ring B Aluminium alloy 25 CG1N25Z-PS
13 | Seal retainer Rolled steel Zinc chromated 32 CG1N32Z-PS Set of the nos. @, @), @
14 Cushion |g40orsmallef  Carbon steel  |Electroless nickel plating 40 CG1N40Z-PS
valve 0 50 or larger Steel wire Zinc chromated Note) Refer to the Specific Product Precautions on page 10 for
15 | Steel ball Carbon steel

Note) For cylinders with auto switches, the magnet is installed in the

piston.

+« The material for g 20, @ 25 cylinders with auto switches is made of

stainless steel.

11

O

Disassembly/Replacement. Order with the kit number according to

the bore size.

+ The seal kit includes a grease pack (10 g).
Order with the following part number when only the grease pack is
needed. Grease pack part number: GR-S-010 (10 g)

SVC



Basic: CG1BN

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

o

é

NA

TG

TC thread detail

With air cushion

Width across flats KA FL GA 2xP
’]/(Rc, NPT, G)
2xTC MM H1 a e
LR s N
of N A
S ) S
° 9D,
Width across flats B1 Q‘f‘ \
TE AL
TF A K |TA]| 4xTC
H S + Stroke
ZZ + Stroke
2xP
WA  /(Rc, NPT, G)
GA Cushion valve, Width across flats WH

-

s

Standard
Double Acting, Double Rod
CG1w

CG1

°
S
o
&
=)
=
@«
5
=
k3]
<<
)
o
=]
<3
(=]

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

across flats NA.

el
o
o«
g
E °
. . . . 2le
Basic (Without trunnion mounting female thread): CG1ZN 522
2|3
GB SX
Width across flats KA F GA 2xP \7 o
(Rc, NPT, G) Qg 6(5
<
M H g ([T T 20
Jd O NI} - L&
o8| [ 1] E o3 (=
m = e}
i o d
Width across flats B1 N 2|5 o
& =
AL 81O
A K 8|30
H S + Stroke F §
ZZ + Stroke =
I
5|
mm] |2[ X
Bore | Stroke range Rc, NPT port G port % —-
size |Standard| Longstoke | GA| GB | P |GA | GB | P e e A R J oS b L é 8
20 |Upto200[201101500] 12 [10(12)] 1/8 |12 [10(12) |[M5x0.8]| 18 [155]| 13 |14 8|12 ] 2 | 35 5| 26| M4x0.7 depth 7 5 6 | M8x1.25 |5
25 |Upto300{301t01500| 12 [10(12)| 1/8 | 12.5 [10(12.5)|M5x0.8] 22 [19.5| 17 |16.5] 10 | 14 | 2 | 40 6 | 31| M5x0.8depth7.5 | 55| 8 |[MI0x125 (&
32 |Upto300|301101500| 12 |10 (12)| 1/8 | 10.5(10(105) 1/8 | 22 [19.5| 17 |20 | 12 | 18 | 2 | 40 6 | 38| M5x0.8depth8 55| 10 |[M10x1.25 [
40 |Upto300{301t01500| 13 [10(13)| 1/8 |13 |[10(10) | 1/8 | 30 |27 19126 |16 [ 25| 2 | 50 8 | 47| M6x1depth 12 6 | 14 | M4x15 %
50 (Upto300{301101500| 14 (12 (14)| 1/4 |14 [12(14) | 1/4 | 35 |32 27 |32 |20 |30 | 2 |58 |11 | 58| M8x1.25depth16| 7 | 18 | M18x15 |G| ¥=
63 |Upto300[301101500| 14 |12.(14)| 1/4 |14 [12(14) | 1/4 | 35|32 |27 |38 |20 |32 | 2 |58 | 11| 72|M10x1.5depth16| 7 | 18 | Mi8x15 |2 g
80 [Upto300{301101500| 20 |16 (20)| 3/8 | 17.5[16(17.5)] 3/8 | 40 |37 32|50 |25 40| 3 |71 |13 | 89| M10x1.5depth22 |10 | 22 | M22x 1.5 E )
100 |Upto300{301t01500| 20 |16 (20)| 1/2 | 17.5[16(17.5)| 1/2 | 40 |37 41 |60 | 30|50 | 3 |71 | 16 [110|M12x1.75depth22|{10 | 26 | M26x15 |=
mm] With Air Cushion imm] TC Thread mmp L
Bore Bore Rc, NPT, G Bore
size NA S TA| TB Y74 size |GA| GB P WA| WB |W6 |WH size TC TD | TE | TF | TG :CQ
20 (24 |69(77) | 11| 11 [106 (114) 20 [12 [10(12) [M5x08] 16 [15 (16) 25° | 1.5 20 | M5x0.8 83®| 4 |05 | 55 'S
25 |29 [69(77) [ 11| 11 [111(119) 25 [12.5[10(125)[M5x0.8] 16 [14.5(16) 25° [ 1.5 25 | M6x0.75 | 109%] 5 |1 6.5 ‘g
32 [355 71(79) | 11 [10(11)[113(121) 32 [12 [10(12) | 1/8 [ 16 [14 (16) 25° | 1.5 32 | M8x1.0 | 12%%| 55]1 75 =
40 |44 | 78(87) | 12 [10(12)[130(139) 40 [13 [10(13) | 1/8 |17 [15 (17)|20° [ 1.5 40 | M10x1.25 [ 14%®] 6 [125] 85 <
50 |55 | 90 (102) 13 [12(13)[150 (162) 50 [14 [12(14) | 1/4 |18 |16 (18) 20° |3 50 | M12x1.25 | 16%% 7.5[2 10
63 |69 | 90 (102) 13 [12(13)[150 (162) 63 [14 [12(14) | 1/4 [ 18 |17 (18) 20° |3 63 | M14x15 | 189%[11.5(3 14.5 5
80 [86 [108(122) — | — [182(196) 80 [20 [16(20) | 3/8 | 24 [20 (24) 20° | 4 80 — — | =] =1= g
100 [106 [108 (122 — [ — [182(196) 100 [20 [16(20) | 1/2 [ 24 [20 (24) 20° [ 4 100 — — [ =1 =1T= °
Note) ( ): Denotes the dimensions for long stroke. « Cylinder sizes @ 80 and ¢ 100 do not have 8
trunnion mounting female thread on the width g

12



Series CG1

Basic: CG1BN

With rod boot

olJ
oe

%_

[4 f

h+¢

ZZ + ¢ + Stroke

2 20to o 63

Female rod end

13

o
|

ZZ + Stroke

~
Z

8
i
= > @
| @ .
X
-
<> Y
¢ f
h+¢ M
ZZ + ¢ + Stroke
2 80,0 100
With Rod Boot [mm]

Bore JH | JW

size e flhilJ (Reference) (Reference) ¢ 2z
20 [30]18/55|27/15.5/10.5 126 (134)
25 [30(19/62|32|16.5/10.5 133 (141)
32 |35(19(62|38|18.5/10.5 2 135 (143)
40 [35[19|70|48|21.5{10.5| 9 [150 (159)
50 [40(19|78|59|24 |10.5 :’: 170 (182)
63 [40[20(78[72]24 [1055] = [170(182)
80 [52(10(80/59| — | — 191 (205)

100 (62| 7|80|71| — | — 191 (205)

* The minimum stroke with rod boot is 20 mm.

Female Rod End

[mm]

Bore

. A1 H MM 2z
20 8 13 M4 x 0.7 84 (92)
25 8 14 M5 x 0.8 85 (93)
32 12 14 M6 x 1 87 (95)
40 13 15 M8 x 1.25 95 (104)
50 18 16 M10x 1.5 |108 (120)
63 18 16 M10x 1.5 |108 (120)
80 21 19 M14x 1.5 |130 (144)

100 25 22 M16x 1.5 |133(147)

+ When female thread is used, use a washer etc.
to prevent the contact part at the rod end from
being deformed depending on the material of
the workpiece.



Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

Axial Foot: CG1LN 2
k)
[=]
H S + Stroke 26
=
Width across flats KA GA 2xP Width across flats NA ~ GB 8xJ 8 (&)
/(Rc, NPT, G) \ [ E
MM H1 \ i :r-i--« \fr-‘--ﬁ B E
—_— o " K W " (=]
o L 1
— ) } E
1 | ZON— o2
F 1n e
-
Width across flats B1 = B S £O
\ ) P20
@
AL NN 2xoLe ot c 5
A | K Y (Knock pin position) Y. X M 4 x oLD LX =
4 LS + Stroke LZ S
ZZ + Stroke £
o =
o . £0
With air cushion WA 2xP wB 20
GA (Re, NPT, G) GB 5
Cushion valve, Width across flats WH [*' S
-3 B RS D — =
ik R 3
| 1 F N g
/ o
o AV 9
i (]
i i =
‘ c
F DAY .23
- el B et 1o € 3
. \——— ] T g8
With rod boot 53
22
h+¢ h+¢ gl ;
& & 8 ‘8%
B [T gr
_E___ S ! > 38
— <@
Q| ® Ql @ - Lle
I —
ol ! el
. @ 1 2 €le
N S [ i é gn:
¢ f [4 f JW 5 ga
Z+¢ Z+¢ 5 g (§)
L
ZZ + ¢ + Stroke ZZ + ¢ + Stroke g
o
2 20 to o 63 2 80, 0 100 :g
mm] |5 o«
Bore |Stroke range| Rc, NPT port G port %
size [Sandadongstoc|GA| GB | P |GA| GB | P A|AL|B|B1|C|D|H|H1| I J K |[KAILC|LD|LH| LS |LT|LX|LZ|M| MM é §
20 |Upto200[201101500| 12 |10 (12)[ 1/8 [12 [10(12) [M5x08|18[15.5/ 34 |13[14 | 8(35| 5| 26| M4x0.7 |5 | 6] 4 | 62045 (53)[3 | 32| 44|3 |M8x1.25 |€] O
25 |Upto300/301101500| 12 |10 (12)] 1/8 |[12.5[10 (12.5]M5x 0.8] 22 |19.5 385/ 17 [16.5/10|40| 6| 31| M5x 0.8 | 55 8| 4 | 6]22|45 (53)|3 | 36| 49/3.5[M10x1.25 % o
32 |Upto300/301t01500| 12 |10 (12)| 1/8 |10.5]10(10.5) 1/8 |22[19.5/ 45 |17]20 [12|40| 6| 38] M5x 0.8 | 55[10| 4 | 7|25|45(53)|3 | 44| 58|3.5|M10x1.25 |£
40 |Upto300|301t01500| 13 |10 (13)| 1/8 |13 [10(10) | 1/8 |30[27 | 5451926 [16|50| 8| 47| M6 x 1 6 |14| 4 | 7|30|51(60)|3 | 54| 71|4 |M14x15 ———
50 |Upto300|301101500| 14 |12 (14)| 1/4 |14 [12(14) | 1/4 3532 | 705/27 |32 |20|58|11| 58/ M8 x 1.25 | 7 |18| 5 |10|40|55 (67)|4.5| 66| 86|5 [M18x1.5 o
63 |Upto300|301101600| 14 |12 (14)[ 1/4 |14 |12(14) | 1/4 |3532 | 8252738 |20|58|11| 72| M10x 1.5 | 7 |18| 5 |12|45|55 (67)|4.5| 82[106|5 |M18x1.5 |§|
80 |Upto300|301101500| 20 |16 (20)| 3/8 |17.5(16(17.5) 3/8 |40|37 |10t 32|50 [25|71|13| 89| M10x 1.5 [10 |22| 6 |11|55|60 (74)|4.5{100{125|5 [M22x1.5 '<_g, (0]
100 |[Upto300{30101500| 20 |16 (20)| 1/2 [17.5|16(17.5) 1/2 |40[37 |121 |41]60 |30|71|16[110/M12x 1.75[10 |26| 6 |14|65|60 (74)|6 [120/150]7 |M26x15 |w 8
. . . . £
imm] With Air Cushion imm] With Rod Boot [mm] |£
Bore Bore Rc, NPT, G Bore JHJW
i NA| S (W | X|Y|Z Y74 size |GA| GB p WA| WB | W6 | WH size | © flh|lJ Pyt P ¢ | Z Y74 G
20 |24 | 69(77) |10 [15 | 7 |47 [110 (118) 20 [12 [10(12) |M5x0.8] 16 |15 (16)] 25° | 1.5 20 | 30|18 |55 |27 |[15.5[10.5 67 [130 (138) S
25 |29 | 69(77) |10 |15 | 7 |52 |1155(1235) 25 [12.5|10(12.5)M5x 0.8] 16 [14.5 (16)| 25° | 1.5 25 | 30|19 |62 |32 [16.5/10.5 74 |137.5 (145.5) s
32 | 355( 71(79) |10 |16 | 8 |53 [117.5(1255) 32 [12 |10(12) 1/8 | 16 |14 (16)| 25° | 1.5 32 35|19 |62 |38 18.5[10.5 ° 75 |139.5(147.5) 3
40 |44 | 78(87) |10 [16.5| 8.5[63.5/135 (144) 40 |13 [10(13) 1/8 |17 |15 (17)[ 20° | 1.5 40 |35|19|70 |48 |21.510.5] O | 83.5155 (164) o
50 |55 | 90(102)17.5[22 |11 |75.5[1575(169.5) 50 [14 [12(14) 1/4 | 18 |16 (18)] 20° | 3 50 |40 197859 |24 [10.5| @ | 95.5177.5(189.5) 3
63 |69 | 90(102)17.5[22 |13 |75.51575(169.5) 63 [14 [12(14) 1/4 | 18 |17 (18)| 20° | 3 63 |40|20] 78] 7224 [105|~ | 95.5177.5(189.5)
80 |86 [108(122)20 [28.5/14 (95 |[188.5(202.5) 80 [20 |16 (20) 3/8 | 24 |20 (24)| 20° | 4 80 [52|10|80|59|—|— 104 [197.5(211.5) -
100 (106 [108(122)20 |30 |16 |95 [192 (206) 100 |20 |16 (20) 1/2 | 24 |20 (24)] 20° | 4 100 (62| 7|80 |71 |— | — 104 201 (215) §
+ For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket * The minimum stroke with rod boot is 20 mm. o
when the piston rod is retracted at the stroke end, extend the piston rod to tighten the nut 2
using a tool, and mount a workpiece on the rod end. %
= Refer to the basic type for the female rod end. g

Note) ( ): Denotes the dimensions for long stroke.

O

SVC 14



Series CG1

Rod Flange: CG1FN

Width across flats KA~ F FT GA 2xP GB 4 x oFD oD 8xJ
(Rc, NPT, G) w
MM — &
Hi Q i i Y,
0 Y\ /| 0 [T}
e s cE
3 c - - - wl o fo
[ =}>Z<=—fj_ | ® x
Width across flats B1
& T &
AL | Width across flats NA
A K c
H S + Stroke F FX+0.15
ZZ + Stroke B
With air cushion WA 2xP w8
GA (Rc, NPT, G) GB!
| / Cushion valve, Width across flats WH [‘_’
yd AW
T e
L h ' "
With rod boot 8 8 8
+ e
um b P
2| o 1_5:‘ “ 2| o | i [ g _ )
o & [ | [] <> o @ J
I
gl A 3
g AR
¢ |f]] . )
h+¢ h : Wi
ZZ + ¢ + Stroke ¢
ZZ + ¢ + Stroke
2 20to o0 63 2 80,0 100
[mm]
Bore Stroke range Rc, NPT port G port
size |Standard| Longstroke |GA| GB | P |GA| GB | P o enid EA A B B S ha J S
20 |Upto200| 201to 1500 | 12 [10(12)] 1/8 |12 [10(12) |M5x0.8]| 18 |15.5| 40| 13 |14 8(12| 2 | 55/ 6| 28/ 35| 5| 26| M4x0.7 5
25 |Upto300| 301to 1500 | 12 [10(12)] 1/8 | 12.5|10(125)|M5x0.8| 22 |19.5| 44| 17 [16.5|/ 10|14 | 2 | 55| 7| 32|40 | 6| 31| M5x0.8 515
32 |Upto300| 301 to 1500 | 12 [10(12)| 1/8 | 10.5(10(105) 1/8 |22 |19.5| 53| 17 |20 | 12|18 | 2 | 6.6/ 7| 38|40 | 6| 38/ M5x0.8 5.5
40 |Upto300] 301to 1500 | 13 [10(13)| 1/8 |13 [10(10) | 1/8 | 30 |27 61/19 |26 |16|25| 2 | 6.6| 8| 46|50 | 8| 47 M6 x 1 6
50 |Upto300| 301to 1500 | 14 [12(14)] 1/4 |14 [12(14) | 1/4 | 35 |32 76127 |32 20|30 2 | 9 9| 5858 |11 | 58| M8x1.25 | 7
63 |Upto300| 301to 1500 | 14 [12(14)| 1/4 |14 [12(14) | 1/4 | 35 |32 92|27 (38 |20 (32| 2 |11 9| 70|58 |11 | 72| M10x1.5 | 7
80 |[Upto300| 301to 1500 | 20 |16 (20)| 3/8 | 17.5|16(17.5)| 3/8 | 40 |37 |[104| 32|50 |25|40| 3 |11 [11| 82|71 |13 | 89| M10x 1.5 [10
100 |Upto300] 301 to 1500 | 20 [16(20)| 1/2 | 17.5|16(175)| 1/2 | 40 |37 |128| 41 |60 | 30|50 | 3 |14 |14 [100| 71 |16 |110| M12x 1.75 |10
imm] With Air Cushion imm] With Rod Boot [mm]
Bore Bore Rc, NPT, G Bore JH | JW
size KA| MM NA S 2z size |GA| GB P WA| WB | W6 WH size | © flhl (Reference)| (Reference) ¢ z
20 | 6| M8x1.25| 24 | 69(77) [106 (114) 20 [12 |10(12) |M5x0.8| 16 (15 (16)| 25° | 1.5 20 |30|18|55(27| 15.5 | 10.5 126 (134)
25 | 8|M10x1.25] 29 | 69(77) [111(119) 25 |12.5]10 (12.5)|M5x0.8| 16 |14.5(16)| 25° | 1.5 ~ 25 |30|19|62|32| 16,5 | 10.5 133 (141)
32 |10 [M10x1.25| 355 71(79) [113(12) 32 [12 [10(12) [ 1/8 [ 16 |14 (16)25° |15 32 |35[19[62[38] 185 | 10.5 | g [135(143)
40 |14 | M14x1.5| 44 | 78(87) (130 (139) 40 (13 |10(13) 1/8 17 |15 (17)| 20° | 1.5 40 [35|/19|70|48| 21.5 | 10.5 g 150 (159)
50 | 18 | M18x 1.5 | 55 | 90 (102)[{150 (162) 50 |14 |12(14) 1/4 18 |16 (18)] 20° | 3 50 [40|19|78 |59 | 24 10.5 2 170 (182)
63 |18 [M18x1.5] 69 | 90 (102)[150 (162) 63 [14 [12(14) | 1/4 |18 [17 (18) 20° |3 63 (4020|7872 24 [ 10.5 |~ [170 (182)
80 |22 |M22x1.5] 86 [108(122)[182(196) 80 |20 [16(20) | 3/8 | 24 [20 (24)] 20° | 4 80 [52|10[80[59] — | — 191 (205)
100 [ 26 [M26x 1.5 [106 [108 (122)[182(196) 100 [20 [16(20) | 1/2 | 24 [20 (24) 20° | 4 100 [62] 7[s0[71| — | — 191 (205)

+ For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket * The minimum stroke with rod boot is 20 mm.
when the piston rod is retracted at the stroke end, extend the piston rod to tighten the nut
using a tool, and mount a workpiece on the rod end.

= Refer to the basic type for the female rod end.

Note) ( ): Denotes the dimensions for long stroke.

15 SVC

O



Air Cylinder: Standard Type .
Double Acting, Single Rod Series C G 1

Head Flange: CG1GN 2
- 2
B
4 x oFD 8xJ Width across flats KA F _GA 2xP GB gg
(Rc, NPT, G) 8 =
MM =] °9 =
St Ho\ o |7 T ‘s S
& 8 | i & :
w § 0 R D £
o TR P : z
@3 T o TS : tliz
= { & Q =izf=— LY 8|8
Y - 5|20
SO > 7. Width across flas B1 & ZErs
N ) AL Width across flats NA L %
o
c A K =
FX+0.15 H S + Stroke FT|| F E
B ZZ + Stroke ié
* End boss is machined on the flange for gE. E”E
%0
With air cushion 2xP b
WA /R, NPT, G) w8 L&
GA | /cushion valve, Width across flats WH [(iB, E
] o
T sx
-
I W £0
|
| 88
i)
o
L <
o
z

With rod boot

Double Acting, Double Rod
CG1KW

olJ
oe
|
P
f [
t
.
h i
L
N
olJ
oe
I
L
N
JH
1(

g
EE
@ e/E | <§) D o
¢ | f ¢ | |f W 8 EO
h+¢ h+¢ é
ZZ + ¢ + Stroke ZZ + ¢ + Stroke =
o
@ 20to o 63 o 80, o 100 gl
g 4
mml 2| &
Bore Stroke range Rc, NPT port G port 3l O
size |Standard|  Long sgtroke GA|GB | P |GA|GB | P B AE| BB & | ) 18 P el e ) < S 8
20 |Upto200 201 to 1500 12 (10 (12)| 1/8 |12 [10(12) |M5x08| 18 |15.5| 40| 13 |14 8|12 | 2 | 55| 6| 28|/35| 5| 26| M4x0.7 | 5 ;—
25 |Upto300] 301 to 1500 12 |10 (12)] 1/8 [12.5]10(12.5)|M5x 08| 22 [19.5| 44| 17 [16.5{ 10 |14 | 2 | 55| 7| 32|40 | 6| 31| M5x0.8 | 5.5
32 |Upto 300 301 to 1500 12 {10 (12)| 1/8 |10.5(10(105)] 1/8 |22 |19.5] 53|17 |20 |12 |18 | 2 | 6.6/ 7| 38|40 | 6| 38| M5x08 | 5.5 ‘Z‘o:
40 |Upto300] 301 to 1500 13 [10(13)| 1/8 |13 (10(10) | 1/8 |30 |27 | 61| 19|26 |16 |25 | 2 | 6.6] 8| 46|50 | 8| 47| M6x1 6 _{—3’ 6
50 |Upto 300 301 to 1500 14 12 (14)] 1/4 |14 [12(14) | 1/4 | 35 |32 76|27 |32 20302 ]9 9| 58|58 |11 | 58/ M8x1.25| 7 Gl o
63 |Upto300 301 to 1500 14 [12(14)| 1/4 |14 [12(14) | 1/4 | 35 |32 92|27 |38 |20 32| 2 |11 9| 70|58 | 11| 72|M10x15]| 7 £l O
80 |Upto300] 301 to 1500 | 20 |16 (20)| 3/8 [17.5[16(175)| 3/8 | 40 [37 [104] 32]50 |25 |40 3 [11 [11] 82] 71| 13| 89| Miox15[10 |3
100 |Upto300] 301 to 1500 20 |16 (20)| 1/2 |17.5|16(17.5)] 1/2 | 40 |37 |128]| 41|60 |30 |50 | 3 |14 | 14 |100| 71 | 16 [110|M12x1.75[10 |
imm] With Air Cushion imm] With Rod Boot [mm] -
Bore Bore Rc, NPT, G Bore L
size KAl MM |NA S 2z size |GA| GB P e Tl e B size | © flh(l (He‘fje;nlce) (R‘e{e‘r?nlce) ¢ u =
20 | 6|M8x125|24 | 69(77) [112(120) 20 |12 |10(12) |M5x0.8| 16 |15 (16) 25° [1.5 ~ 20 |30|18|55|27| 15.5 | 10.5 132 (140) ‘g
25 | 8 |M10x1.25[ 29 | 69(77) [118(126) 25 |12.5]10 (12.5)|M5x 0.8| 16 |14.5(16)| 25° | 1.5 25 |30|19|62|32| 16.5| 10.5 140 (148) 5
32 | 10 [M10x 1.25| 35.5] 71 (79) [120 (128) 32 |12 [10(12) 1/8 16 |14 (16)| 25° | 1.5 32 |35/19|62|38| 18.5| 10.5 | , [142(150) <
40 | 14 [M14x15] 44 [ 78(87) [138(147) 40 [13 [10(13) [ 1/8 [17 |15 (17)[20°[1.5 ~ 40 [35[19[70[48] 21.5 [ 10.5 | S [158 (167)
50 | 18 [ M18x1.5| 55 | 90 (102)[159 (171) 50 [14 [12(14) | 1/4 |18 [16 (18)[ 20° 3 50 [40[1978]59] 24 | 105 | @ [179 (191) g
63 | 18 | M18x 1.5 | 69 | 90 (102)[159 (171) 63 |14 |12 (14) 1/4 18 [17 (18)] 20° | 3 63 |40|20|78 (72| 24 10.5 | = [179 (191) 6
80 | 22 | M22x 1.5 | 86 [108 (122)[193 (207) 80 |20 |16 (20) 3/8 24 120 (24)| 20° | 4 80 [52|10/80(59| — — 202 (216) o
100 | 26 | M26x 1.5 [106 [108 (122)[196 (210) 100 [20 [16(20) | 1/2 |24 [20 (24) 20° [4 100 |62] 7[80|71| — | — 205 (219) e
= Refer to the basic type for the female rod end. * The minimum stroke with rod boot is 20 mm. g

Note) ( ): Denotes the dimensions for long stroke.

Z;SVC 16



Series CG1

Rod Trunnion: CG1UN

H S + Stroke F
A K [GA 2xP Width across flats NA GB TR
MM AL F |TA | /(Re, NPT, G) S @9
T\ ¢/ dla
Hi a 5 [ = 5|9
3 i \ R 2lE
0 A_./_\.__ — wl NI=
o5 mi : _® -
wiof b4 | w
| TFPIS g L1
Width across Qy
— <
flats B Width across
flats KA z TZ
ZZ + Stroke
= Constructed of a trunnion pin, flat washer and hexagon socket head cap bolt.
With air cushion 2% P
WA, /e, NPT, G) L
GA | /Gushion valve, Width across flats WH [92
i d \:z-v
1k N
With rod boot
h+¢
¢ f
]
v siilie- @
e
&%“ T
{ T ]
o Y
sl ol aw
Z+¢
ZZ + ¢ + Stroke
[mm]
Bore Stroke range Rc, NPT port G port
size |Standard| Longstroke |GA| GB | P |[GA|GB | P GG L )l LS LS AL S =
20 |Upto200 201 to 1500 12 [10(12)| 1/8 | 12 [10(12) |M5x08| 18 |[15.5{ 13| 8 |12| 2 [35| 5|26 |5 6| M8x1.25 |24 |69 (77)
25 |Upto300] 301 to 1500 12 [10 (12)| 1/8 | 12.5 [10(125)|M5x08| 22 |19.5| 17 |10 |14 | 2 |40 | 6 |31 55| 8 | M10x1.25 |29 |69 (77)
32 |Upto300 301 to 1500 12 |10 (12)| 1/8 | 10.5|10(105) 1/8 | 22 [19.5(17 (12 |18 | 2 |40 | 6 |38 |5.5| 10 | M10x 1.25 |35.5|71 (79)
40 |Upto300] 301to1500 | 13 [10(13)[ 1/8 [13 [10(10) | 1/8 [30 (27 [19|16[25| 2 [50| 8|47 |6 |14 M1ax15 [44 |78 (87)
50 |Upto300] 301t0o1500 | 14 [12(14)] 1/4 |14 [12(14) | 1/4 [35[32 |27 |20[30| 2 [58[11|58]7 |18] M18x1.5 |55 |90 (102)
63 |Upto300 301 to 1500 14 [12(14)| 1/4 |14 [12(14) | 1/4 | 35|32 |27 |20 |32 | 2 |58 |11 |72 |7 18 | M18x1.5 [69 |90 (102)
imm] With Air Cushion imm; With Rod Boot [mm]
Bore Bore Rc, NPT, G Bore JH|JW
. TA| TDe8 (TR |TZ | Z2 | Z2Z size |GA| GB P WA| WB |W6 |WH i || € flh|lJ e e ¢ | Z| ZZ
20 | 11 890 |39 47.6| 46 (106 (114) 20 |12 |10(12) [M5x0.8| 16 |15 (16)| 25° | 1.5 20 |30|18|55|27|15.5/10.5 66 [126 (134)
25 [11 ] 103% [43 | 53 |51 [111(119) 25 [12.5[10 (125)|M5x0.8| 16 [14.5(16) 25° [1.5 25 [30]19]62|32[165[105| , [73]133 (141)
32 [ 11123 |54.5] 677/ 51 [113(121) 32 [12 [10(12) | 1/8 [ 16 |14 (16)25°[1.5 32 [35]19]62]38[18.5[10.5) S |73 135 (143)
40 |12 | 1430% [65.5| 78.7| 62 [130(139) 40 [13 [10(13) 1/8 17 |15 (17)[ 20° | 1.5 40 |35|19(70|48(21.5[10.5 z’ 82 |150 (159)
50 | 13| 1623%% [80 | 986/ 71 [150(162) 50 |14 [12(14) | 1/4 | 18 [16 (18) 20° | 3 50 [40|19|78|5924 [10.5|= [91[170 (182)
63 [ 13 ] 18352 |98 [119.2] 71 [150(162) 63 [14 [12(14) | 1/4 [18 [17 (18)]20° |3 63 |40[20(|78]72]24 [105 91 [170 (182)

= Refer to the basic type for the female rod end.
Note) ( ): Denotes the dimensions for long stroke.

17

ZSNC

* The minimum stroke with rod boot is 20 mm.



Head Trunnion: CG1TN

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

TR

2 x gTDe8
(Pin O.D)

With air cushion

Width across flats B1
Width across flats KA

H S + Stroke F
A K [GA 2xP GB|
AL E (Rc, NPT, G) R
| <
™ ‘ Nimii
A
31\
<
\Width across flats NA
Z + Stroke TB
ZZ + Stroke

# Constructed of a trunnion pin, flat washer and hexagon socket head cap bolt.

2xP
WA /R, NPT, G) WB
GA | /cushion valve, Width across flats WH | GB
i =
N Rl
. h+¢
With rod boot . 1
T
2ol | E j @_. > E}
Q| @
T
-1 =
B <> q
| sl W
Z + ¢ + Stroke
ZZ + ¢ + Stroke
[mm]
Bore Stroke range Rc, NPT port G port
size [Sandad] Longstroke |GA| GB [P [GA[GB | P | A |AL|B'|P|E|F H H 1 KI/KAl MM INA| S
20 |Upto200 201 to 1500 12 [10(12)/1/8 |12 [10(12) |M5x08| 18 |15.5| 13 8|12 | 2 | 35 5|26 |5 6 | M8x1.25 |24 |69 (77)
25 |Upto300] 301 to 1500 12 |10(12)] 1/8 | 12.5 10 (12.5)M5x0.8| 22 |19.5| 17 |10 | 14| 2 |40 | 6|31 |55| 8 [M10x1.25[29 |69 (77)
32 |Upto300 301 to 1500 12 |10 (12)| 1/8 | 10.5[10(105) 1/8 | 22 |19.5| 17 | 12 | 18 | 2 | 40 6|38 |55| 10 [M10x 1.25|35.5|71 (79)
40 |Upto300 301 to 1500 13 [10(13)] 1/8 |13 [10(10) | 1/8 |30 |27 |19 |16 |25| 2 |50 | 8 |47 |6 14 | M14x 1.5 |44 |78 (87)
50 |Upto300] 301 to 1500 14 [12(14)[1/4 |14 12(14) | 1/4 |35 (32 |27 |20|30] 2 |58 |11 |58 |7 |18 | Mi18x1.5|55 [90(102)
63 |Upto300 301 to 1500 14 112 (14)[ 1/4 |14 |[12(14) | 1/4 | 35|32 |27 |20 |32 | 2 |58 |11 |72 |7 18 | M18 x 1.5 |69 |90 (102)
imm] With Air Cushion imm] With Rod Boot [mm]
Bore Bore Rc, NPT, G Bore JH|JW
e TB| TDe8 | TR | TZ z 2z size |GA| GB ) WA| WB | W6 |WH size | © flh|lJ s s Z | Z2Z
20 | 11| 83% [39 |47.6/93(101)[106(114) 20 |12 [10(12) [M5x0.8| 16 [15 (16)25° |15 20 [30|18|55]27 [155[10.5]  [113(121)[126 (134)
25 | 11 | 10085 |43 |53 | 98(106)[111(119) 25 |12.5|10(12.5)M5x0.8| 16 [14.5(16) 25° | 1.5 25 |30|19|62|3216.5/10.5 2 120 (128) [133 (141)
32 f1o(11)] 12388 |54.5] 67.7[101 (108)[113 (121) 32 [12 [10(12) | 1/8 |16 [14 (16) 25° |15 32 [35|19]62|38[18.,5[10.5| © [123(130)[135 (143)
40 [10(12) 1438% |65.5| 78.7[118 (125)[130 (139) 40 |13 [10(13) 1/8 | 17 [15 (17)] 20° | 1.5 40 |35|19|70|48|21.5[10.5 % |138(145)[150 (159)
50 |12(13)| 1630 |80 | 98.6[136 (147)[150 (162) 50 |14 |12 (14) 1/4 | 18 [16 (18)| 20° | 3 50 |40[19|78[59 24 [10.5/7 [156(167)|170(182)
63 [12(13) 1835% |98 |119.2[136 (147)[150 (162) 63 |14 [12(14) | 1/4 | 18 [17 (18)20° |3 63 [40[20|78]|72[24 [105] [156(167)[170(162)
= Refer to the basic type for the female rod end. * The minimum stroke with rod boot is 20 mm.
Note) ( ): Denotes the dimensions for long stroke.
18
ZS\VC

Standard
Double Acting, Double Rod

[ Non-rotating Rod
Double Acting, Double Rod

Direct Mount

Double Acting, Single Rod

1 Direct Mount, Non-rotating Rod |

With End Lock

[

CG1

°
S
o
&
=)
=
@«
5
=
k3]
<<
)
o
=]
<3
(=]

CG1w

CG1

Single Acting, Spring Return/Extend

CG1K

Double Acting, Single Rod

CG1KW

CG1R

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CG1

Clevis: CG1DN (o 20 to o 63)

cz H S + Stroke
C TT A K [GA 2xP
MM AL F (Rc, NPT, G)
a - \CFE | ey R
L ! oF [ A
] | 8 I s
e ==l | o —
£ ; Q =\7£/=_[ <
= - Width across ng \
8xdJ flats B1 Width across \Width across flats NA
TZ flats KA Z + Stroke
ZZ + Stroke
oCDH10 (Hole dia.)
. . . d9 (Shaft dia.)
With air cushion oy P
X
WA ' /(Rc, NPT, G) wB
GA | /cushion valve, Width across flats WH GB
i %
With rod boot hae
L &
T
A T >
2| of | | Z
3 @ (g »
I
@ ol lhf 3
& 1
¢ | 1 W
Z + ¢ + Stroke
ZZ + ¢ + Stroke
[mm]
| Stroke range Rc, NPT port G port
Bores'“Standard Longsioke| GA| GB | P |GA| GB | P A|AL/Bi|C |CDICZ D |E|F |H | HilI J K [KA| L MM NA
20 [Upto200{201t0 1500 12 |10 (12)] 1/8 |12 [10(12) |M5x0.8| 18 [15.5| 13 |14 8(29| 8|12| 2 |35| 5|26 |M4x0.7|5 6|14 | M8x1.25 |24
25 |Upto300{301to1500| 12 [10 (12)] 1/8 | 12.5|10(12.5M5x 0.8/ 22 [19.5] 17 |16.5| 10 |33 |10 | 14| 2 |[40| 6|31 |[M5x08|5.5| 8|16 |[M10x 1.25|29
32 |Upto300{301to1500| 12 (10 (12)| 1/8 | 10.5(10(10.5)| 1/8 |22 |19.5/ 17|20 |12 |40|12|18| 2 |40 | 6|38 |[M5x0.8|5.5| 10 | 20 |M10 x 1.25|35.5
40 [Upto300{301to 1500 13 [10 (13)] 1/8 |13 [10(10) | 1/8 | 30|27 [19(26 |14 |49|16|25| 2 |50 | 8|47 | M6x1 |6 14|22 | M14 x 1.5 |44
50 |Upto300{301to1500| 14 [12(14)] 1/4 |14 |12(14) | 1/4 |35(32 |27 |32 |16 |60|20|30| 2 |58 |11 |58 [M8x1.25/7 18 | 25| M18 x 1.5 |55
63 |Upto300({301to1500| 14 (12 (14)| 1/4 |14 |12(14) | 1/4 | 3532 |27 |38 |18 |74 |20 |32 | 2 (58|11 |72 |MI0x15|7 18|30 | M18 x 1.5 |69
mm] With Air Cushion imm] With Rod Boot [mm]
Bore Applicable  Bore Rc, NPT, G Bore JH|JW
size RR S |TT|TZ| Z 24 pnpatno. size | GA | GB P WA| WB | W6 WH size | © flh|N (Reens) P z 2z
20 [11[69(77) [3.2] 43.4118(126)129(137)|CD-Go2 20 [12 [10(12) [M5x0.8] 16 [15 (16)] 25° | 1.5 20 [30]18|55]27 [155[10.5]  [138 (146149 (157)
25 |[13]69(77) [3.2] 48 [125(133)[138 (146)|CD-G25 25 | 12.5 |10 (12.5)|M5x0.8| 16 |14.5(16)| 25° | 1.5 25 |30[19|62|32[165[10.5| o, [147(155) 160 (168)
32 |15(71(79) |4.5| 59.4|131(139)[146 (154)|{CD-GO3 32 |12 [10(12) 1/8 16 |14 (16)| 25° | 1.5 32 [35|19|62 |38 185105 § 153 (161){168 (176)
40 [18[78(87) [4.5] 71.4l150(159)168(177)|CD-Go4 40 [13 [10(13) | 1/8 [ 17 |15 (17)[20° [ 1.5 40 [35[19]|70[48215[105 @ [70(179]188 (197)
50 |20(90(102)|6 | 86 |173(185)[193 (205)|CD-G05 50 (14 |12 (14) 1/4 18 |16 (18)| 20° | 3 50 (40|19|78 |59 (24 [10.5| = [193(205)213 (225)
63 |22(90(102)|8 |105.4/178(190)|200 (212)| CD-G0O6 63 |14 [12(14) 1/4 18 |17 (18)] 20° | 3 63 [40(20|78|72 24 |105 198 (210)[220 (232)

= A clevis pin, retaining rings and mounting bolts are included. Refer to the basic type for the female rod end.
Note) ( ): Denotes the dimensions for long stroke.

19

O

SVC

* The minimum stroke with rod boot is 20 mm.



Clevis: CG1DN (o 80, & 100)

Air Cylinder: Standard Type
Double Acting, Single Rod

Series CG1

TZ H S + Stroke L RR
cz F |GA 2xP GB Vv
c A K (Rc, NPT, G)
AL
MM [ H e
\ [a) G t
8 -
3} og l_g__l _ _ E _ R ,”
w
g )
il
<&
——t—
8xdJ CXio3 Width across flats KA Width across flats NA /
Width across flats B1
Z + Stroke
ZZ + Stroke
@CDH1o (Hole dia.)
d9 (Shaft dia.)
With air cushion
2xP
o (Rc, NPT, G)
W', 10° WA Cushion valve, Width across flats WH wB
GA \ GB
e ==
I w :
With rod boot
i
2| o | ~ 7
Q| @
¢ f
Z + ¢ + Stroke
ZZ + ¢ + Stroke
[mm]
Bore | Stroke range Rc, NPT port G port
size |Standard|Long stroke| GA| GB | P |GA| GB | P e e e e el R el J S B AL T
80 |Upto300{301to1500| 20 |16 (20)| 3/8 |17.5(16(17.5) 3/8 |40|37|32|50|18 (28|56 |25|40| 3 |71 |13 | 89| M10x1.5|10|22 |35 |M22x 15| 86
100 |Upto300{301t01500| 20 [16 (20)| 1/2 |17.5[16(17.5) 1/2 |40 |37 |41|60|22|32|64|30|50| 3 |71 |16 |110/M12x1.75| 10 | 26 | 43 |M26 x 1.5/ 106
imm] With Air Cushion imm] With Rod Boot [mm]
Bore Applicable  Bore Rc, NPT, G Bore
. RR| S |[TZ|V| Z zz bnpatne.  size | GA | GB P WA| WB | W6 |WH e || © fl h|lJ ¢ z 2z
80 | 18108 (122)] 64 | 26 [214 (228232 (246)[1Y-G08 80 | 20 |16 (20)| 3/8 | 24 [20 (24)] 20° | 4 80 |52[10[80 (59| /4 [223(237)241 (255)
100 | 22 [108 (122)] 72 | 32 [222 (236)|244 258)[1Y-G10 100 | 20 [16(20)| 1/2 | 24 [20 (24)[ 20°| 4 100 [62]| 7[80[71]| stroke [231 (245253 (267)

= Refer to the basic type for the female rod end.
Note) ( ): Denotes the dimensions for long stroke.

O
2

* The minimum stroke with rod boot is 20 mm.

20

Standard
Double Acting, Double Rod
CG1w

[ Non-rotating Rod
Double Acting, Double Rod
CG1KW

Direct Mount

Double Acting, Single Rod
CG1R

1 Direct Mount, Non-rotating Rod |

With End Lock

[

CG1

°
S
o
&
=)
1=
@«
5
=
k3]
<<
)
o
=]
<3
(=]

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CG1

With Pivot Bracket [(): Denotes the dimensions for long stroke.]

Rod Trunnion (U) with Pivot Bracket

TS Bracket mounting range
L 3 tm
= =
J
TX 4 x QTI:10
TV QTE+0'
Male Thread [mm] Female Thread [mm]
Bore size B TE TF TH TS T TV T™W X TY Z Bore size Z
20 38 10 55 | 25 28 | 32 | 358 | 42 16 28 46 20 24
25 455 | 10 55 | 30 33 | 32 | 398 | 42 20 28 51 25 25
32 54 10 6.6 | 35 40 | 45 | 494 | 48 22 28 51 32 25
40 635 | 10 6.6 | 40 49 | 45 | 584 | 56 30 30 62 40 27
50 79 20 9 50 60 | 6 724 | 64 36 36 71 50 29
63 96 20 | 11 60 74 | 8 90.4 | 74 46 46 71 63 29
Head Trunnion (T) TS Bracket mounting range
with Pivot Bracket i
r‘ﬁ’ -+ {é/”‘ \53 \ T
[ I
= -
J
Y 4xoTF
+0.10
v TE o Z + Stroke
ZZ + Stroke
Male Thread mm] Female Thread [mm]
Bore size B TE TF TH TS T TV TW X TY Z zZ Bore size Z Y4
20 38 10 55 | 25 28 32 | 358 | 42 16 28 | 93(101)[114 (122) 20 71( 79)| 92 (100)
25 455 [ 10 55 | 30 33 32 | 398 | 42 20 28 | 98(106)[119 (127) 25 72( 80)| 93(101)
32 54 10 66 | 35 40 45 | 494 | 48 22 28 [101(108)]125 (132) 32 75 ( 82)| 99 (106)
40 635 | 10 6.6 | 40 49 45 | 584 | 56 30 30 [118(125)[146 (153) 40 83 ( 90) [111(118)
50 79 20 9 50 60 6 724 | 64 36 36 [136(147)]168 (179) 50 94 (105) |126 (137)
63 96 20 | 11 60 74 8 90.4 | 74 46 46 |136 (147)[173 (184) 63 94 (105) [131 (142)
Clevis (D) with Pivot Bracket
o 20 to o 63 ‘E
[~
(=
Z + Stroke
ZZ + Stroke
Male Thread [mm] Female Thread [mm]
Bore size B TE TF TH X TY Z zZ Bore size Z zZ
20 38 10 55 | 25 16 96 (104)[117 (125)
25 455 | 10 55 | 30 20 99 (107)[ 120 (128)
32 54 10 6.6 | 35 22 105 (113)]129 (137)
40 635 | 10 6.6 | 40 30 115 (124)[ 143 (152)
50 79 20 9 50 36 131 (143)[163 (175)
63 96 20 | 11 60 46 136 (148)[ 173 (185)
Clevis (D) with Pivot Bracket
2 80,2 100 4xoTE
e
X TY
TV T™W
Z + Stroke
ZZ + Stroke
Male Thread [mm] Female Thread [mm]
Bore size B TF TH T TV T™W X TY Z Y4 Bore size Z zz
80 99.5[ 11 55 11 110 | 72 85 | 45 |214(228)]272.5 (286.5) 80 162 (176)[ 220.5 (234.5)
100 120 | 135 | 65 12 | 130 | 93 | 100 | 60 |222(236)[2985 (312.5) 100 173 (187)[ 249.5 (263.5)
21 ZSMC



Series CG1
Dimensions of Accessories

Single Knuckle Joint

Double Knuckle Joint

CG1

°
<]
o
@
=)
=
@«
=
£
©
<
@
e}
=]
o
(=]

I-G02, G03 I-G04, G05, G08, G10 Y-G02, G0O3 Y-G04, G05, G08, G10
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
MM @NDHio MM @NDH10
MM @ND holeH1o 3
g e MM oND holerito Axis d9 <
uir I IL'%;] i Ki/ ! Axis d9 E ggg
ﬁl Ui -‘] Al u ir J%Zfif; a Er - é E | s 86
L1 NX Lt —k o go
A A Al |ui B = =
[mm] Ly | A1 | U1 2
partno. SN A | A1| E1[Lt| MM |Ri|Ui|NDwio| NX A "‘A 3
1-G02 | 20 |34 85|016] 25 |M8x1.25[10.3[11.5] 8% 04 "l PY E
I-GO3 | 25,32 | 41 [10.5[C20] 30 [M10x1.25[12.8[14 | 103°%| 1033 — & @ 5
-G04 | 40 [42[14 [022[ 30 [M14x15[12 [14 | 100°*| 1832 5—0
1-GO5 | 50,63 |56 [18 [028] 40 [M18x15[16 [20 | 1478 22:3¢ T [mm] g
-G08 | 80 |71(21 |038]50 |M2x15(21 [27 | 1879°| 2832 Part |fori 3
I-G10 | 100 | 79|21 |044| 55 |M26x15 |24 |31 | 22%% | 3233 no. el A A1 Er L) MM \Ri|UiND| NX NZ L pilr?cplg:jter?o. L
. Y-G02| 20 |34] 85|016] 25 |M8x1.25[10.3[11.5] 8] 8135|1621 |IY-Go2 3
Knuckle Pin Y-G03 |25, 32| 41 [10.5| (20| 30 |M10x 1.25[12.8[14 | 10 [10:3 20 |26 I¥-Go3 | g
- - Y-G04| 40 [42[16 |o22| 30 |M14x15[12 14 [10]18:35] 36 |41.6] IY-Go4 (,%1!5
- ——— —g—Ig Y-G05/50, 63| 56 [20 [0 28] 40 [M18x1.5[16 |20 |14 ]22:35] 44 [50.6] IY-GO5 2@
I — _me Y-G08| 80 |71[23 |o38| 50 | M22x15[21 lo7 | 18]28:63]56 164 |IY-GO8 |5|<Q
t L N Y-G10] 100 |79 [24 |0 44|55 [Mo6x15[24 |31 [22]32:85| 64 [72 | IY-G10 s
Material: Carbon steel Pt (mm] = A knuckle pin and retaining rings are included. _% a
, 5|8
Partno. | Dds L1l d L2 m |t | BN Pivot Bracket S
1Y-G02 20 8150k |21 7.6/ 16.2|1.5 |0.9 |Type C8for axis ZS!
1Y-GO3 | 25,32 | 10362 [25.6] 9.6 20.2|1.551.15 | Type C10foraxis 2 20 to 0 63 T = m
1Y-G04 40 103982 [41.6| 9.6 36.2|1.55|1.15 | Type C10 for axis Material: Carbon steel [-A—— "—U'V—Td §0
IY-GO5 | 50,63 | 14332 |50.6|13.4| 44.2 |2.05]1.15 | Type Cl4foraxis 1 AL go
1Y-G08 80 183959 |64 |17 |56.2|2.55|1.35 | Type C18 for axis —_-_} N e
1Y-G10 100 22:3%% |72 |21 | 64.2|2.551.35 | Type C22 for axis | oTER10 IR B B
+ Retaining rings are included. ‘/- ) Knook pin hole L E z ‘% ém
Clevis Pin e oTF + s } s 2”5
= T ™ 520
_:[. — g ‘é TZ ] %
L m 0 80, 5 100 ™ oTR  oTd 18
X L H\L‘ Material: Cast iron / 3
Material: Carbon steel [mm] k ‘ g o
Part no. ApzliLc:l[JrI:r%ore Ddo Li|d|L2|m]|t retlgiﬂil:\(::;egng \[L \ % = é §
CD-G02 20 803 | 43.4| 7.6(38.6]/1.5 0.9 |Type C8foraxis ot p. : E e E 8
CD-G25 25 100% | 48 | 9.6/42.6[1.55]1.15 | Type C10 for axis 7 : ! =
CD-G03 | 32 | 1238 | 504|11.5[54 |1.55[1.15|TypeCl2foraxis 4x oTF X LASEN 5
CD-G04 | 40 1438 | 71.4/13.4]65 [2.05[1.15 | Type Cl4foraxis 1z ™ —(
CD-G05 50 16353 | 86 |15.2(79.6(2.05|1.15 | Type C16 for axis x
CD-G06 63 18055 |105.4|17 |97.8|2.45|1.35 | Type C18 for axis oml 13 -
+ Retaining rings are inclu dod Part no. | Aplcaleboresizefn]| TB | Td | TE | TF [TH [TN | TR | TT |5| (5
# A clevis pin and a knuckle piﬁ are common for the bore size @ 80 and @ 100 CG-020-24A 20 36 8 | 10| 55| 25 |(203)] 13 | 3.2 il M
’ CG-025-24A 25 43 | 10 | 10 | 55| 30 |(331)] 15 | 3.2 || O
Rod End Nut CG-032-24A 32 50 | 12 | 10 | 6.6] 35 |(40.4)] 17 | 45 |
CG-040-24A 40 58 | 14 | 10 | 6.6] 40 [(49.2)] 21 | 45 [_
CG-050-24A 50 70 | 16 | 20 | 9 | 50 [(604)| 24 | 6
CG-063-24A 63 82 | 18 | 20 [11 | 60 [(746)] 26 | 8 S
CG-080-24A 80 73 [ 18 | — [11 [ 55 [283i] 36 |11 ‘g
CG-100-24A 100 90 | 22 | — [13.5] 65 | 323 50 [12 ¢g
Part no.  |Apleateboesizem]] TU | TV | TW | TX | TY | TZ |Applicable pin O.D. 5
Material: Carbon steel [mm] CG-020-24A 20 (18.1)[(35.8)| 42 | 16| 28 | 38.3]  8ds32 <
Part no. | Applicable bore size [mm] d H1 | B1 C D CG-025-24A 25 (20.7)|(39.8)] 42 | 20| 28 | 42.1] 10ds:5%78
NT-02 20 M8x1.25| 5 | 13 | (15) [125 CG-032-24A 32 (23.6)|(49.4)] 48 | 22| 28 | 53.8] 125333 ]
NT-03 25, 32 M10x1.25| 6 | 17 | (19.6) |[16.5 CG-040-24A 40 (27.3)|(58.4)| 56 | 30| 30 | 64.6] 14ds3%3 g
NT-G04 40 Mi4x15 | 8 | 19 | (21.9) |18 CG-050-24A 50 (29.7)|(72.4)| 64 | 36| 36 | 79.2| 16ds7%5 o
NT-05 50, 63 Mi18x1.5 | 11 | 27 | (31.2) |26 CG-063-24A 63 (34.3)[(904)| 74 | 46| 46 | 97.2] 18de2%3 @
NT-08 80 M22x1.5 | 13 | 32 | (37.0) 31 CG-080-24A| 80 — | — 72| 85| 45 [110 | 18ds35% B
NT-10 100 M26x 1.5 | 16 | 41 | (47.3) [39 CG-100-24A| 100 — | — | 93 [100] 60 [130 | 22ds3% =
ZSvC 22



Air Cylinder: Standard Type
Double Acting, Double Rod

Series CGTW

0 20,0 25,0 32, 3 40, 3 50, ¢ 63, o 80, o 100

How to Order

N

25

100

I

N

25

|
100

M9BW

) - —
With auto switch
.(Bunt-m magnet) l : Number of
Double acting, ® Auto switch auto switches
. — | Without auto switch
Double rod type Mounting e Typel L . | : | — T2pos.
- # For applicable auto switches, S 1 pc
B. Basic N _|Rubber bumper refer to the table below. - ,,p -
Z* | Basic (without trunnion mounting female thread) A | Air cushion i . n n_pes.
L Axial foot Suffix for cylinder (Rod boot)
R — - Note) In the case of w/rod boot,
F* Flange Bore size ¢ Without rod bO.Ot and a foot bracket or rod
) Trunnion 201 20 mm [ 50] 50 mm Qne J Nylop tarpaulin . flange as a bracket, those
+ Not available for @ 80 and @ 100. 25 [ 25 63| 63 side | K [Heat resistant tarpaulin parts are to be assembled
= Mounting bracket is shipped together with the mm mm Both| JJ Nylon tarpaulin at the time of shipment.
product, but not assembled. 32| 32mm || 80 80 mm sides| KK |Heat resistant tarpaulin| * FOr female rod end, no rod
« The cylinder for F, L mounting types is Z: Basic |40 | 40 mm ||[100| 100 mm boot is provided.
(without trunnion mounting female thread). ® Rod end thread
— Male rod end

Built-in Magnet Cylinder Model

If a built-in magnet cylinder without an auto switch is required,
there is no need to enter the symbol for the auto switch.
(Example) CDG1WFA32-100Z

F

Female rod end

e Cylinder stroke [mm]
Refer to “Standard Strokes” on page 24.

Made to Order ¢

For details, refer to page 24.

Applicable Auto Switches/Refer to the Auto Switch Guide for further information on auto switches.
£ Load voltage Auto switch model Lead wire length [m]
. ) Electrical | 5| Wirin Applicable bore size Pre-wired "
Type| Special function entry B (Outpl?t) DC AC o 2F())pto o 63 @ 80, o 100 0_5 ,\1/' E g N?\?e connector Applicable load
2 Perpendicular | In-line In-line MO 1@ 1N
3-wire M9NV M9N — ® @@ O/—| O
(NPN) SV 12V — — G59 ®  — @ O|—| O c
Grommet 3-wire ' M9PV M9P o ®  ®@ @O —| O circuit
—_ (PNP) = — G5P ®@ —® O|—| O
e M9BV M9B — ® e O|—| O
2 2-wire 12V — — K59 ®@ — @@ O|—| O —
2 Connector = H7C — ® — 0 0 o —
i) 3-wire MONWV | MONW o ® @@ O —| O
3 ) ! (NPN) — — Gs9w | @ |— @/ O|—| O IC | Relay,
g I?rlggnct):sstlc Yes Swire 24 V|5V, 12V — MOPWV | MOPW — o @ ®@ O —| O circuit | PLC
'3 (2-cc:Ioulrci?1(;ic::2tion) (PNP) — — GPW | @ |— @0 1—| O
o o-wire 12V M9BWV | M9BW — ® @@ O/—| O .
S Grommet — — Koow | @ |— @ |O|—| O
€N 3-wire (NPN) 5V 12V MONAV**| MONA™** — O|l0|®@|O[—| O IC
Water resistant 3-wire (PNP) ’ MOPAV**| M9PA** — Ol0|@|O|—| O |circuit
(2-colour indication) o-wire 12V M9BAV**| M9BA** — O|0O/®@|O|—] O .
— — G5BA* | — |— | @|O|—| O
Diagnostic output (2-colour ndation) 4-wire (NPN) 5V,12V — H7NF — @ |— ® O |—| O [lCcircuit
= Ve |1 Eaiv-0NPY| — | 5V — A96V A96 = ® |—|® —|—| — |ICcircuit] —
2 | 100 V A93V A93 — o — 0 e —| — —
z Grommet | No | 100 Vorless| A90QV A90 — [ ® —|—| — [ICcircuit
o S Yes 100V, 200V — B54 e — 0 0 —| —
% o] 2wire [24v| 2V [200Voriess — B64 ®— 0| —|—| — — RF?II_eg/,
? Connector P& — — C73C — o — 006 -—
) No 24V or less — Cc80C = ® | — ®® ® — |(Ccircui
& [ Dagostcidedon podowcaion] | Grommet | Yes — — — B59W e —0|—\—| — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
* Lead wire length symbols: 0.5 m

1m-

— (Example) MONW
-+ M (Example) MONWM
-+ L (Example) MONWL
- Z (Example) MONWZ
N (Example) H7CN

+ Solid state auto switches marked with “O” are produced upon receipt of order.

+ Since there are other applicable auto switches than listed above, refer to page 74 for details.
+ For details about auto switches with pre-wired connector, refer to Auto Switch Guide.
* The D-A90JI/M90I0I0 auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

23



Air Cylinder: Standard Type .
Double Acting, Double Rod Series CG 1 W

Auto switch mounting surfaces

Specifications 3
k)
[=2}
Bore size [mm] 20 [ 25 [ 32 [ 40 | 50 | 63 | 80 | 100 S
Action Double acting, Double rod 3
Lubricant Not required (Non-lube) %
Fluid Air a
Proof pressure 1.5 MPa §
Maximum operating pressure 1.0 MPa - 2
Minimum operating pressure 0.08 MPa § §
Ambient and fluid W!thout auto.swnch. -10°Cto70°C (No freezing) % =
temperature With auto switch  : =10 °C to 60 °C =
Piston speed 50 to 1000 mm/s | 50 to 700 mm/s §
Stroke length tolerance Up to 1000 st *5* mm, Up to 1500 st 5 mm =
Symbol Cushion Rubber bumper, Air cushion EEJ
Mounting®* Basic, Basic (without trunnion mounting female thread), 3 -
Rubber bumper 9 Axial foot, Flange, Trunnion E0L)
Male E’*o
[ | 028 | 041 | 066 | 1.20| 2.00| 3.40| 590 | 9.90 3
[ H H] Rubber | rod end r
bumper E
‘ ‘ Allowable Female | 11| 0.18| 020 | 052 | 091 | 154 | 271 | 454 | =
kinetic rod end 3
) ) energy Male |R:0.35|R:0.56 2
Air cushion ) Air rod end | H: 0.42 | H: 0.65 091 | 1.80| 3.40 | 4.90 | 11.80 | 16.70 £ E
cushion | Female £0
Q
[ ﬂ B] rod end 0.11 0.18 | 029 | 0.52 | 0.91 154 | 2.71 4.54 3 iQ
l [ EE
* R: Rod side, H: Head side 2
‘ ‘ =x Rod trunnion type is not available for 80 and @ 100. k5] =
Foot and flange types of cylinder sizes from @ 20 to @ 63 do not have trunnion mounting female |2f¢
thread. Operate the cylinder within the allowable kinetic energy. (z% % ;
o
ade t0 8 E
order | Made to Order 509
(For details, refer to pages 77 to 93.) . 3 O
— Accessories 3
Symbol Specifications 8
-XA[O | Change of rod end shape — 3
-XB6 | Heat resistant cylinder (-10 to 150 °C)*1 Mounting Basic Axial foot | Rod flange |Rod trunnion =z
-XB7 | Cold resistant cylinder (~40 to 70 °C)*2 Standard | Rod end nut o o d d é s
-XC6 | Made of stainless steel Single knuckle joint [ ) [ [ ] [ ] ] E’E
-XC13 | Auto switch rail m9unting Double knuckle joint** o o . o a Zo
-XC22 | Fluororubber seal*! Option (with pin) §
-XC37 | Larger throttle diameter of connection port Pivot bracket™ — — — P =
-XC85 | Grease for food processing equipment Fod boot ° ° ° ° &
od boo =
=1 Cylinders with rubber bumper have no bumper. - s 0C
#2 Only compatible with cylinders with rubber * Not available for ¢ 80 and & 100. gl ¥
bumper, but has no bumper. «x A double knuckle joint pin and retaining rings are shipped together. 2 6
5 O
Rod Boot Material Standard Strokes el
]
i i i Note1 i Note 2
Symbol| Rod boot material Maxtltr;]nL]m:e ;[t)jrr:tmg Bore size [mm] Standard stroke [mm] Notet) Maximum manufacturable stroke [mm] Note2) 9 6
P 20 25, 50, 75, 100, 125, 150, 200 201 to 1500 2 o
J Nylon tarpaulin 70°C 25 : 3
K  |Heat resistant tarpaulin 110 °C* 32 =
* Maximum ambient temperature for the rod boot 20 L
itself. 25, 50, 75, 100, 125,
301 to 1500
50, 63 150, 200, 250, 300 :Cg
80 s
Refer to pages 68 to 74 for cylinders with (7))
. 100 [e]
auto switches. 5
oA itch . . Note 1) Intermediate strokes not listed above are produced upon receipt of order. Manufacture of 2
uto SV_V'tC proper mounting posmon X intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
(dgtectlon at stroke end) and its mounting Note 2) The maximum manufacturable stroke shows the long stroke. N
he_lght . . Note 3) Applicable strokes should be confirmed according to the usage. For details, refer to “Air 2
* Minimum stroke for auto switch mounting Cylinders Model Selection”. In addition, the products that exceed the standard stroke S
* Auto switch mounting brackets/Part no. might not be able to fulfill the specifications due to the deflection etc. o
» Operating range °
* Cylinder mounting bracket, by stroke/ §

SMC 24

O




Series CGTW

Weights
_—
- AN '
Bore size [mm] 20 25 32 40 50 63 80 100 P reca Utlo n s

— _ - oy

= Basic 013 | 022 | 033 | 055 | 1.02 | 1.37 | 264 | 4.09 | Be sure to read this before handling.

g Axial foot 0.24 0.35 0.49 0.77 1.50 2.09 3.60 5.84 IRefer to the back cover for Safety 1

2 Flange 021 | 032 | 047 | 075 | 136 | 1.87 | 3.35 | 5.44 1 Instructions. For Actuator and Auto 1

@ Trunnion 014 | 024 | 036 | 060 | 1.16 | 151 | — — 1 Switch Precautions, refer to “Handling :
Pivot bracket 008 | 009| 017 | 025 | 044 | 080 | — | — :;ret(:)autlotr_\s fl?llr SMF Prgﬁlg"tsb‘{?d "

e Operation Manual on website

Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 022 | 0.22 | 0.39 | 057 I http: //F\)Nww sme.eu o |
Double knuckle joint (with pin) | 0.05 | 0.09 | 0.09 | 0.13 | 026 | 0.26 | 0.64 1.31 L T |
Additional weight per 50 mm of stroke | 0.07 | 0.10 | 0.13 | 023 | 0.34 | 0.38 | 0.54 | 0.77 Refer to page 10 for Handling and Disassembly/
Additional weight with air cushion | 0 0.01| 004 | O 0.01 | 004 | O 0.04 Replacement.

Weight reduction for female rod end | —-0.02 | -0.04 | -0.04 | -0.10 | -0.20 | —0.20 | —-0.38 | -0.54
Calculation (Example) CG1WLN32-100Z oBasic weight - -eseeeeeee 0.49 (Foot, o 32)

(Foot, @ 32, 100 stroke) ® Additional weight--------- 0.13/50 stroke
® Air cylinder stroke:-:---- 100 stroke
0.49 x 0.13 x 100/50 = 0.75 kg
Mounting Brackets/Part No.
_—
Mounting Order Bore size [mm] Contents
bracket q'ty. 20 25 32 40 50 63 80 100

Axial foot 2 Note)| CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 | CG-L080 | CG-L100 zngﬁﬁng bolts

Flange 1 | CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063 | CG-F080 | CG-F100 HLa:Lf’:t’ing bolts

Trunmionpin | 1 | CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 |  — — g}[:tnvr\‘lg’s”hg'gs 2 trunnion bolts,
Pivot bracket | 1 | CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A — — 1 pivot bracket

Note) Order two foots per cylinder.

25

O
2



Construction

Air Cylinder: Standard Type
Double Acting, Double Rod

Series CGTW

With rubber bumper

2 80,0 100

o -

il M\
|
B Y, .
-I /
With air cushion
| 73 ﬁ
g ‘
— M\
] | . IW i -
/
Component Parts Replacement Parts: Seal Kit
No. Description Material Note Bore size [mm] Kit no. Contents
1 | Rod cover Aluminium alloy Hard anodised 20 CG1WN20Z-PS Setof th
2 | Cylinder tube Aluminium alloy Hard anodised 25 CGI1WN25Z-PS e;gs‘ e
3 | Piston Aluminium alloy 32 CG1WN32Z-PS ) ®'
. Stainless steel | For g 20 or g 25 with built-in magnet 40 CG1WN40Z-PS T
4 | Piston rod = —
Carbon steel Hard chrome plating Note) Refer to the Specific Product Precautions on
5 | Bushing Bearing alloy page 10 for Disassembly/Replacement.
6 | Bumper Resin & 32 or larger is common Order with the kit number according to the
7 | Bumper Resin 9 ’ bore '_sige.
8 | Rod end nut Carbon steel Zinc chromated * The seal kit includes a grease pack (10 g).
9 | Cushion ring Aluminium alloy Order with the following part number when only
: : the grease pack is needed.
10 | Cushion valve 040 or smallerl Carbon gteel Electrgless nickel plating Grease pack part number: GR-S-010 (10 g)
o 50 or larger| Steel wire Zinc chromated
11 | Cushion seal Urethane
12 | Rod seal NBR
13 | Piston seal NBR
14 | Tube gasket NBR
15 | Valve seal NBR

Note) For cylinders with auto switches, the magnet is installed in the piston.
* The material for @ 20, @ 25 cylinders with auto switches is made of stainless steel.

O
2

26

Standard

[ Non-rotating Rod
Double Acting, Double Rod
CG1KW

Direct Mount

Double Acting, Single Rod
CG1R

1 Direct Mount, Non-rotating Rod |

With End Lock

[

°
<]
o
@
=)
i
[
=
£
S
<<
@
e}
=
]
o
o
<]
o
2
o
=
S
(=]
>
=
S
<
K}
s}
>
S
[=]

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CGTW

Basic with Rubber Bumper: CG1WBN

Width across flats KA F GA 2xRcP GA F Width across flats KA
MM
MM Hy l Hi
Q PR ey
Q S ¥ )
0 ) \ 3 | () 0
A EE— e
w \% w
u l=§=h | | 4=S:_fg u
iy \ 5
Width across flats B Q‘Q/ '\0'7
B — AL AL Width across flats B1
A ‘ K [TA| \4xTC ITA| K A
H S + Stroke H + Stroke
ZZ + 2 Stroke
<With rod boot on one side> Female rod end
8 8
T B
_ E | T
2|0 _ - _ (
3¢ e :
ol lgiif )
¢ | f H
h+e ZZ + 2 Stroke
ZZ + ¢ + Stroke
<With rod boot on both sides>
8 8 8 .. .8
T T
=1 ) A . i [ @
DL AV @:@] \S%/ypm
el I f ] B = “ 3
4 f f ¢ + Strok
+ Stroke W
h+¢ S + Stroke h + ¢ + Stroke
ZZ + 2 (¢ + Stroke)
[mm]
Bore Stroke range A[AL|Bi|C |D|E|F|GA|lH| I J K|KA| MM |NA|P | S
size |Standard| Long stroke ! !
20 |Upto200| 201to 1500 | 18 |15.5| 13 |14 8 | 12 2 12 5 26 | M4 x0.7 depth 7 5 6 M8x 125 | 24 | 1/8 77
25 |Upto300| 301to 1500 | 22 |19.5| 17 [16.5] 10 | 14 2 12 6 31| M5x0.8depth7.5 | 55| 8 | M10x1.25 | 29 | 1/8 77
32 |Upto300| 301to 1500 | 22 |19.5| 17 |20 12 | 18 2 12 6 38 | M5x0.8depth 8 5.5| 10 | M10x1.25 | 35.5| 1/8 79
40 |[Upto300| 301to 1500 | 30 |27 19 |26 16 | 25 2 13 8 47 | M6 x 1 depth 12 6 14 M14x1.5 | 44 | 1/8 87
50 |Upto300| 301to 1500 | 35 |32 27 |32 20 | 30 2 14 | 11 58 | M8 x1.25depth16 | 7 18 M18x1.5 | 55 | 1/4 | 102
63 |Upto300| 301to 1500 | 35 |32 27 |38 20 | 32 2 14 | 11 72 | M10x 1.5depth16 | 7 18 | M18x1.5 | 69 | 1/4 | 102
80 |Upto300| 301to 1500 | 40 |37 32 |50 25 | 40 3 20 | 13 89 | M10x 1.5depth22 | 10 22 M22x1.5 | 86 | 3/8 | 122
100 |Upto300| 301to 1500 | 40 |37 41 |60 30 | 50 3 20 | 16 | 110 [M12x1.75depth 22| 10 26 M26 x 1.5 (106 | 1/2 | 122
! . e With rod boot*
Bore i Without rod boot With rod boot on one side on both sides Female Rod End [mm]
sze |TA| TC Hlzz|e|f|n|w|dH Wl , |zz]| 2z Bore | av | H MM 2z
(Reference) | (Reference) size
20 11 M5 x 0.8 35| 147 | 30 | 18 | 65 | 27 | 155 | 10.5 167 187 20 8 13 M4 x 0.7 103
25 11 M6 x0.75 |40 | 157 | 30 | 19 [ 62 | 32 | 16.5 | 10.5 179 201 25 8 14 M5 x 0.8 105
32 11 M8 x 1.0 40 | 159 | 35 | 19 | 62 | 38 | 18,5 | 10.5 e 181 203 32 12 14 M6 x 1 107
40 12 | M10x1.25 |50 | 187 | 35| 19 | 70 | 48 | 21.,5 | 105 g 207 227 40 13 15 M8 x 1.25 117
50 13| M12x1.25 | 58 | 218 | 40 | 19 | 78 | 59 | 24 10.5 i’r’ 238 258 50 18 16 M10 x 1.5 134
63 13| M14x15 |58 | 218 | 40 |20 | 78 | 72 | 24 105 | — 238 258 63 18 16 M10 x 1.5 134
80 — — 71| 264 |52 |10 |80 | 59 | — — 273 282 80 21 19 M14x 1.5 160
100 = — 71 | 264 | 62 7|80 |71 — — 273 282 100 25 22 M16 x 1.5 166

# The minimum stroke with rod boot is 20 mm.
=% Cylinder sizes @ 80 and @ 100 do not have trunnion mounting female thread on the width across flats NA.

27

-~
Z

SVC



Basic with Air Cushion: CG1WBA

Air Cylinder: Standard Type
Double Acting, Double Rod

Series CGTW

o
&
o
2
£
2xP 2
> WA 8xd £
o Wao <
10° We Width across flats KA F GA| F  Width across flats KA 2
MM H; Hi s
S i g
0 — \ ) 0 @
§ P — " — e u
w a
I i “=q; B E
I \ i 5
Width across & va @ o
flats B1| AL AL Width across flats B1 El
o
A ‘ K [TA| \4xTC TA| A =
H S + Stroke H + Stroke NA %
ZZ + 2 Stroke E
< =
O
0
* For the one with rod boot, refer to w/rubber bumper. [mm] %,
Bore size Stroke range A|[AL B | Cc | D|E|F|GA|H | H]|I J K | KA (3
Standard | Long stroke 8
20 Up to 200 | 201 to 1500 18 15.5 13 14 8 12 2 12 35 5 26 M4 x 0.7 depth 7 5 6 2
25 Up to 300 | 301 to 1500 | 22 19.5 17 16.5 10 14 2 125 40 6 31 | M5x0.8depth7.5 515) 8 & E
32 Up to 300 | 301 to 1500 | 22 19.5 17 20 12 18 2 12 40 6 38 M5 x 0.8 depth 8 5.5 10 gw
40 Up to 300 | 301 to 1500 | 30 27 19 26 16 25 2 13 50 8 47 M6 x 1 depth 12 6 14 3 %Q
50 Up to 300 | 301to 1500 | 35 32 27 32 20 30 2 14 58 11 58 | M8x 1.25 depth 16 7 18 |5
63 Up to 300 | 301to 1500 | 35 32 27 38 20 32 2 14 58 11 72 | M10x 1.5 depth 16 7 18 g 8
80 Up to 300 | 301 to 1500 | 40 37 32 50 25 40 3 20 71 13 89 | M10x1.5depth22 | 10 22 % 3
100 Up to 300 | 301 to 1500 | 40 37 41 60 30 50 3 20 71 16 110 [M12x1.75depth22| 10 26 % z ;
. - * For mounting brackets, refer to page 22.  |Z E <
Bore size | MM NA P S TA TC ZZ | WA | W8 | WH .. Cylinder sizes o 80 and & 100 do not ?C,»,‘_
20 [M8x125| 24 | M5x08 | 77 | 11 | M5x08 | 147 | 16 | 25° | 15 have trunnion mounting female thread 0
25 |M10x125| 20 | M5x08 | 77 | 11 | M6x075| 157 | 16 | 25° | 15 on the width across flats NA. 20
32 M10x1.25| 355 Rc1/8 79 11 M8 x 1.0 159 16 25° 1.5 L 3
40 M14x15| 44 Rc1/8 87 12 M10x1.25 | 187 17 20° 1.5 BE
50 M18x 1.5 55 Rc1/4 102 13 M12x1.25 | 218 18 20° 3 = <
63 M18 x 1.5 69 Rc1/4 102 13 M14x1.5 | 218 18 20° 3 3 ém
80 M22x15| 86 Rc3/8 122 — — 264 24 20° 4 % cgv-
100 [ M26x1.5 | 106 Rtz | 122 | — — 264 | 24 | 20° | 4 8 §8
* Refer to w/rubber bumper for the female rod end. e 2
g
&
5|
gl X
2| ™
g O
gl O
%
x
8 v
-
ol O
w| M
g O
=
<
2
3
(%)
[}
2
5
<
]
]
S
o
=}
(]
-]
@©
=
~ 28
2 SNC



Series CGTW

With Mounting Bracket

Axial foot: CG1WLO

I T i
E i
\ J =t
5

LX

W 2xeLC W LZ

X |y (Knock pin position) Y| X M 4xoLD
4 LS + Stroke

[mm]
B . Stroke

ore size range B LC LD LH LS LT LX LZ M w X Y V4
20 Upto 1500 | 34 4 6 20 53 3 32 44 3 10 15 7 47
25 Up to 1500 | 38.5 4 6 22 58 3 36 49 35 | 10 15 7 52
32 Up to 1500 | 45 4 7 25 53 3 44 58 35 | 10 16 8 53

40 Upto 1500 | 54.5 4 7 30 60 8 54 71 4 10 16.5 8.5 | 63.5

50 Up to 1500 | 70.5 5 10 40 67 4.5 66 86 5 175 | 22 11 75.5

63 Up to 1500 | 82.5 ) 12 45 67 4.5 82 | 106 5 175 | 22 13 755
80 Up to 1500 | 101 6 11 55 74 4.5 100 | 125 5 20 285 | 14 95
100 Up to 1500 | 121 6 14 65 74 6 120 | 150 7 20 30 16 95

+ Other dimensions are the same as basic type.

Flange: CG1WF[J
F . FT 4 x oFD

] ) ) Ve | O
1o} I © { B
oS | m| $ i i
| I T~ - - - 2 1 H
4 | e S J@
L Y T Y
H FX:0.15
B
[mm]
) Stroke
Bore size range B E F FX FD FT H
20 Up to 1500 40 12 2 28 5.5 6 35
25 Up to 1500 44 14 2 32 5.5 7 40
32 Up to 1500 53 18 2 38 6.6 7 40
40 Up to 1500 61 25 2 46 6.6 8 50
50 Up to 1500 76 30 2 58 9 9 58
63 Up to 1500 92 32 2 70 11 9 58
80 Up to 1500 | 104 40 3 82 11 11 71
100 Up to 1500 | 128 50 3 100 14 14 71

= End boss is machined on the flange for o E.
= Other dimensions are the same as basic type.

29

O
2



Air Cylinder: Standard Type .
Double Acting, Double Rod Series CG 1 W

With Mounting Bracket g
B 2
s
Trunnion: CG1WU[J E
2
K]
e
g
g
TR ®
e
TS Bracket mounting range § g
gl . ] 2
| e | [ ok
= T 512 |H TN 2
| TR {1 Xz O a
= 7N \ i B e o :
,f *..J/ \. MI—‘ -, ! o H—H - o g
] ‘ T cr
\ = O
5 F ! =0
S : — :E\, / %
TY - :
W X 4x0TF £
Y4 | TV Py
+0.10 «n
TZ oTE o ga
520
s
o) ©
£le
E °
[e] B=]
bl [
e
8¥
or=
20
k)
mmy | |29
Boresize | /K¢ | B | TDe8 | TE | TF | TH | TR [ TS [ TT | TV | TW | TX | TY | TZ Z =
range Without rod boot | With rod boot §
20 Up to 1500 | 38 8900 10 55| 25 | 39 28 3.2 |(35.8)| 42 16 28 47.6 46 66 +¢ Ele
25 Up to 1500 | 45.5 1005 10 585) 30 43 33 3.2 [(89.8)| 42 20 28 53 51 73+¢ ‘23 %m
32 Up to 1500 | 54 127005 10 6.6 35 54.5 40 45 |(49.4)| 48 22 28 67.7 51 73 +¢ g g’a
40 Upto 1500 | 63.5 | 145%% 10 6.6 | 40 | 655 | 49 45 |(58.4)| 56 30 30 78.7 62 82+¢ & Eo
50 Up to 1500 | 79 162000 20 9 50 80 60 6 (72.4) | 64 36 36 98.6 71 91 +¢ %
63 Up to 1500 | 96 183005 20 | 11 60 | 98 74 8 (90.4)| 74 46 46 | 119.2 71 91 +¢ L8
+ Constructed of a pin, flat washer and hexagon socket head cap bolt. (=
= Other dimensions are the same as basic type. ‘é,
= o
4
2| ™
g O
2 O
%
x
8 v
-
ol O
wl m
g (&
<
2
S
(%)
[}
=S
S
<
3
°
S
o
=}
(]
-]
@©
=
30
ZS\VC



Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Series CG1

o 20, o 25, 0 32, ¢ 40

How to Order

Cylinder stroke [nm] ¢ ¢ Action Pivot bracket
Refer to “Standard Strokes” on page 32. S |Single acting, Spring return — None
T |Single acting, Spring extend N | Pivot bracket is shipped together with the product.
Type = Only for D, U, T mounting types
| N | Rubber bumper | # Pivot bracket is shipped together with the product, but not
assembled.

-CG1?%2|5—1(|)OS z-[1-[C
(X cDG1 BN [25]-[100/S][ ]Z-[ ][ ]-[M9BWI][ |-

"l' 1_1 —
With auto switch
(Built-in magnet) . Rod end thread Number of
Mounting — NViale rod ond auto switches
B Basic G Head flange F Female rod end — | 2pos.
z Basic (without trunnion || U Rod trunnion . S 1 pc.
mounting female thread)|| T Head trunnion Bore size Rod end bracket n__ |“n”pcs.
L Axial foot D Clevis 20 |20 mm — None .
F Rod flange 25 |25 mm \'/ Single knuckle joint ¢Auto sw'_tCh '
* Mounting bracket is shipped together with the product, but not assembled. | 32 | 32 mm w Double knuckle joint | = — |" vl\alllthOLtjt au?tohswncf; |
e 2 eese (#0180 mm ] omacat onss o rommodm. 5y
= Rod end bracket is shipped together with the
Built-in Magnet Cylinder Model e ot provided with the Made to Order ®
If a built-in magnet cylinder without an auto switch is required, single knuckle joint. For details, refer to page 32.

there is no need to enter the symbol for the auto switch.
(Example) CDG1FN32-100TZ

Applicable Auto Switches/Refer to the Auto Switches Guide for further information on auto switches.

£ Load voltage Auto switch model Lead wire length [m]
) ) Electrical | 5 Wirin Applicable bore size Pre-wired )
Type|  Special function ety § (Outpt?t) DG AC 220100 40 (0_5) (’\1/0 (E) (g) ,\(ﬂ)e i Applicable load
2 Perpendicular In-line
3-wire (NPN) 5V 12V M9INV M9N ® /@ O|—| O 1c
- Grommet 3-wire (PNP) ' MIPV M9P ® 0|0 O — @) circuit
£ o-wire 12V MOBY | MOB | ® |@/® O|—| O _
5 Connector — H7C o | —| 00 e —
£l o 3-wire (NPN) MONWV | MONW [ @ (@@ |O[—[ © Ic
=~ e ves| Bwire (PP | 24v |°V 12V TmoPwv | MOPW | @ [@ @O || O | cirouit | RO
s 2-wire 12V MOBWV | M9BW | @ @@ @ O|—| O —
£ Water resistant Grommet S-wire (NPN) 5V,12V MQNAV*% MINA™| © |O|®|O | — © .IC .
g (2-colour indication) 3-wire (PNP) ’ M9PAV”‘>IF M9PA** | O |[O|@|O|—]| O circuit
2-wire 12V M9BAV**| M9BA** | O |O | @ |O|—]| O —
Diagnostic output (2-colour indication) 4-wire (NPN) 5V, 12V — H7NF ®@ | — 0O O  |IC circuit
3-wire IC
- Yes| (Equiv.toNPN) | 5V - A96V A96 & — 1O — = = lgcut| —
";3 Grommet | 100 V A93V A93 o —| o0 —| — —
@ | No | 100 Vorless| A90V A90 ® |—|®|—|—| — [ICcircuit
% |Yes| _ oy [100V.200V[  — B4 (@& |— e /@ —| — Relay,
= No 2-wire 24V 200 V or less — B64 ® | —|0 —|—| — — PLC
3 Yes — — C73C e  —| o060 —
o Connector — —
No 24V or less — Cc80C ® |—|®@/® | ® — |[Ccircuit
Diagnostc indication (2-colour indication)] Grommet | Yes — — — B59W ® —|0 —|—| — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m---eeeoveeeeeeee — (Example) MONW x Solid state auto switches marked with “O” are produced upon receipt of order.
-+ M (Example) MONWM
- L (Example) MONWL

- Z (Example) MONWZ
N (Example) H7CN
* Since there are other applicable auto switches than listed above, refer to page 74 for details.
* For details about auto switches with pre-wired connector, refer to the Auto Switches Guide.
* The D-A90I0)/M9ITITI auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

31 Z;SVC




Spring extend

Symbol

Spring return, Rubber bumper

I
|

Spring extend, Rubber bumper

i

A

de to
Mgrder Made to Order
(For details, refer to pages 77 to 93.)
Symbol Specifications
-XC6 | Made of stainless steel*!

Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

Specifications

Series CG1

Bore size [mm]

20 | 25 | 32 [ 40 | 20 | 25 | 32 | 40

Action Single acting, Spring return Single acting, Spring extend
Lubricant Not required (Non-lube)

Fluid Air

Proof pressure 1.5 MPa

Maximum operating pressure 1.0 MPa

Minimum operating pressure

0.18 MPa 0.23 MPa

Ambient and fluid
temperature

Without auto switch: =10 °C to 70 °C

With auto switch - —10 °C to 60 °C (N "€ezing)

Piston speed

50 to 1000 mm/s

Stroke length tolerance Up to 200 st *B“‘ mm
Cushion Rubber bumper
Basic, Basic (without trunnion mounting female thread),
Mountin Axial foot, Rod flange, Head flange,
9 Rod trunnion, Head trunnion,
Clevis (used for changing the port location by 90°)
Accessories
) . Axial | Rod | Head | Rod | Head q
Mounting Basic ) .| Clevis
foot | flange | flange |trunnion|trunnion
Rod end nut [ J [ J [ J [ J [ J [ J [ J
Standard
Clevis pin — — — — — — [ J
Single knuckle joint [ J [ J [ J
) Double knuckle joint*
Option (with pin) [ ] [ ] [ J
Pivot bracket — — — — [ J [ J [ J

= A double knuckle joint pin and retaining rings are shipped together.

-XC20 | Head cover axial port*2
=-XC27 | Double clevis and double knuckle joint pins made of stainless steel
-XC29 | Double knuckle joint with spring pin*? Standard Strokes Theoretical output
-XC85 | Grease for food processing equipment [mm] Consult SMC
1 Applicable only to single acting, spring return type. Bore size Standard stroke Note)
For sing:\jcacting, spring extend type, please 20 25, 50, 75, 100, 125 Spring Reaction Force
contact .
2 Only compatible with cylinders with rubber bumper. 25,32,40 | 25,50, 75, 100, 125, 150, 200 Consult SMC
Note 1) Manufacture of intermediate strokes at 1 mm
- - intervals is possible. (Spacers are not used.)
Rl to_ pﬁges ditie i e e linles wlitn Note 2) Applicable strokes should be confirmed
auto switches. according to the usage. For details, refer to “Air
* Auto switch proper mounting position Cylinders Model Selection”. In addition, the
(detection at stroke end) and its mounting products that exceed the standard stroke might
height not be able to fulfill the specifications due to the
« Minimum stroke for auto switch mounting deflection efc.
* Auto switch mounting brackets/Part no.
* Operating range
* Cylinder mounting bracket, by stroke/ .
Auto switch mounting surfaces Mou“t'"g Brackets/Part No.
= Mounting | Order Bore size [mm] T
/\ Precautions bracket | . [ 20 [ 25 [ 32 | 40
- A N GE BN AN B GE M M M M e o : Note) 2 foots,
- . i | Axial foot 2 CG-L020 | CG-L025 | CG-L032 | CG-L040 8 mounting bolt
1 Be sure to read this before handling. | ounting boits
1 Refer to the back cover for Safety1 | g, 1| ca-Fo20 | CG-Fo2s | Ca-Fos2 | CG-Fodo | MN9S
1 Instructions. For Actuator and Autol 4 mounting bolts
1 Switch Precautions, refer to “Handling 1 - 2 trunnion pins, 2 trunnion bolts,
I Precautions for SMC Products” and! Trunnion pin 1 CG-T020 | CG-T025 | CG-T032 | CG-T040 2 flat washers
I the Operation Manual on SMC website, ! 1 clevis. 4 mountin
: i ) : i ) g bolts,
I http://www.smc.eu _: Clevis 1| CG-D020 | CG-DO25 | CG-DO32 | CG-DO4O | 4 oy pin, 2 retaining rings
Pi k 1 -020-24A | CG-025-24A | CG-032-24A| CG-040-24A | 1 pi k
Refer to page 10 for Handling and Disassembly/ ivot bracket CG-020 CG-025 CG-03 CG-040 pivot bracket

Replacement.

Note) Order two foots per cylinder.

ZSNC

32

Standard
Double Acting, Double Rod
CG1w

[ Non-rotating Rod
Double Acting, Double Rod
CG1KW

Direct Mount

Double Acting, Single Rod
CG1R

1 Direct Mount, Non-rotating Rod |

With End Lock

[

Double Acting, Single Rod
CG1

CG1

=
=
3
=
&
=
=
g
c
=
£
o
w
=
£
B
<
@
>
£
w

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CG1

Ordering Example of Cylinder Assembly

Cylinder model: CDG1DN20-100Z-NW-M9BW

Mounting D: Clevis
Pivot bracket N: Yes

Auto switch D-M9BW: 2 pcs.

Rod end bracket W: Double knuckle joint

+Pivot bracket, double knuckle joint and auto
switch are shipped together with the product, but

not assembled.

Auto switch

Double knuckle j

Clevis

Pivot bracket

Weights
-
Spring return [kg] Spring extend [ka]
Bore size [mm] 20 25 32 40 Bore size [mm)] 20 25 32 40

25 st 0.17 0.27 0.40 0.63 25 st 0.16 0.25 0.38 0.59
50 st 0.19 0.30 0.45 0.71 50 st 0.18 0.28 0.43 0.67
75 st 0.26 0.40 0.58 0.91 75 st 0.24 0.37 0.54 0.83

Basic Basic

) 100 st 0.28 0.43 0.62 0.99 ) 100 st 0.26 0.40 0.58 0.91

weight weight
125 st 0.35 0.53 0.76 1.20 125 st 0.32 0.48 0.69 1.08
150 st — 0.56 0.81 1.28 150 st — 0.50 0.72 1.12
200 st — 0.69 0.98 1.56 200 st — 0.63 0.89 1.40
Axial foot 0.11 0.13 0.16 0.22 Axial foot 0.11 0.13 0.16 0.22

Mounting  ['gjange 008 | 010 | 014 | 020 Mounting  ['rjange 008 | 010 | 014 | 020

bracket - bracket -

weight Trunnion 0.01 0.02 0.03 0.05 weight Trunnion 0.01 0.02 0.03 0.05
Clevis 0.05 0.08 0.15 0.23 Clevis 0.05 0.08 0.15 0.23
Pivot bracket 0.08 0.09 0.17 0.25 Pivot bracket 0.08 0.09 0.17 0.25

Accessories | Single knuckle joint 0.05 0.09 0.09 0.10 Accessories | Single knuckle joint 0.05 0.09 0.09 0.10
Double knuckle joint (with pin) |  0.05 0.09 0.09 0.13 Double knuckle joint (with pin) |  0.05 0.09 0.09 0.13

Weight reduction for female rod end | -0.01 | -0.02 | -0.02 | -0.05 Weight reduction for female rod end | -0.01 | -0.02 | -0.02 | -0.05

Calculation (Example) CG1LN20-100SZ e Basic weight
(Foot, @ 20, 100 stroke) ®Mounting bracket weight

0.28 kg (o 20)
0.11 kg (Foot)

0.28 +0.11 =0.39 kg

33

O

Calculation (Example) CG1LN20-100TZ e Basic weight
(Foot, @ 20, 100 stroke)

®Mounting bracket weight

0.26 kg (o 20)
0.11 kg (Foot)

0.26 + 0.11 = 0.37 kg



Construction

Single Acting, Spring Return/Extend

Air Cylinder: Standard Type

Series CG1

Single acting, Spring return

it

\ |

i

[ -
@W ] ‘

Component Parts

Replacement Part: Seal

No. Description Material Note ® For single acting, spring return
1 | Rod cover Aluminium alloy Hard anodised L ) Part no.
— - No. | Description |Material
2 | Tube cover Aluminium alloy Hard anodised 20 25 32 40
Piston Aluminium alloy 15 | Piston seal | NBR | CGIN20-S-PS | CGIN25-S-PS | CGIN32-S-PS | CG1N40-S-PS
i Stainless steel  [Forg 20 or g 25 with built-in magnet ) i i
4 | Piston rod ” — ® For single acting, spring extend
Carbon steel® Hard chrome plating -
5 | Bushin Bearing allo Replacement parts/Seal kits are the same as standard type, double
9 g. y acting, single rod (with rubber bumper). Refer to page 11.
6 | Bumper Resin @ 32 or larger is
7 | Bumper Resin common.
8 | Wear rin Resin Note) Refer to the Specific Product Precautions on page 10 for Disassem-
9 bly/Replacement. Order with the kit number according to the bore
9 | Rod end nut Carbon steel Zinc chromated size.
10 | Return spring Steel wire Zinc chromated = The seal kit includes a grease pack (10 g).

11 | Spring guide

Aluminium alloy

12 | Spring seat

Aluminium alloy

13 | Plug with breathing hole Alloy steel Black zinc chromated
14 | Rod seal NBR
15 | Piston seal NBR
16 | Tube gasket NBR

Note) For cylinders with auto switches, the magnet is installed in the piston.
+ The material for @ 20, @ 25 cylinders with auto switches is made of stainless steel.

O

Order with the following part number when only the grease pack is

needed.
Grease pack part number: GR-S-010 (10 g)

34

Standard
Double Acting, Double Rod
CG1w

1(

Direct Mount

Double Acting, Single Rod
CG1R

With End Lock

[

Non-rotating Rod

Double Acting, Double Rod
CG1KW

1 Direct Mount, Non-rotating Rod |

Double Acting, Single Rod
CG1

CG1

=
=
3
=
&
=
=
g
c
=
£
o
w
=
£
B
<
@
>
£
w

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CG1

Basic

Spring return: CG1BN

Width across flats KA F_GA  Plug with fixed orifice RcP  GB
T\ g PR P &
o 2] 3 = 0
o% _ﬁt_(%__ | . o o$
W 4
Width across flats B1 AL ng \
A K [TA| \4xTC 1B
H S + Stroke F
ZZ + Stroke
Spring extend: CG1BN
Width across flats KA F GA RcP Plug with fixed orifice ~ GB
s a P
R AN o D) B o
os| T T - L - o3
w| [} L w
Q —L/='_ Q
Width across AL ng \
flats B1 A K TA| \4xTC TB|
H + Stroke S + Stroke F
ZZ + 2 Stroke
Female rod end
T (
R
H
ZZ + Stroke
[mm]
B . Stroke
ore size range A | AL | B1 C D E F |[GA|GB| H H1 | J K | KA MM NA | P
20 |Upto125| 18 |155| 13 | 14 8 |12 | 2 | 12 | 10 | 35 | 5 | 26 |[M4x07depth7| 5 6 | M8x125 |24 | 1/8
25 |Upto200] 22 [195[ 17 [165] 10 | 14 | 2 | 12 | 10 | 40 | 6 | 31 [M5x08depth75/ 5.5 | 8 [M10x1.25[29 | 1/8
32 |Upto200| 22 [195] 17 |20 12 18| 2 | 12 | 10 | 40 | 6 | 38 |[M5x08depth8] 5.5 | 10 | M10x1.25[ 355 1/8
40 |[Upto200| 30 |27 19 | 26 16 | 25 | 2 | 13 | 10 | 50 | 8 | 47 [Mex1depth12] 6 14 | M14x15 [44 | 1/8
. 1to50st |51to100st[101to 125 st|126t0 200st Female Rod End [mm]
Bore size
e L ue S[2z[ s [ZZ[S[2Z[STZZ TBoe|p [y sam HcB0st[sT o008t M0r 252510 2008
20 11 | 11 | M5x0.8 | 94 | 131 | 119 | 156 | 144 | 181 | — | — size ZZ ZZ ZZ ZZ
25 11 | 11 | M6x0.75 | 94 | 136 | 119 | 161 | 144 | 186 | 169 | 211 20 | 8[13|M4x07] 109 134 159 —
32 11 | 10 | M8x1.0 | 96| 138 [ 121 | 163 | 146 | 188 | 171 | 213 25 | 8|14 |M5x08] 110 135 160 185
40 12 | 10 | M10x1.25 | 103 | 155 | 128 | 180 | 153 | 205 | 178 | 230 32 [12]14|mM6x 1] 112 137 162 187
40 [13[15|M8x125] 120 145 170 195
35
ZSNC



With Mounting Bracket(

Air Cylinder: Standard Type
Single Acting, Spring Return/Extend

The rod is in retracted state for spring extend type.

Note) The drawings below show the single acting/spring return type.)

Series CG1

Axial foot: CG1LN

Double Acting, Single Rod
CG1

R =)
L '}
- g
HE |- iy z RER 2
[}
o
N 7 323
BloT
W 2x0LC W LX 8158
X |Y| (Knock pin position) Y| X M LZ 2
Y4 LS + Stroke 4x LD é
ZZ + Stroke 2
=
mm] | |5
Bore Stroke 1to50st | 51to 100 st | 101 to 125 st | 126 to 200 st S
sze | range | B | M |LC LD LHILT \LX | LZ| W X | Y |2 g7 s[zz|Ls][zz|Ls]zz | &
20 Up to 125| 34 3 4 6 20 3 32 44 10 | 15 7 47 70 |135 95 | 160 120 | 185 — — g
25 Upto200| 385 | 3.5 4 6 22 3 36 49 10 |15 7 52 70 |140.5| 95 |165.5| 120 |190.5| 145 |215.5 =S
32 Up to 200| 45 3.5 4 7 25 3 44 58 10 | 16 8 53 70 [1425| 95 (167.5| 120 |192.5| 145 |217.5 = =
40 Upto200| 54.5 | 4 4 7 30 3 54 | 71 10 [ 165 | 85 |635| 76 |160 101 | 185 126 | 210 151 | 235 E
o
By
0—11_
c
Rod flange: CG1FN O
3[:©
F FT 4xoFD =
£lo
] e 5
T T AN {%9 g &
H Pk N AR o%;
1 Vad X
8 © ] h o
=7 m| 3| — Eoe
Y J X i 0
N :0
N 2 o
L S | 2 =
H FX:o0.15 b Z
=1 =)
B Gl =
=2
[
Head flange: CG1GN 8£0
a ;0
4 x oFD %
w L o
Y ] o2 =
G 3
SIS S il i E
ol 5 L / L 2 &
x i t k 4 hN ]
[TH ‘(\“@K @/}’ % o
N 7 L ~
FX:0.15 H FT F X
=
B ZZ + Stroke _{—g’ o
wl m
g O
=
[mm] Rod Flange [mm]
Bore Stroke Bore zz p—
size range B E F FX | FD | FT H size 1 to 50 st|51to 100 st | 1010 125 st | 126 to 200 st =
20 Upto 125 | 40 12 2 28 5.5 6 35 20 131 156 181 — -g
25 Up to 200 44 14 2 32 5.5 7 40 25 136 161 186 211 (I;)
32 Upto200 | 53 18 2 38 6.6 7 40 32 138 163 188 213 o
40 Up to 200 | 61 25 2 46 | 6.6 8 50 40 155 180 205 230 2
= End boss is machined on the flange for gE. Head FIange (mm]
Bore zz g
Size 110 50 st|51t0 100 st| 101 to 125 st| 126 to 200 st 6
20 130 162 187 — o
25 143 168 193 218 @
32 145 | 170 | 195 | 220 B
40 163 | 188 | 213 | 238 =
36
ZS\NC



Series CG1

With Mounting Bracket

Rod trunnion: CG1 UN R~ Bracket mounting range
L an
T H '_ .
S O
o =
A=
i
o ' ﬂ*ﬁ . M[ — m
\
\ F
[
[
: | B |
z
ZZ + Stroke 4xoTF
TY +0.10
TW oTE o
Head trunnion: CG1TN
TR
B~ TS Bracket mounting range
ala ;
'5 o nln ~— ey
- 4 I T
SN e - i)
! - {@ 5 S—- -
=y =
I \
|— |'I
-
L N S /
"h 1 ] l, L e e :
Z + Stroke =
TX 4xoTF ZZ + Stroke
Tv o TY
TZ oTE 3*"° T™W
[mm]
Bore size |Strokerange| B | TDe8 |TE |TF |TH|TR|TS |TT| TV [TW|TX|TY |TZ
20 Upto125 [38 | 838 |10 [5.5] 25 (39 |28 [3.2((35.8) 42 | 16 | 28 |47.6
25 Up to 200 [45.5] 10385 | 10 |5.5[ 30 (43 | 33 [ 3.2 ((39.8)| 42 | 20 | 28 |53
32 Upto200 [54 | 12352 | 10 | 6.6 | 35 |54.5) 40 | 4.5 [(49.4)| 48 | 22 | 28 |67.7
40 Upto 200 [63.5) 14592 | 10 | 6.6 | 40 |65.5| 49 | 4.5 |(58.4)| 56 | 30 | 30 |78.7
Rod Trunnion mm] Head Trunnion [mm]
Bore z Y74 Bore 1to50st |511to 100 st 101 to 125 st| 126 to 200 st
size 1 to 50 st |51 to 100 st|101 to 125 st| 126 t0 200 st size Z Y44 Z Y44 4 o4 4 Y4
20 46 131 156 181 — 20 118 | 139 | 143 | 164 | 168 | 189 | — —
25 51 136 161 186 211 25 123 | 144 | 148 | 169 | 173 | 194 | 198 | 219
32 51 138 163 188 213 32 126 | 150 | 151 | 175 | 176 | 200 | 201 | 225
40 62 155 180 205 230 40 143 | 171 | 168 | 196 | 193 | 221 | 218 | 246

Clevis: CG1DN

= Constructed of pins, flat washers and hexagon socket head cap bolts.
* Other dimensions are the same as basic type.

= Constructed of pins, flat washers and hexagon socket head cap bolts.
= Other dimensions are the same as basic type.

Ccz
C-:o.1 TT 8xd L RR
L:'\\ oCD hole H1o
& T i =/ [Axis do
s & o TV \
T
(=
[
=
oy = ; _ L
Z + Stroke
4x oTF e oTE 01° ZZ + Stroke
TV TY
1Z i
. The above shows the case port location is changed by 90°.

Clevis ( . ged by 907.) [mm]
Bore Stroke 1to50st | 5110100 st | 101 to 125 st | 126 to 200 st
e range B |[CD|CZ| L |[RR|TE|TF|TH|TT| TV [TW|TX|TY| TZ Z 77 Z 77 Z 77 7 77
20 Upto 125| 38 8129|1411 ]10[55|25[3.2|(35.8)|42 |16 |28 | 43.4 | 143 | 164 | 168 | 189 | 193 | 214 — —
25 Upto200[45.5( 10 [ 33 | 16 [ 13 | 10 |5.5| 30 | 3.2 |(39.8)| 42 | 20 | 28 | 48 150 | 171 175 | 196 | 200 | 221 225 | 246
32 Upto200|54 |12 |40 |20 | 15|10 |6.6| 35 |4.5((49.4)| 48 |22 |28 | 59.4 | 156 | 180 | 181 | 205 | 206 | 230 | 231 | 255
40 Upto200(63.5| 14 |49 |22 | 18 | 10 |6.6| 40 |4.5|(58.4)| 56 | 30 | 30 | 71.4 | 175 | 200 | 200 | 228 | 225 | 253 | 250 | 278

= For dimensions of pivot bracket, refer to page 22. * Other dimensions are the same as basic type.

37

~
Z

SVC



Air Cylinder: Non-rotating Rod Type
Double Acting

Series CGT1K

o 20, 0 25, 0 32, o 40, o 50, o 63

How to Order

Type Cylinder stroke [mm] Pivot bracket
N Rubber bumper Refer to “Standard Strokes” on _ None
A Air cushion page 39. N Pivot bracket is shipped together with the product.
(o 40 to @ 63 only) # Only for D, U, T mounting types

# Pivot bracket is shipped together with the product, but not assembled.

N|25-[100
T 1 |
N|25-[100

B ccikB
[[ETE CDG1K B

M9BW| |-

With auto switch (Built-in magnet)l l . |—
. . Bore size Rod end bracket
Double acting, Non-rotating rod type Number of
i 20 |20 mm — None t itch
Mounting ® 25 |25 mm \'/ Single knuckle joint auto switches
B Basic G Head flange 32 |32 mm w Double knuckle joint — | 2pcs.
7+ Basic (without trunnion || U Rod trunnion 40 |40 mm #No bracket is provided for the female S 1 pe.
mounting female thread)|| T Head trunnion 50 | 50 mm rod end. n_ |“n” pcs.
L Axial foot D Clevis = Rod end bracket is shipped together .
F Rod flange 63 | 63 mm with the product, but not assembled. Auto switch
Note) M - kg — ) - suct b bled * A knuckle joint pin is not provided with | —_ | Without auto switch |
ote) Mounting bracket is shipped together with the product, but not assembled. the single knuckle joint. - -
= The cylinder for F, G, L, D mounting types is Z: Basic (without trunnion mounting female thread). 9 . * 'r:e?;risrt)rl::?:tl)?e i::gwswnches,
®Rod end thread :
Built-in Magnet Cylinder Model — Male rod end Made to Order ®
If a built-in magnet cylinder without an auto switch is required, F__| Female rod end For details, refer to page 39.

there is no need to enter the symbol for the auto switch.
(Example) CDG1KFA32-100Z

Applicable Auto Switches/Refer to the Auto Switches Guide for further information on auto switches.

g Load voltage Auto switch model Lead wire length [m]
. ) Electrical | 5 Wiring Applicable bore size Pre-wired '
Type|  Special function entry § (Output) DC AC Qf 20100 63. (0_5) ( |\1/| ) (E) (g) '\:?\T)e R Applicable load
£ Perpendicular In-line
3-wire (NPN) 5V 12V M9ONV M9N e @e|le|/O|—| O ic
= Grommet 3-wire (PNP) ’ M9PV M9P ® (00| O|— O circuit
£ o-wire 12V M9BV M9B ® /@@ O|—| O i
H Connector — H7C e | —| o0 0 —
=N o 3-wire (NPN) MONWV | MONW (| @  @/@®@|O|—| O IC
§ ?éafé'.%ﬁtﬁéﬂfﬂﬁﬁgﬁ)” Ves| 3-wire (PNP) | 24 v |2V 12V — MOPWV | MOPW | @ (@ |@|O|—| O | circuit RF?I'_%”
s 2-wire 12V MOBWV | MOBW | @  @e/®@ O |—| O —
g Water resistant Grommet S-wire (NPN) 5V,12V MONAV™| MONA™ | O | O | @ | O | — O IC
g (2-colour indication) 3-wire (PNP) ’ MOPAV**| MOPA** | O |O|@|O|—| O circuit
2-wire 12V M9BAV**| M9BA** | O |O |@|O|—]| O —
Diagnostic output (2-colour indication) 4-wire (NPN) 5V, 12V — H7NF ® | —|@® O O IC circuit
Wi |
. Ves (Equ:igv.‘l\tlgeNPN) — | sV - AgeV A%6 | ® | — @& — | — ) — cirguit -
.~§ Grommet 100 V A93V A93 e — o0 —| — —
) [No| 100 Vorless| A90V A90 ® |—|®|—|—| — |ICcircuit
2 - Yes| py [100V.200V[  — B54 (e |—|e|[e|—| — Rola
35 No|  2-wire 24V 200 V or less — B64 e —| @& —|—| — — PLCy,
] [Yes| — — C73C (e |— 0|0 |0 —
« Connector No 24V or less — c8o0C ®  —|® ® ® — |[Ccircui
Diagnostic indicafion (2-colourindication) | Grommet  [Yes — — — B59W e —|0 | —|—| — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m--c-eeoeeeeeene — (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.

1im: - M (Example) MONWM
3m- - L (Example) MONWL
Bmeeeeesennenne Z (Example) MONWZ
None:«-weveeveee N (Example) H7CN

= Since there are other applicable auto switches than listed above, refer to page 74 for details.
+ For details about auto switches with pre-wired connector, refer to the Auto Switch Guide.
* The D-A90JI/M90I0ICT auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

2 SVC 38

1

Standard
Double Acting, Double Rod
CG1w

Double Acting, Single Rod
CG1

CG1

Non-rotating Rod
Double Acting, Double Rod
CG1KW

1f

Direct Mount

Double Acting, Single Rod
CG1R

1( Direct Mount, Non-rotating Rod | [

With End Lock

[

Single Acting, Spring Return/Extend

CG1K

Double Acting, Single Rod

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CG1K

Symbol
Rubber bumper

Air cushion

—

==/}

\ | | |

Specifications

Bore size [mm]

| 32 | 40 | 50 | 63

Action Double acting, Single rod
Lubricant Not required (Non-lube)
Fluid Air

Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa

Ambient and fluid
temperature

Without auto switch: =10 °C to 70 °C
With auto switch

.10 °C to 60 °c (N0 freezing)

Piston speed

50 to 500 mm/s

Stroke length tolerance

+1.4 +1.8

Up to 1000 st "¢" mm, Up to 1500 st 5" mm

Cushion

Rubber bumper, Air cushion (g 40 to @ 63 only)

Rod non-rotating accuracy Note)

+1°

| z08° | £0.5°

Mounting

Basic, Basic (without trunnion mounting female thread),
Axial foot, Rod flange, Head flange,

Rod trunnion, Head trunnion,

Clevis (used for changing the port location by 90°)

Note) The values are for standard strokes.

T Accessories

Morder Made to Order
(For details, refer to pages 77 to 93.) Axial | Rod | Head | Rod | Head
Mounting Basic : .| Clevis
Symbol Specifications foot | flange | flange [trunnion|trunnion
-XAL | Change of rod end shape Standard Rod end nut [ J [ J [ J [ J [ [ ®
-XC8 | Adjustable stroke cylinder/Adjustable extension type™1 Clevis pin — e — — — — [ J
-XC9 | Adjustable stroke cylinder/Adjustable retraction type™* Single knuckle joint [ ] [ ] [ ]
-XC10 | Dual stroke cylinder/Double rod type D -
. ouble knuckle joint

-XC11 | Dual stroke cylinder/Single rod type*! Option (With pin) ° ° ° L4 L4 L4 L4
-XC12 | Tandem cylinder*1. *2 Pivot bracket — — — — ° ° °
"XC13| Auto switch rail mouning™ = A double knuckle joint pin and retaining rings are shipped together
-XC20 | Head cover axial port™! ] P grng PP o '
=-XC27 | Double clevis and double knuckle joint pins made of stainless steel St an d ard Str o ke s
#1 Only compatible with cylinders with rubber bumper.
2 The shape is the same as the existing product. [mm]

Use the existing seal kit. Bore size Standard stroke Note 1) Maximum manufacturable stroke Nete2)

20 25, 50, 75, 100, 125, 150, 200 201 to 1500
25

Refer to pages 68 to 74 for cylinders with 32

auto switches. 40 25, 50, 75, 100, 125, 150, 200, 250, 300 301 to 1500

e Auto switch proper mounting position

(detection at stroke end) and its mounting 50, 63

height
* Minimum stroke for auto switch mounting
 Auto switch mounting brackets/Part no.
* Operating range
* Cylinder mounting bracket, by stroke/
Auto switch mounting surfaces

39

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

Note 2) The maximum manufacturable stroke shows the long stroke.

Note 3) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection”. In addition, the products that exceed the standard stroke
might not be able to fulfill the specifications due to the deflection etc.

Ordering Example of Cylinder Assembly

Cylinder model: CDG1KDN20-100Z-NW-M9BW

Mounting

Pivot bracket
Rod end bracket
Auto switch D-M9BW: 2 pcs.

D: Clevis
N: Yes

W: Double knuckle joint

+Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,

but not assembled.

SVC

O

Auto switch

Clevis

Pivot bracket




Air Cylinder: Non-rotating Rod Type

Double Acting
Weights
-
kgl
Bore size [mm] 20 25 32 40 50 63
= Basic 0.10 0.17 0.26 0.41 0.77 1.07
2 Axial foot 0.21 0.30 0.42 0.63 1.25 1.79
i Flange 0.18 0.27 0.40 0.61 1.11 1.57
o Trunnion 0.11 0.19 0.29 0.46 0.91 1.21
@ Clevis 0.15 0.25 0.41 0.64 1.17 1.75
Pivot bracket 0.08 0.09 0.17 0.25 0.44 0.80
Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22
Double knuckle joint (with pin) 0.05 0.09 0.09 0.13 0.26 0.26
Additional weight per 50 mm of stroke |  0.05 0.07 0.09 0.15 0.22 0.26
Additional weight with air cushion — — — 0 0.01 0.04
Additional weight for long stroke 0.01 0.01 0.02 0.03 0.06 0.12
Weight reduction for female rod end | -0.01 -0.02 -0.02 -0.05 -0.10 -0.10
Calculation (Example) CG1KLN20-100Z eBasic weight ««eweoeeeereenens 0.21 (Foot , @ 20)

(Foot, @ 20, 100 stroke)

® Additional weight -
o Air cylinder stroke--««-----

.-~ 0.05/50 stroke
100 stroke

0.21 + 0.05 x 100/50 = 0.31 kg

Mounting Brackets/Part No.

Series CG1K

Mounting | Order Bore size [mm] Contents

bracket q'ty. 20 25 32 40 50 63

. 2 foots

Not . - . - i - ’
Axial foot 2 Note)|  CG-L020 CG-L025 CG-L032 CG-L040 CG-L050 CG-L063 8 mounting bolts
1 flange,
Flange 1 CG-F020 CG-F025 CG-F032 CG-F040 CG-F050 CG-F063 4 mounting bolts
. . 2 trunnion pins, 2 trunnion bolts,
Trunnion pin 1 CG-T020 CG-T025 CG-T032 CG-T040 CG-T050 CG-T063 5 flat washers
. 1 clevis, 4 mounting bolts,

Clevis 1 CG-D020 CG-D025 CG-D032 CG-D040 CG-D050 CG-D063 1 clevis pin, 2 retaining rings
Pivot bracket 1 CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | 1 pivot bracket

Note) Order two foots per cylinder.

O
2

40

Standard
Double Acting, Double Rod
CG1w

Double Acting, Single Rod
CG1

1( Non-rotating Rod
Double Acting, Double Rod
CG1KW

Direct Mount

Double Acting, Single Rod
CG1R

1 Direct Mount, Non-rotating Rod |

With End Lock

[

Single Acting, Spring Return/Extend

CG1K

Double Acting, Single Rod

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CG1K

Construction

With rubber bumper

L

i

i

i

%

With air cushion

o 20to o 32

Wi

|

1l

i/

11

. oY

Long stroke

®

\ %) %)
L IS2A
Long stroke
Component Parts Replacement Parts: Seal Kit
No. Description Material Note Bore size [mm] Kit no. Contents
1 | Rod cover Aluminium alloy Hard anodised 20 CG1KN20Z-PS
25 CGiKNasz-ps | Setofthe
2 | Tube cover Aluminium alloy Hard anodised 32 CGIKN32ZPS nos.
3 | Piston ASIltJn.leum ?Iloly —— e t 40 CGTKNAOZFS @®, @, @
4 | Piston rod aniess s ei Orp =0 0ore =5 Wi u'_ -|n*magne Note) Refer to the Specific Product Precautions on
Carbon steel Hard chrome plating page 10 for Disassembly/Replacement.
5 | Non-rotating guide Bearing alloy Order with the kit number according to the
6 | Bumper Resin @ 32 or larger is common pore s_izg.
7 | Bumper Resin ¢] . x The seal_ kit includes agrease pack (10 g).
. - Order with the following part number when only
8 | Wear ring Resin the grease pack is needed.
9 | Rod end nut Carbon steel Zinc chromated Grease pack part number: GR-S-010 (10 g)
10 | Seal retainer Rolled steel Zinc chromated
. @ 40 or smaller| Carbon steel Electroless nickel plating
11 | Cushion valve - -
@ 50 or larger Steel wire Zinc chromated
12 | Steel ball Carbon steel
13 | Cushion seal A Urethane .
" @ 32 or larger is common.
14 | Cushion seal B Urethane
15 | Cushion seal holder Aluminium alloy
16 | Head cover Aluminium alloy Hard anodised
17 | Cylinder tube Aluminium alloy Hard anodised
18 | Rod seal NBR
19 | Piston seal NBR
20 | Tube gasket NBR
21 | Valve seal NBR

Note) For cylinders with auto switches, the magnet is installed in the piston.
x The material is stainless steel for o 20 to @ 32.

41

SVC

O



Air Cylinder: Non-rotating Rod Type

Series CG1K

Double Acting
Basic
BE
With rubber bumper S
[=]
2 20to o0 63 t,E{,_
Width across flats KA F_GA 2xRcP 9& 8xdJ gg
MM H1 | <
) T 2
o 8
of NI ®
S = 114 )
o EEEe———— :
& =5= L ko] %
% s(8 ;
Width across AL Qy g ?6
flats B1 A TA 4xTC o120
H S + Stroke %
ZZ + Stroke 5
With air cushion s
2 40 to o 63 WA 2xP B
Width across flats KA F |GA Cushion valve, Width across flats WH §8
MM H1 »_Iéb g
9 || ¥
) = . . . -
8 ~ ° With Air Cushion [mm] (~
] K/ - - - o
Wl ESIA Boe lwa| we |we|wH | [ o
£
wicth across AL || \ 40 | 17 [15(7) | 20° |15 | |
flats B1 A TA 4xTC B 50 18 |16 (18) | 20° | 3 - EO
H S + Stroke F C 63 18 | 17(18) . 20° . 3 c %
77 + Stroke NA Note) (): Denotes the dimensions 2P
for long stroke. S
ol o
Female rod end MM Female Rod End [mm] |S E;
thread depth A1 Bore Z|3 v
=ty : A1 H MM Y74 e
L Size or
< 20 8 | 13| Max07 | 84(92) 0]
J:| Nand ) 25 | 8 | 14 | M5x08 | 85(93) 20
o[BS 32 | 12 | 14| Mex1 | 8795 | |8
O T 40 | 13 | 15 | M8x1.25 | 95(104) [ (g
50 18 | 16 | M10x15 [108(120) ||
H 63 | 18 | 16 | Mi10x15 |108(120) |3|2aC
ZZ + Stroke Z|0 =
Strok — £ %G
Bore | Bokerange | o 1ay |B1|C | D |E | F |GA| GB | H |H1| I J KAl MM |NA[P| s |TA|TB| TC | zz |50
size  [Standard| Long stroke El
20 |Upto200{201t0 1500 18 [15.5/ 13 |14 | 9.2| 12| 2 10(12)] 35| 5|26 | M4x0.7depth7 | 8| M8x 1.25 |24 [1/8|69 (77)| 11| 11 M5 x 0.8 [106(114) [ a
25 |Upto300{301to 1500 22 [19.5| 17 |16.5(11 |14 | 2 10 (12)[ 40| 6|31 |[M5x0.8depth7.5|10 |M10x 1.25(29 [1/8|69 (77)| 11| 11 | M6x0.75 [111(119) (=
32 |Upto300[301 10 1500] 22 [19.5] 17 |20 |12 [18] 2 10(12)[ 40| 6 (38| M5x08depth8 |10 [M10x 1.25[355[1/8|71 (79) [ 11 [10 (1) M8x 1.0 [113(121) |’
40 |Upto300[301101500] 30 [27 [19 (26 [16 [25] 2 10(13)[50 | 847 | M6x1depth12 [14 [ M14x 1.5 [44 [1/8[78 (87)[ 12 [10 (12)[M10x 1.25[130 (139) |& §
50 |Upto300{301t01500{ 35 [32 |27 |32 (20 |30 | 2 12 (14)| 58 | 11 | 58 M8 x 1.25 depth 16| 18 | M18 x 1.5 |55 |1/4(90 (102)| 13 |12 (13)|M12 x 1.25|150 (162) é -
63 |Upto300/301t0 1500{ 35 |32 |27 |38 |20 |32 | 2 12 (14)] 58 | 11 | 72 [M10x 1.5depth 16| 18 | M18 x 1.5 |69 |1/4|90 (102)| 13 |12 (13)| M14 x 1.5 |150 (162) | €| (0]
Note 1) Dimensions for each mounting bracket are the same as those for the CG1 standard or long stroke model. Refer to pages 14 to 20. = o
Note 2) ( ): Denotes the dimensions for long stroke. £
_ =
/A Precautions .
=== r e e e e e e e e e e e e e e E e e e e e e e e E e e e E e e EE e ————— - S ™
1 Be sure to read this before handling. Refer to the back cover for Safety Instructions. For Actuator and Auto Switch | E g
1 Precautions, refer to “Handling Precautions for SMC Products” and the Operation Manual on SMC website, sl O
1 http /lwww.smc.eu _: =
= Caution on handling/disassembly is provided in addition to that shown below. Refer to page 10. T
| Handling/Disassembly | S
A\ Caution that protrudes. Tighten it by giving consideration to prevent the tightening &
1. Avoid using the air cylinder in such a way that torque from being applied to the non-rotating guide. / g
rotational torque would be applied to the piston rod. j <
o |f rotational torque is applied, the non-rotating guide will become deformed,
thus affecting the non-rotating accuracy. Refer to the table below for the o
approximate values of the allowable range of rotational torque. e g
Allowable rotational torque 220 925,032 | 240,050,063 - : )
(N-m or less) 0.2 0.25 0.44 2. When replacing rod seals, please contact SMC. ©
. ) L . o
® To screw a bracket or a nut onto the piston rod, make sure to retract the Air leakage may be happened, depending on the position in which a S

piston rod entirely, and place a wrench over the flat portion of the rod

%

<7

rod seal is fitted. Thus, please contact SMC when replacing them.

SVC

42




Air Cylinder: Non-rotating Rod Type
Double Acting, Double Rod

Series CGTKW

o 20, 0 25, 0 32, o 40, o 50, o 63

How to Order

280z
[ sd CDG1KW[L| N [25/-[100]Z-[M9BW

With auto switch l
(Built-in magnet) Number of
N atl dt auto switches
on-rotating rod type — T2p0s,
. S 1 pc.
Double acting, Double rod type —
n n” pcs.
Mountinge———— .
- J eAuto switch
B Basic | | without auto switch
Z* | Basic (without trunnion mounting female thread) Typee — fhou aufo swite
. = For applicable auto switches, refer to
L Axial foot l N [ Rubber bumper‘ the table below.
F Flange
U Trunnion Bore size ® oCylinder stroke [mm]
 Mounting bracket is shipped together with the 20 |20 mm Refer to “Standard Strokes” on page 44.
product, but not assembled.
# The cylinder for F, L mounting types is Z: Basic 25 | 25 mm Built-in Magnet Cylinder Model
(without trunnion mounting female thread). 32 (32 mm
20 | 40 mm If a built-in magnet cylinder without an auto
switch is required, there is no need to enter the
50 | 50 mm symbol for the auto switch.
63 [63mm (Example) CDG1KWFN32-100Z
Applicable Auto Switches/Refer to the Auto Switch Guide for further information on auto switches.
k=4 Load voltage Auto switch model Lead wire length [m]
. ' Electrical | 5 Wiring Applicable bore size Pre-wired '
Type|  Special function entty | ®| (Outpuy DG AG 220 00 63 0.5 | 1 | 3|5 [None|oo o | Applicable load
] : . =) [((M)| L) | @) ] (N)
£ Perpendicular In-line
3-wire (NPN) 5V 12V MINV M9N ® ®@¢/® O|—| O IC
- Grommet 3-wire (PNP) ’ M9PV M9P ® e/ @®@ O|—| O circuit
£ oowire 1oV MBV | MB | e (@|[@|O[—| O B
H Connector — H7C o —| o006 —
2 3-wire (NPN) MONWV | MONW | ® (@@ O | —| O IC
= | Diagnostic indication - 5V, 12V - | Relay,
© R — — t
2 | (2-colour indication) Yes| 3-wire (PNP) 24V MOPWV | M9PW | @ (@ | ® O O circui PLC
s 2-wire 12V MSBWV | M9BW | @ @ | ® O | — O —
2 W ) Grommet 3-wire (NPN) 5V 12V MINAV**| MONA** | O |O|®@|O|—| O IC
3 ater resistant 3-wire (PNP) ‘ M9PAV**| MOPA** | O [O @ |O|—| O | circuit
o | (2-colour indication) - = =
2-wire 12V M9BAV**| M9BA O|C|@|O|— O —
Diagnostic output (2-colour indication) 4-wire (NPN) 5V,12V — H7NF ® | —| @O O |IC circuit
3-wire IC
o Yes| Equiv.toNpN) [ — | BV - A96V A% | @ \— @& — —| — || —
£ Grommet | 100 V A93V A3 | o | — @0 —| — —
- No 100 Vorless| A90V A90 [ J ® | —|—| — |ICcircuit
o ||
g [Yes| _ 4oy 100V, 200V B54 | @ o0 Relay,
5 No 2-wire 24V 200 V or less — B64 ® | —|0 | —|—| — — PLC
¢ Connector E — — C73C o —e/0 0 —
o No 24 V or less — Cc80C ® —|®|® | ®| — |(Ccircuit
Diagnostc indication (2-colour indication)] Grrommet | Yes — — — B59W ® | —|0 — — — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m--«eeeoveeeeene — (Example) MONW x Solid state auto switches marked with “O” are produced upon receipt of order.
-+ M (Example) MONWM
- L (Example) MONWL

- Z (Example) MONWZ
N (Example) H7CN
# Since there are other applicable auto switches than listed above, refer to page 74 for details.
* For details about auto switches with pre-wired connector, refer to the Auto Switch Guide.
* The D-A90I0)/M9ITITI auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

43 Z;SVC




Air Cylinder: Non-rotating Rod Type
Double Acting, Double Rod

Series CGT1KW

Specifications ;
2
Bore size [mm] 20 | 25 | 32 | 40 | 50 | 63 216
Action Double acting, Double rod %O
Lubricant Not required (Non-lube) 5
Fluid Air =
Proof pressure 1.5 MPa E
Maximum operating pressure 1.0 MPa }% g;
Symbol Minimum operating pressure 0.08 MPa § é’g
. . <
[ 4 ﬂ Bl Piston speed 50 to 500 mm/s é
— | Stroke length tolerance Up to 1000 st *5* mm, Up to 1500 st *4® mm s
‘ ‘ Cushion Rubber bumper g,(‘;
Rod non-rotating accuracy Note) +1° | +0.8° | +0.5° %Q
Mounting Ba§ic, Basic (without trur‘mion mounting female thread), i
Axial foot, Flange, Trunnion E

* Foot and flange types of cylinder sizes from @ 20 to @ 63 do not have trunnion mounting female
thread. Operate the cylinder within the allowable kinetic energy. Refer to page 24 for details.
Note) The values are for standard strokes.

Double Acting, Single Rod
CG1K

Refer to pages 68 to 74 for cylinders with . -
auto switches. Accessories &

* Auto switch proper mounting position %’
(detection at stroke end) and its mounting Mounting Basic | Axial foot | Flange | Trunnion | |SfE
height < e

* Minimum stroke for auto switch mounting Standard | Rod end nut d d bt d 2k

* Auto switch mounting brackets/Part no. Single knuckle joint [ [ [ J ([ ] S

* Operating range . — . 3

« Cylinder mounting bracket, by stroke/ Option Double knuckle joint (with pin) ® [ [ ([ %
Auto switch mounting surfaces Pivot bracket — — — [ J §

= A double knuckle joint pin and retaining rings are shipped together. = 3
— o
cle
Weights Standard Strokes g5
— -—
[k] mm] |8|EG
A Al
Bore size [mm] 20 | 25 | 32 | 40 | 50 | 63 Bore size Standard stroke Note 1) Maximum manufacturable stroke Vo2 | |=| 2 o
5 Basic 0.13) 0.22] 0.33] 0.55| 1.02) 1.37 20 25, 50, 75, 100, 125, 150, 200 201 to 1500 HE
g Axial foot 0.24| 0.35| 0.49| 0.77| 1.50| 2.09 25 E
% Flange 0.21| 0.32| 0.47| 0.75| 1.36| 1.87 Eé’ o
& Trunnion 0.14| 0.24] 0.36] 0.60| 1.16| 1.51 32 25, 50, 75, 100, 125, 150, 200, 301 10 1500 gl ¢
Pivot bracket 0.08| 0.09| 0.17] 0.25 0.44| 0.80 40 250, 300 =
Single knuckle joint 0.05| 0.09| 0.09| 0.10| 0.22| 0.22 50, 63 § O
Double knuckle joint (with pin) 0.05| 0.09] 0.09] 0.13] 0.26] 0.26 Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. g
Additional weight per 50 mm of stroke | 0.07| 0.10| 0.13| 0.23| 0.34| 0.38 (Spacers are not used.) —
Weight reduction for female rod end |-0.02|-0.04|-0.04|-0.10]-0.20]-0.20 Note 2) The maximum manufacturable strol_<e shows the _Iong stroke. .
- - - Note 3) Applicable strokes should be confirmed according to the usage. ]
Calculation (Example) CG1KWLN32-100Z 'BaSIf:.WEIght---.- """"""" 0.49 (Foot, o 32) For details, refer to “Air Cylinders Model Selection”. In addition, the |2 6
(Foot, 2 32, 100 stroke) ®Additional weight.-------0.13/50 stroke products that exceed the standard stroke might not be able to fulfill E o
* Air cylinder stroke-------100 stroke the specifications due to the deflection etc. =l O
0.49 + 0.13 x 100/50 = 0.75 kg ;
Mounting Brackets/Part No. S
-
§
Mounting | Order Bore size [mm] =
bracket qty 20 25 32 40 50 63 Contents %
i}
Axialfoot | 2Note)|  CG-L020 CG-L025 CG-L032 CG-L040 CG-L050 cG-Loss | 2foots, 3
8 mounting bolts <
Flange 1 CG-F020 CG-F025 CG-F032 CG-F040 CG-F050 ca-Foes | | flange, N
4 mounting bolts [
— - ]
Tunnionpin | 1 | CG-T020 | CGTO25 | CGT0382 | CGT040 | CGTOSO | CG-Toe3 | 5 frnnion pins, 2trunnion bolts S
at washers e
Pivot bracket 1 CG-020-24A | CG-025-24A | CG-032-24A | CG-040-24A | CG-050-24A | CG-063-24A | 1 pivot bracket §
Note) Order two foots per cylinder. =

O

SVC

44




Series CGT1KW

Construction

griaNide

\ - \ i ) \LJ, i
= -
=
0 20to o 32
Component Parts Replacement Parts: Seal Kit
No. Description Material Note Bore size [mm] Kit no. Contents
1 | Rod cover A Aluminium alloy Hard anodised 20 CG1KWN20Z-PS Set of the
2 | Rod cover B Aluminium alloy Hard anodised 25 CG1KWN25Z-PS nos.
3 C.ylinder tube AIum?n?um alloy Hard anodised 23 ggm‘xsigigg @, 2, @3,
4 | Piston Alun.wlnlum alloy Note) Refer to the Specific Product Precautions on
5 | Piston rod A Stainless steel @ 32 or smaller page 10 for Disassembly/Replacement.
Carbon steel*® Hard chrome plating® @ 40 or larger Order with the kit number according to the
6 | Piston rod B Stainless steel | For @ 20 or @ 25 with built-in magnet bore size.
Carbon steel™* Hard chrome plating™® *The Seal. Kit Includes agrease pack (10 g).
Order with the following part number when only
7 | Non-rotating guide Bearing alloy the grease pack is needed.
8 | Bushing Bearing alloy Grease pack part number: GR-S-010 (10 g)
9 | Bumper Resin
10 | Rod end nut Carbon steel Zinc chromated
11 | Rod seal A NBR
12 | Rod seal B NBR
13 | Piston seal NBR
14 | Tube gasket NBR

= The material is stainless steel for g 20 to o 32.
#+ The material for @ 20, @ 25 cylinders with auto switches is made of stainless steel.
=#x For cylinders with auto switches, the magnet is installed in the piston.

45

O
2



Air Cylinder: Non-rotating Rod Type .
Double Acting, Double Rod Series CG 1K W

Basic with Rubber Bumper: CG1KWBN

Double Acting, Single Rod
CG1

Width across flats KB F GA 2xRcP GA F  Width across flats KA
MM H1 a T T o H1 MM
Q Q
— = r— °
2 PHieNAY i R :
u | TN PSS ‘ RS 7 © ok
i i e 5l
O, \ > g T
Width across AL & &7 AL Width across Sls S
flats B1 A TA 4xTC TA K A flats B1 <0
| -z = || i)
H S + Stroke H + Stroke g
ZZ + 2 Stroke =
2y
Bore size |Strokerangel A |AL|B1 | C | D |[DK| E | F |GA| H1 | | J K |KA | KB MM NA| P | S g
k=
20 Upto 1500 | 18 [15.5| 13 |14 8 9.2 12 2 12 5|26 | M4x0.7depth7 | 5 6 8 | M8x1.25 |24 1/8 | 77 L §
25 Upto 1500 | 22 [19.5| 17 |16.5] 10 |11 14 | 2 12 6 | 31 |[M5x 0.8 depth 7.5| 5.5 8 | 10 | M10x1.25 |29 18| 77 [ 3
32 Upto 1500 | 22 [19.5| 17 |20 12 |12 18 | 2 12 6 | 38 | M5x0.8depth8 | 55| 10 | 10 | M10x1.25 [355| 1/8 | 79 Z
[=]
40 Up to 1500 | 30 (27 19 (26 16 |16 25| 2 13 8 | 47 | M6 x 1depth12 | 6 14 | 14 | M14x 1.5 |44 1/8 | 87 (%E
50 Up to 1500 | 35 |32 27 |32 20 |20 30| 2 14 | 11 | 58 | M8x 1.25depth 16 | 7 18 | 18 | M18x 1.5 |55 1/4 |1 102 _cg_”(y
63 Up to 1500 | 35 |32 27 |38 20 |20 32 2 14 | 11 | 72 [M10x1.5depth 16| 7 18 | 18 | M18x 1.5 |69 1/4 1102 |3 %0
c|s
[mm] g8
Note 1) Dimensions are the same as those for the CG1W standard. Refer to page 29. T e
Bore size | TA TC H | 2z 2
= o
SEES
20 11 | M5x0.8 | 35 | 147 “BY
25 11 | M6x0.75 | 40 | 157 er
32 11 | M8x1.0 | 40 | 159 §8
40 12 | M10x1.25| 50 | 187 s
o
50 13 | M12x1.25| 58 | 218 —
63 13 M14 x 1.5 58 | 218

A\ Precautions

r =
1 Be sure to read this before handling. Refer to the back cover for Safety Instructions. For Actuator and Auto Switch |
1 Precautions, refer to “Handling Precautions for SMC Products” and the Operation Manual on SMC website, |
L http://www.smc.eu !

e o Em Em Em Em Em Em Em Em Em Em Em Em Em Em Em Em Em Em RN R Em R Em Em Em Em Em Em Em e Em Em A mm mm e mm e e e e e ]

= Caution on handling/disassembly is provided in addition to that shown below. Refer to page 10.
Handling/Disassembly

/A Caution

1. Avoid using the air cylinder in such a way that 2. When replacing rod seals, please contact SMC.
rotational torque would be applied to the piston rod. Air leakage may be happened, depending on the position in which

® |f rotational torque is applied, the non-rotating guide will become a rod seal is fitted. Thus, please contact SMC when replacing
deformed, thus affecting the non-rotating accuracy. Refer to the them.

table below for the approximate values of the allowable range of
rotational torque.

Allowable rotational torque 220 925,032 | 040,050,063
(N-m or less) 0.2 0.25 0.44

® To screw a bracket or a nut onto the piston rod, make sure to
retract the piston rod entirely, and place a wrench over the flat
portion of the rod that protrudes. Tighten it by giving consideration
to prevent the tightening torque from being applied to the non-
rotating guide.

Z;SMC 46

Direct Mount

Double Acting, Single Rod
CG1R

CG1KR

1 Direct Mount, Non-rotating Rod |

With End Lock
CBG1

[

Auto Switch

‘ Made to Order




Air Cylinder: Direct Mount Type
Double Acting

Series CG1R

o 20, 0 25, 0 32, o 40, o 50, o 63

How to Order

With auto switch (Built-in magnet)

Type
N Rubber bumper
A Air cushion

Cylinder stroke [mm] e
Refer to “Standard Strokes” on page 48.

Built-in Magnet Cylinder Model

25

Z_

|

1(|)0

25

100

Z_

Bore size

20

20 mm

25

25 mm

32

32 mm

40

40 mm

50

50 mm

63

63 mm

If a built-in magnet cylinder without an auto switch is required,
there is no need to enter the symbol for the auto switch.
(Example) CDG1RA32-100Z

—

I Rod end bracket

M9BW
L

— None
\'/ Single knuckle joint
w Double knuckle joint

rod end.

with the product, but not assembled.
= A knuckle joint pin is not provided with

the single knuckle joint.
®Rod end thread
— Male rod end
F Female rod end

Applicable Auto Switches/Refer to the Auto Switch Guide for further information on auto switches.

« No bracket is provided for the female

L

Number of auto
switches

2 pcs.

1 pc.

“an

n” pcs.

S
n

eAuto switch

* Rod end bracket is shipped together l — [ Without auto switch l

= For applicable auto switches,
refer to the table below.

Made to Order ¢

For details, refer to page 48.

g Load voltage Auto switch model Lead wire length [m]
. . Electrical | 5|  Wiring Applicable bore size Pre-wired .
Type|  Special function eriiry 8| (output DG AC 220100 63 05| 1 |3 |5 [None|o oo Applicable load
= : : (=) [(M) [ (L) [ (2) [(N)
= Perpendicular In-line
3-wire (NPN) 5V 12V M9NV M9N ® & e O — ©) IC
- Grommet 3-wire (PNP) ' M9PV MOP ® ®@¢/® O|—| O circuit
£ oowire 1oV MBY | MOB | @ @ ® O|—| O _
% Connector — H7C o — 000 —
e 3-wire (NPN) MONWV | MONW | @ (@|®@|O|—| O IC
= | o
= ?;agggitrlcmlgﬂ;:gi? Yes| 3-wire (PNP) | 24 v |2V 12V — MOPWV | MOPW | @ (@ |®@|O|—| O | circuit RPell_?’
I 2-wire 12V M9BWV | M9BW ® 0 0 O — O —
: Wat stant Grommet 3-wire (NPN) 5V 12V MONAV**| MONA** | O |O | @ | O |— ©) IC
@ 2-wire 12V M9BAV**| MOBA** | O [O0|e@|o[—| © —
Diagnostic output (2-colour indication) 4-wire (NPN) 5V,12V = H7NF ®@ | —|®|O|—| O |ICcircuit
3-wire IC
- Yes| (Equiv. to NPN) | 5V - A96V A96 e~ —— — circuit -
£ Grommet | 100 V A93V A3 (e |—@e|@® | —| — —
z No 100 Vorless| A90V A90 ® | —| 0| —|— — |IC circuit
o | NO |
2 [Yes| . oy 100V.200V[  — B54 (e |—[e[e| [ — Rolay,
= No 2-wire 24V 200 V or less — B64 ® | —| 0| —|—| — — PLC
8 Connector E — — C73C ® — 000 —
No 24 V or less — ®  — 0 0 e — |IC circuit
- C80C c
Diagnostic indication (2-colour indication)| Grommet | Yes — — = B59w | e | —| @ |—|—| — —

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m--«eeeoeeeeene — (Example) MONW

M (Example) MONWM
- L (Example) MONWL
- Z (Example) MONWZ
N (Example) H7CN

« Solid state auto switches marked with “O” are produced upon receipt of order.

* Since there are other applicable auto switches than listed above, refer to page 74 for details.
* For details about auto switches with pre-wired connector, refer to the Auto Switch Guide.
* The D-A90JI/M90IOIO auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

47

O

SVC



Air Cylinder: Direct Mount Type .
Double Acting Series CG 1 R

Specifications 3
k)
The CG1R direct mount cylinder 2~
. . Bore size [mm 20 25 32 40 50 63 3
can be installed directly through L] | | . | _ | | §8
Action Double acting, Single rod <
the use of a square rod cover. Lubricant Not required (Non-lube) ‘_g’
o
Fluid Air =
- - o
Space-saving has been realized. Proof pressure 1.5 MPa <
X . o|S8
Because it is a directly mounted style without Maximum operating pressure 1.0 MPa 8|8 E
using brackets, its overall length is shorter, Minimum operating pressure 0.05 MPa § £Q
and its installation pitch can be made smaller. ; ; . _— o o <0
Thus, the space that is required for fembient and fluid Without auto switch: ~10 7C 1o 70 °C (6 freezing) g
. . p . q temperature With auto switch  : =10 °C to 60 °C 8
installation has been dramatically reduced. -
Piston speed 50 to 1000 mm/s E
=
Stroke length tolerance Up to 300 st *§* mm s
Cushion Rubber bumper, Air cushion g(‘;
20
%
Standard Strokes ==
el
mm] | |2
Symbol Bore size Standard stroke™ (%’z
20 25, 50, 75, 100, 125, 150 8’6
Rubber bumper 5
25, 32 25, 50, 75, 100, 125, 150, 200 3g|<O
gle
:":ﬂ H 40, 50, 63 25, 50, 75, 100, 125, 150, 200, 250, 300 g§
# Please consult with SMC for strokes which exceed the standard stroke length. g E
‘ ‘ Note 1) Intermediate strokes not listed above are produced upon receipt of order. s
Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.) |2 g ;
Air cushion Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air q!
Cylinders Model Selection”. In addition, the products that exceed the standard stroke 7=
might not be able to fulfill the specifications due to the deflection etc. %8
\ \ (E
= ©
- " Sh=
Mmade 10 Tlghtenlng_] Torq Ue: Tighten the cylinder mounting bolts with the following tightening torque. |2 g?_’:
order | Made to Order — ™ 265
(For details, refer to pages 77 to 93.) : : - g £ O
Bore size [mm] |Hexagon socket head cap screw size Tightening torque [N-m] O
Symbol Specifications 20 M5 x 0.8 241036 §
-XA[O | Change of rod end shape 25 M6 421062 =
-XB6 | Heat res-istant cyl.inder (-10to 150 DC,)*Z. 32 Ve 10010 15.0 §
-XB7 | Cold resistant cylinder (40 to 70 °C)*1. *3 3 E
-XB9 | Low speed cylinder (10 to 50 mm/s)*1. *3 40 M10 19.61029.4 é -
-XB13 | Low speed cylinder (5 to 50 mm/s)*1. *3 50 M12 33.61t050.4 § (O]
-XC6 | Made of stainless steel 63 M16 84.8 to 127.2 = o
-XC8 | Adjustable stroke cylinder/Adjustable extension type™! =
-XC9 | Adjustable stroke cylinder/Adjustable retraction type™ [
-XC13 | Auto switch rail mounting™? R . S
o
XC20 | Hoad cover axial port™ Orderlng_; Example of Cylinder Assembly g
-XC22 | Fluororubber seal o m
, . gl O
-XC85 | Grease for food processing equipment Cylinder model: CDG1RN20-100Z-W-M9BW £
#1 Only compatible with cylinders with rubber bumper.

[

%2 Cylinders with rubber bumper have no bumper.
%3 The shape is the same as the existing product.

=
Use the existing seal kit. S
3
Refer to pages 68 to 74 for cylinders with . »n
e ey Rod end bracket W: Double knuckle joint Auto switch L]
- - — Auto switch D-M9BW: 2 pcs. 2
* Auto switch proper mounting position
(detection at stroke end) and its mounting * Double knuckle joint and auto switch are
height shipped together with the product, but not Double knuckle joint ]
o2 . . o°
» Minimum stroke for auto switch mounting assembled. 5
* Auto switch mounting brackets/Part no. o
* Operating range °©
» Cylinder mounting bracket, by stroke/ B
Auto switch mounting surfaces =

SMC 48

O



Series CG1R

Weights Accessories
-
[kg]
Bore size [mm] 20 25 32 40 50 63 Mounting Basic

Basic weight 0.14 0.23 0.35 0.57 1.04 1.49 Standard | Rod end nut PS

Single knuckle joint 0.05 0.09 0.09 0.10 0.22 0.22 Single knuckle joint P

Double knuckle joint (with pi 0.05 0.09 0.09 0.13 0.26 0.26 i

ouble knuckle joint (with pin) Option | Double knuckle joint*

Additional weight per 50 mm of stroke 0.05 0.07 0.09 0.14 0.21 0.25 (with pin) [ J

Additional weight with air cushion 0 0.01 0.04 0 0.01 0.04 — —

Weight reduction for female rod end | -0.01 | -0.02 | -0.02 | -0.05 | -0.10 | -0.10 :\h?p‘:)‘;bd'et;g;ﬂgf joint pin and retaining rings are
Calculation (Example) CG1RN32-100Z  eBasic weight ............. 0.35 '

(2 32, 100 stroke) eAdditional weight........ 0.09/50 stroke
e Air cylinder stroke....... 100 stroke
0.35 + 0.09 x 100/50 = 0.53 kg
/\ Precautions
e R e R R e R N R R R RN R e R RN RN R R e R R R R M e R ey

1 Be sure to read this before handling. 1
1 Refer to the back cover for Safety Instructions. For Actuator and Auto Switch Precautions, refer to “Handling Precau- 1
I tions for SMC Products” and the Operation Manual on SMC website, http:/www.smc.eu 1

R |

* Caution on handling/disassembly is provided in addition to that shown below. Refer to page 10.

Handling/Disassembly

/\ Caution

When a cylinder is operated with one end fixed and the other free, a bending moment may act on the cylinder due to
vibration generated at the stroke end, which can damage the cylinder. In such a case, install a mounting bracket to
suppress the vibration of the cylinder body or reduce the piston speed so that the cylinder does not vibrate. Also, use a
mounting bracket when moving the cylinder body or when a long stroke cylinder is mounted horizontally and fixed at
one end.

49

O
2



Construction

Air Cylinder: Direct Mount Type
Double Acting

Series CG1R

With rubber bumper

With air cushion

AN

mm—g
I I ‘ )

il

O

28N

1(

Direct Mount
Double Acting, Single Rod

Standard
Double Acting, Double Rod
CG1w

Non-rotating Rod

Double Acting, Double Rod
CG1KW

Double Acting, Single Rod
CG1

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

CG1R

S
g e
gl X
2| ™
Component Parts g8
P 3l o
No. Description Material Note No. Description Material Note g
1 | Rod cover Aluminium alloy Hard anodised 11 | Cushion ring B Aluminium alloy ——
2 | Tube cover Aluminium alloy Hard anodised 12 | Seal retainer Rolled steel Zinc chromated «
Piston Aluminium alloy 13 Cushion |2 40orsmaller Carbon steel Electroless nickel plating § -
4 | piston rod Stainless steel  [Fora 20 or g 25 with built-in magnet valve @ 50 or larger, Steel wire Zinc chromated E g
Carbon steel* Hard chrome plating™ 14 | Steel ball Carbon steel sl O
5 | Bushing Bearing alloy 15 | Cushion seal A Urethane @ 32 or larger is =
6 | Bumper Resin @ 32 or larger is 16 | Cushion seal B Urethane common. (W
7 | Bumper Resin common. 17 | Rod seal NBR =
8 | Wearring Resin 18 | Piston seal NBR g
9 | Rod end nut Carbon steel Zinc chromated 19 | Tube gasket NBR (%
10 | Cushionring A Aluminium alloy 20 | Valve seal NBR ]
Note) For cylinders with auto switches, the magnet is installed in the piston. 3
= The material for g 20, ¢ 25 cylinders with auto switches is made of
stainless steel. =
[)
°
Replacement parts/Seal kit are the same as standard type, double 154
acting, single rod. Refer to page 11. 2
]
Note) Refer to the Specific Product Precautions on page 10 for g
Disassembly/Replacement. =

O

SVC

50



Series CG1R

Basic with Bottom Mounting

With rubber bumper

X
GA 2 x RcP GB 2xoLD
Width across flats KA H1 I,/
= Fy e DAY T
M al & L ! N V '
N e : S w0 i
T i ) o8 o :
[} e '
e/ 1 I
Width across : |
flats B1 :
AL Y
A N LX
K L
H S + Stroke F
ZZ + Stroke
With air cushion
WA 2xP
We° . GA Cushion valve, WB 2xoLD
1 0° X Width across flats WH GB we
Width across flats KA H1 I y \
) B AT
L MM il [= M s P e !
@ % N a A it
B eSS s : i
g ) o5 o A
) =g - §\SPy
% y Width across T
flats B1 :
AL Y
NA A N LX
K L
H S + Stroke F
ZZ + Stroke
Female rod end Port location WD
MM T
X ) E P
Effective depth A1 T =
T N
T B I
| 20,0 25
H
ZZ + Stroke
[mm]
Bore size ?;?g: A|ALB1|D|E|F|GAGB/H Hi1| | |K|KA L LD LHILX| MM [N(P|S (X |Y|ZZ
20 Upto150 |18 |155[13| 8|12 2 |20|10|27| 5|26 |5 6 |30.4| 055,095 depth of counterbore 6 | 15| 18 | MBx125 |27 |1/8| 75|38 | 11| 104
25 Upto200|22|195(17|10|14| 2 |22 |10 |32 | 6|31 |55| 8 |36.4| 066 011 depthof counterbore7 | 18 | 22 |M10x125| 29 |1/8| 77|44 | 12| 111
32 Upto200|22(195|17 |12 |18 | 2 [26|10|32| 6|38 |55|10 [42.4| 09 014depthof counterbore9 |21 | 24 |M10x1.25| 33 |1/8| 83|45 |13 | 117
40 Upto300(30|27 [19]|16|25| 2 |30|10|39| 8|47 |6 |14 |52.4|011,0175depth of counterbore 12| 26 | 32 | M14x15 | 37 |1/8| 94|55 | 16 | 135
50 Upto300|35(32 |27|20|30| 2 [33|12|45| 11|58 |7 |18 |64.5| 014,020depth of counterbore 14 | 32 | 41 | M18x15| 44 |1/4|108 | 62 | 17 | 155
63 Upto300|35(32 |27(20|32| 2 |39|12|45|11|72|7 |18 |76.6| 018,026 depth of counterbore 18 | 38 | 46 | M18x15 | 50 | 1/4| 114 | 64 | 19 | 161
With Air Cushion mm] Female Rod End [mm]
Bore size f‘;fgk: P WA | WB | WC | WD | W6 | WH Bore size A1 H MM X zz
20 Upto150] M5 x 0.8 22 | 15 5.5 2 25° 1.5 20 8 13 M4 x 0.7 24 90
25 Upt0200 M5 x 0.8 24 | 145 | 7 2 25° 1.5 25 8 14 M5 x 0.8 26 93
32 Upto200] Rc1/8 28 | 14 11.5 25° 1.5 32 12 14 M6 x 1 27 99
40 Upto 300, Rc1/8 32 | 15 15 — | 20° | 1.5 40 13 15 M8 x 1.25 31 111
50 Upto300] Rc1/4 36 | 16 175 | — 20° | 3 50 18 16 M10x 1.5 33 126
63 Upto 300 Rc1/4 42 | 17 205 | — 20° | 3 63 18 16 M10x 1.5 35 132
51
ZS\VC



Air Cylinder: Direct Mount, Non-rotating Rod Type

Series CG1KR

o 20, 0 25, 0 32, o 40, o 50, o 63

How to Order

With auto switch
(Built-in magnet)

Non-rotating rod type

Mounting e
‘ N | Rubber bumper |

Note) Air cushion type “CG1KRA” is
a Made-to-Order product.

Bore size ®

25

100

Z_

25

|
100

Z_

M9BW

]

IRod end thread

— Male rod end

F Female rod end
Rod end bracket

— None

\' Single knuckle joint

w Double knuckle joint

= No bracket is provided for the
female rod end.
+ Rod end bracket is shipped

Built-in Magnet Cylinder Model 20 |20 mm together with the product, but not
— - - bled.
If a built-in magnet cylinder without an auto 25 |25 mm « A Knuckle joint pin is not provided
switch is required, there is no need to enter 32 |32 mm with the single knuckle joint.
the symbol for the auto switch. 40 | 40 mm
(Example) CDG1KRN32-100Z 50 | 50 mm 4 Cylinder stroke [mm]
63 | 63 mm Refer to “Standard Strokes” on page 53.

Applicable Auto Switches/Refer to the Auto Switch Guide for further information on auto switches.

|

INumber of

auto switches

—_ 2 pcs.
S 1 pc.
n “n” pcs.

® Auto switch

| — | Without auto switch ‘

* For applicable auto switches,
refer to the table below.

Made to Ordere

Refer to page 53 for details.

g Load voltage Auto switch model Lead wire length (m)
. ’ Electrical T; Wiring Applicable bore size Pre-wired )
Type| Special function entry § (Output) DG AG 220 10 2 63 05| 1| 3| 5 [None et Applicable load
5 . - (=) [((M)| (L) | (2) | (N)
= Perpendicular In-line
3-wire (NPN) 5V 12V MINV M9N ® e 6 O — o IC
- Grommet 3-wire (PNP) ' M9PV M9P ® ®@¢/® O|—| O circuit
£ o-wire 1oV MOBY | MB (e @@ O|—| O _
5 Connector — H7C e | —| o0/ 0 —
° .
2 3-wire (NPN) MONWV | MONW | @ @/ ®@  O|— o IC
= | Diagnostic indication - 5V,12V .. | Relay
© R —_ — circuit ’
2 | (2-colour indication) Yes| 3-wire (-PNP) 24V MOPWV | MOPW | @ (@ @ | O ©) PLC
s 2-wire 122V MO9BWV | MSBW (| @ @ © | O | — O —
- Wat stant Grommet 3-wire (NPN) 5V 12V MONAV**| MONA** | O |O | @ |O|—| O IC
= aterresistan 3-wire (PNP) ' MOPAV*| MOPA** [ O [Oo[e@|Oo|—] O | circuit
o |(2-colour indication) - = =
2-wire 122V M9BAV**| M9BA O|0O|@|O|— O —
Diagnostic output (2-colour indication) 4-wire (NPN) 5V,12V — H7NF ® | —|0 O|— O  |IC circuit
3-wire IC
. ves| (Equiv. toNPN)| 5V - A9V A% | @ | — @ | —|—| — | cuit| —
£ Grommet | 100V A93V A3 o |—|@|® | —| — —
z No 100V orless| A90V A90 ® |—|®|—|—| — |Ccircui
5 |
= Yes 100 V, 200 V — B54 o —| 0 0 — —
= — ) 12V 5 Relay,
5 No 2-wire 24V 200 V or less — B64 ® | —|® | —|—| — — PLC
$ Connector Yes) — — GiSG ® —0,0.0, -
= No 24V or less — C80C ® | —|®/® ® — |[Ccircui
Diagnostic indication 2-colour indication)) Grommet |Yes — — — B59W ® —|0 | — | — — —
= Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
# Lead wire length symbols: 0.5 m «---e--e- —  (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
. (Example) MONWM
(Example) MONWL
(Example) MONWZ
(Example) H7CN
= Since there are other applicable auto switches than listed above, refer to page 74 for details.
« For details about auto switches with pre-wired connector, refer to the Auto Switch Guide.
= The D-A90JJ/M9IIC] auto switches are shipped together, (but not assembled). (However, only auto switch mounting brackets are assembled before shipment.)
52

ZSNC

Double Acting, Single Rod
CG1

Standard
Double Acting, Double Rod
CG1w

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

Non-rotating Rod

Double Acting, Double Rod
CG1KW

1f

Direct Mount

Double Acting, Single Rod
CG1R

1 Direct Mount, Non-rotating Rod | [

x
8
_,1_
ol O
w| m
gl O
=
c
3
=
=
N
[e]
]
5
<
S
@
o
S
o
o
]
o
kel
®
=




Series CG1KR

Specifications
Series CG1KR direct mount,
- - Bore size [mm] 20 | 25 | 32 | 40 | 50 | 63
non rotatlng rod type cyllnder Action Double acting, Single rod
can be installed directly through Lubricant Not required (Non-lube)
the use of re rod cover Fluld all
e use of a square rod cover. Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa

Space-saving has been realized.

Because it is a directly mounted style without
using brackets, its overall length is shorter,
and its installation pitch can be made smaller.
Thus, the space that is required for installation
has been dramatically reduced.

-
-

de to
Made to Order
(For details, refer to pages 77 to 93.)

Symbol
-XC8
-XC9
-XC20

+1 The shape is the same as the existing product.
Use the existing seal kit.

Specifications

Adjustable stroke cylinder/Adjustable extension type™
Adjustable stroke cylinder/Adjustable retraction type™
Head cover axial port

Ambient and fluid

Without auto switch: —10 °C to 70 °C

(No freezing)

temperature With auto switch : —10°C to 60 °C

Piston speed 50 to 500 mm/s

Stroke length tolerance Up to 300 st *3'4 mm

Cushion Rubber bumper

Rod non-rotating accuracy +1° +0.8° +0.5°
Weights

kg]
Bore size [mm] 20 25 32 50 63

Basic weight 0.14 0.24 0.35 1.04 1.48

Single knuckle joint 0.05 0.09 0.09 0.22 0.22

Double knuckle joint (with pin) 0.05 0.09 0.09 0.26 0.26

Additional weight per 50 mm of stroke 0.05 0.07 0.09 0.22 0.26

Weight reduction for female rod end | -0.01 -0.02 | -0.02 -0.10 | -0.10
Calculation (Example) CG1KRN32-100Z  eBasic weight:------ceeeeee .

(2 32, 100 stroke) ® Additional weight---------0.09/50 stroke
e Air cylinder stroke::------ 100 stroke
0.35 + 0.09 x 100/50 = 0.53 kg
Standard Strokes
[mm]
Bore size Standard stroke™
20 25, 50, 75, 100, 125, 150
25, 32 25, 50, 75, 100, 125, 150, 200
40, 50, 63 25, 50, 75, 100, 125, 150, 200, 250, 300

# Please consult with SMC for strokes which exceed the standard stroke length.

Note 1) Intermediate strokes not listed above are produced upon receipt of order.
Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Cylinders Model Selection”. In addition, the products that exceed the standard stroke
might not be able to fulfill the specifications due to the deflection etc.

Tig htening TOI'q ue: Tighten the cylinder mounting bolts with the following tightening torque.

Accessories Bore size [mm] |Hexagon socket head cap screw size Tightening torque [N-m]
20 M5 x 0.8 2.41t03.6
Mounting Basic 25 M6 4.2106.2
Standard Rod end nut [ 32 M8 10.0 to 15.0
Single knuckle joint [} 40 M10 19.6t0 29.4
Option Double knuckle joint* ® 50 M12 33.6 to 50.4
(with pin) 63 M16 84.8 to 127.2

# A double knuckle joint pin and retaining rings are
shipped together.

Refer to pages 68 to 74 for cylinders with
auto switches.

* Auto switch proper mounting position
(detection at stroke end) and its mounting
height

* Minimum stroke for auto switch mounting

¢ Auto switch mounting brackets/Part no.

* Operating range

* Cylinder mounting bracket, by stroke/
Auto switch mounting surfaces

53

Ordering Example of Cylinder Assembly

Cylinder model: CDG1KRN20-100Z-W-M9BW

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

+ Double knuckle joint and auto switch are
shipped together with the product, but not
assembled.

SVC

O

Auto switch

Double knuckle joint



Air Cylinder: Direct Mount, Non-rotating Rod Type Series CG 1 K R

Construction

Non-rotating rod type/
Bottom mounting style

L1

0 20to o 32
Component Parts
No. Description Material Note
1 Rod cover Aluminium alloy Clear hard anodised
2 Tube cover Aluminium alloy Clear hard anodised
Piston Aluminium alloy
i 220to g 32 Stainless steel
4 Piston rod -
0 40t0 0 63 Carbon steel Hard chrome plating
5 Non-rotating guide Oil-impregnated sintered alloy
6 Bushing Oil-impregnated sintered alloy o 20 to @ 32 only
7 Bumper Resin
8 Bumper Resin
9 | Wearring Resin Replacement parts/Seal kit are the same as
10 Rod end nut Rolled steel Zinc chromated double acting, non-rotating rod type. Refer to
1 Rod seal NBR page 41.
12 Piston seal NBR Note) Refer to the Specific Product Precautions on
13 | Tube gasket NBR page 10 for Disassembly/Replacement.

A\ Precautions

= ™ = e mm e mm mm mm e e m mm e mm mm R R A mm R R A Rm Rm M R e Rm R M A Rm Rm R R m Rm Rm R A em mm R A e e

1 Be sure to read this before handling. Refer to the back cover for Safety Instructions. For Actuator and Auto Switch 1|

Standard
Double Acting, Double Rod
CG1w

Non-rotating Rod

1(
Double Acting, Double Rod
CG1KW

Direct Mount

Double Acting, Single Rod
CG1

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

1 Direct Mount, Non-rotatin Rod |

Double Acting, Single Rod
CG1R

1 Precautions, refer to “Handling Precautions for SMC Products” and the Operation Manual on SMC website, |
I http://www.smc.eu 1
Lo o i i i i e e e e e e e e e e e ]
| Handling/Disassembly x~
[
. S =
/\ Caution 3 g
. . . . L
When a cylinder is operated with one end fixed and the ® To screw a bracket or a nut onto the piston rod, make sure to retract the || O
other free, a bending moment may act on the cylinder piston rod entirely, and place a wrench over the flat portion of the rod that [
due to vibration generated at the stroke end, which can protrudes. Tighten it by giving consideration to prevent the tightening
damage the cylinder. In such a case, install a mounting torque from being applied to the non-rotating guide. —
bracket to suppress the vibration of the cylinder body or s
reduce the piston speed so that the cylinder does not £
vibrate. Also, use a mounting bracket when moving the (,;,
cylinder body or when a long stroke cylinder is mounted e
horizontally and fixed at one end. 2
1. Avoid using the air cylinder in such a way that
rotational torque would be applied to the piston rod. 5
o |f rotational torque is applied, the non-rotating guide will become deformed, . =
thus affecting the non-rotating accuracy. Refer to the table below for the 2. When replacing rod seals, please contact SMC. g
approximate values of the allowable range of rotational torque. Air leakage may be happened, depending on the position in which a -
Allowable rotational torque 2 20 225,032 | 040,050,063 rod seal is fitted. Thus, please contact SMC when replacing them. §
(N-m or less) 0.2 0.25 0.44 =

SMC 54

O




Series CG1KR

Basic with Bottom Mounting: CG1KRN

With rubber bumper

X
Width across GA 2 x ReP GB 2x oLD
flats KA
MM | __Hi T »[T» o5 T
jﬁ. a rE ./ beded |
s — NA@
— . H H Q H h H H
] T | Lo
! ! -l i i ! !
Width across AL Y
flats B1 A N
H S + Stroke F LX
ZZ + Stroke L
Female rod end
X MM
Effective depth A1\
T T T
i A :
— il
H
ZZ + Stroke
Female Rod End [mm]
Bore size
]| A1| H MM X |2z
20 8|13 M4x07 |24 90
25 8 14| M5x08 |26 93
32 1214 M6x1 27 | 99
40 13 [ 15| M8x1.25 |31 [111
50 18 | 16 | M10x1.5 | 33 |126
63 18 | 16 | M10x1.5 |35 |132
[mm]
B"[rn‘jnﬁ']ze S"E’rﬁﬁrﬁ']‘ge A|AL|B1|D|E|F|GA|GB| H |Hi| I |[KA| L LD LH(LX| MM [N |P|S|X|Y|2zz
20 |Upto150| 18 [155/ 13| 92 12| 2 [20] 10|27 | 5|26 | 830.4| 655, 095 depth of counterbore 6 | 15 | 18 |M8 x 1.25| 27 | 1/8| 75| 38 | 11 |104
25 |Upto200|22[195/17 [11 | 14| 2 |22 1032 6|31 | 10 |36.4] 066,011 depthof counterbore 7 | 18 | 22 |M10x1.25| 29 [1/8| 77| 44 | 12 [111
32 |Upto200| 22 [195/17 [12 [ 18| 2 |26 |10 | 32| 6|38 | 10 |42.4] 09,014 depthof counteroore | 21 | 24 |Mi0x125| 33 |1/8| 83|45 | 13 [117
40 |Upto300| 3027 [19[16 [25| 2 [ 30| 10|39 | 847 | 14 [52.4]0 11,0 17,5 depth of counterbore 12| 26 | 32 [M14x1.5| 37 [1/8| 94|55 | 16 [135
50 |Upto300| 35|32 |27 (20 |30 | 2 | 33|12 | 45| 11| 58 | 18 |64.5] o 14,0 20 depth of counteroore 14 | 32 | 41 |M18x 1.5| 44 | 1/4|108| 62 | 17 | 155
63 |Upto300| 3532 |27 (20 | 32| 2 |39 |12 45| 11|72 | 18 |76.6] o 18,0 26 depth of counterbore 18 | 38 | 46 |M18x1.5| 50 | 1/4 [114| 64 | 19 |161

Auto switch mounting position is the same as that on page 70.

55

O
2



Air Cylinder: With End Lock

Series CBG1

o 20, 0 25, 0 32, 0 40, 3 50, o 63, ¢ 80, o 100

How to Order

CBG1
CDBG1

25

100

N

25

N

M9BW

C

|
100
C

With auto switch—l—
(Built-in magnet)
Mountinge—— Typel

B Basic N | Rubber bumper

L Axial foot A Air cushion

F Rod flange .

G Head flange Bore size

U Rod trunnion 20 [20 mm || 50| 50 mm

T Head trunnion 25 [25mm || 63| 63 mm

D Clevis 32 [32mm || 80| 80 mm
+ Not available for bore size o 80 and o 100. |40 |40 mm |{100]100 mm

Besides, trunnion cannot be attached in
the side to which an end lock is attached.
Note) Mounting brackets are shipped

together, (but not assembled).

Cylinder stroke [mm]e

Refer to “Standard Strokes”

on page

Built-in Magnet Cylinder Model

57.

If a built-in magnet cylinder without an auto switch is required,
there is no need to enter the symbol for the auto switch.
(Example) CDBG1FA32-100-RL

Applicable Auto Switches/Refer to the Auto Switch Guide for further information on auto switches.

Manual release

N | Non-locking type

L Locking type

Lock position

H

Head end lock

R

Rod end lock

w

Double end lock

e With rod boot

Number of
auto switches

I —

2 pcs.

S

1 pc.

n” pcs.

e Auto switch

Without auto switch |

* For applicable auto switches,
refer to the table below.

Auto switch mounting bracket N ®

Without rod boot

J

Nylon tarpaulin

K

Heat resistant tarpaulin

# In the case of w/rod boot, and a foot

bracket or rod side flange as a bracket,
those parts are to be assembled at the
time of shipment.

Note) This symbol is indicated when the
D-A90 or M9 type auto switch is
specified.
does not apply to other auto switch-
es (D-C70 and H70J, etc.) (—)

This mounting bracket

Made to Order ®

Refer to page 57 for details.

£ Load voltage Auto switch model Lead wire length [m]
. . Electrical | 5| Wirin Applicable bore size Pre-wired ’
728 SEEEitEien | == | (Outptﬂ) DC AC 2010 0 63 080 0100] %5 | 1 | 3 | B [Nonel connector | APPlicable load
s : - : (=) [((M)| (L) | (2) | (N)
= Perpendicular | In-line In-line
3-wire MINV M9N — ® | /@@ O|—| O
(NPN) 5V 12V — = G59 ® — @@/ O0|—| O IC
Grommet 3-wire ’ M9PV M9P — ® /0 OC|—| O circuit
— (PNP) = = G5P | ®@ |—|®@|O|—| O
- M9BV M9B = ® /0 O — [®)
2 2-wire 122V — — K59 ® —| 0 O |— [©) —
z Connector — H7C — e  —| o0/ 06| —
I 3-wire MONWV | MO9NW = ® 0 O — @)
2 (NPN) = = G59W | @ |—|@|O|—| O IC | Relay,
; Diagnostic indication Yes 3-wire 24VI5V, 12V - MOPWV | M9PW = ® & 0 O — @) circuit | PLC
£ | (@-colour indication) (PNP) — — G5PW (@ [— | @/O|—| O
z oowire 12V M9BWV [ M9BW — elele[O[—[ O .
3 Grommet - — Khogw | @ |— (@ | O |— @)
3-wire (NPN) 5V 12V MONAV**| MONA** — O|C|@|O|— @) IC circuit
Water resistant 3-wire (PNP) ’ M9PAV** | MOPA** — O|0|@|O|—]| O
(2-colour indication) o-wire 12V M9BAV**| M9BA** — O|0O|@|O|—| O _
= = G5BA™* | — | — | @ | O |— @)
Diagnostic output (2-colourindication) 4-wire (NPN) 5V,12V — H7NF — ® — @O |— O IC circuit
- Yes 3ire (Equiv.oNPN) — | 5V — A96V A96 — ® |—|®|—|—| — |ICcircuit] —
S " 100V | A93V | A93 — o [—[e[0o[—| — —
% Grommet |No| 100 Vorless| A90V A90 — ® — | ® —|—| — |ICcircuit
o _ |Yes| 12V 100V, 200 V — B54 ® —| 0 e — — Relay
2 No| 2-wire [24V 200 V or less — B64 ® | —| 0 —|—| — — PLC ’
B Connector NS — — C73C — o —0.0 0 -—
e No 24V or less — C80C = [ Bk AKX 3K ] — |IC circuit
Diagnostc iniation (2colowrndeati]  Grommet |Yes — — — B59W ® —| 0 — | — — —
=x \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m - —  (Example) MONW « Solid state auto switches marked with “O” are produced upon receipt of order.
im - M  (Example) MONWM
3m - - L (Example) MONWL
5m - - Z (Example) MONWZ
None -+ N (Example) H7CN
= Since there are other applicable auto switches than listed above, refer to page 74 for details.
= For details about auto switches with pre-wired connector, refer to the Auto Switch Guide.
x The D-A9000/M90100I auto switches are shipped together, (but not assembled). (However, only auto switch mounting brackets are assembled before shipment.)
z 56

SVC

<7

1

Standard
Double Acting, Double Rod
CG1w

Non-rotating Rod

1(
Double Acting, Double Rod
CG1KW

Direct Mount

Double Acting, Single Rod
CG1R

1( Direct Mount, Non-rotating Rod |

With End Lock

(

Double Acting, Single Rod
CG1

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

‘ Made to Order



Series CBG1

Symbol
Rubber bumper

e

:%{

Air cushion

e
|

li

Mg{.’fetro Made to Order
(For details, refer to pages 77 to 93.)

Specifications

Bore size [mm]

20 | 25 | 32 | 40 | 50 | 63 | 80 | 100

Action Double acting, Single rod
Lubricant Not required (Non-lube)
Fluid Air

Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.15 MPa*

Ambient and fluid
temperature

Without auto switch: =10 to 70 °C (No freezing)
With auto switch: —10 to 60 °C (No freezing)

Piston speed

50 to 1000 mm/s

50 to 700 mm/s

Stroke length tolerance

Up to 1000** ;“mm, Up to 1200%* *mm

Up to 1000”3 mm

st+1.8

Symbol Specifications

-XAO | Change of rod end shape

Upto 1500™ 5" mm
Cushion Rubber bumper, Air cushion
Basic, Axial foot, Rod flange, Head flange,
Mounting ** Rod trunnion, Head trunnion,
Clevis (used for changing the port location by 90°)
% 0.05 MPa except locking parts.
=x Rod/Head trunnion types are not available for g 80 and @ 100.
Trunnion is not attached for a cover on which lock mechanism is equipped.
Lock Specifications
Lock position Head end, Rod end, Double end
Holding force 0 20 025 o 32 o 40 2 50 2 63 o 80 o 100
(Max.) [N] 215 330 550 860 1340 | 2140 | 3450 | 5390
Backlash 2 mm or less

Manual release

Non-locking type, Locking type

Adjust the switch position so that it operates upon movement to both the stroke end and backlash

(2 mm) positions.

-XC13

Auto switch rail mounting

Refer to pages 68 to 74 for cylinders with
auto switches.

* Auto switch proper mounting position
(detection at stroke end) and its mounting
height

* Minimum stroke for auto switch mounting

¢ Auto switch mounting brackets/Part no.

* Operating range

* Cylinder mounting bracket, by stroke/
Auto switch mounting surfaces

57

Standard Strokes
Bore size Long stroke Ml
Standard stroke [mm] Note 1) 9 manu{ac}(urable
il [mm] stroke
[mm]
20 25, 50, 75, 100, 125, 150, 200 201 to 350
25 301 to 400
32 301 to 450
40 25, 50, 75, 100, 125, 301 to 800 1500
50, 63 150, 200, 250, 300 301 10 1200
80 301 to 1400
100 301 to 1500

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
Note 2) Note 2) Long stroke applies to the axial foot style and the rod side flange style. If other
mounting brackets are used, or the length exceeds the long stroke limit, the stroke should

be determined based on the stroke selection table in the technical data.

Rod Boot Materi

al

Maximum operating

Symbol| Rod boot material temperature
J Nylon tarpaulin 70°C
K | Heat resistant tarpaulin 110 °C*

* Maximum ambient temperature for the rod

boot itself.

O
2



Air Cylinder: With End Lock Series CBG1

Construction: With Rubber Bumper

Head end lock

2 80,0 100

o 80,0 100

Double Acting, Single Rod
CG1

Locking type manual release: Suffix L

Standard
Double Acting, Double Rod
CG1w

Single Acting, Spring Return/Extend

Rod end lock

Double Acting, Single Rod
CG1K

| S— ) ! 3
[ o
(o)
£
[ from g
[ N\ W B
Sle
e
— 4
g
Long stroke 30
20
Component Parts g
No. Description Material Note No. Description Material Note . =
1 |Rod cover Aluminium alloy Hard anodised 15 | M/O knob Zinc die-casted Black painted e
2 |Head cover Aluminium alloy Hard anodised 16 | M/O bolt Alloy steel Black zinc chromated, Red painted § %m
3 |Tube cover Aluminium alloy Hard anodised 17 |M/O spring Steel wire Zinc chromated =1 [
4 | Cylinder tube Aluminium alloy Hard anodised 18 | Stopper ring Carbon steel Zinc chromated },3, fg”(g
5 |Piston Aluminium alloy Chromated 19 |Bumper A Resin [=] b (@]
6 |Piston rod Carbon steel* Hard chrome plating™ 20 |Bumper B Resin 0 40 or larger: Same as bumper A %
7 |Bushing Bearing alloy 21 | Retaining ring Stainless steel Not available for g 80, 8 100 (|2
8 |Lock piston Carbon steel Hard chrome plating, Heat treated 22 | Piston gasket NBR 3B
9 |Lock bushing Copper alloy 23 |Wear ring Resin 2 o
10 | Lock spring Stainless steel 24 |Rod end nut Carbon steel Zinc chromated 8 v
11 |Bumper Resin 25 | Rod seal NBR 5 v
12 | Hexagon socket head cap screw Alloy steel Black zinc chromated 26 | Piston seal NBR ‘g O
13A|Cap A Aluminium die-casted Black painted 27 | Cylinder tube gasket NBR 1 pc. when using tube cover  |£ o
13B|Cap B Carbon steel Oxide film treated 28 | Lock piston seal NBR 2 pes. for double end lock | S
14 | Rubber cap Synthetic rubber 29 | Piston holder Resin 9 4010 0 100, head end lock only  (—

Note) For cylinders with auto switches, the magnet is installed in the piston.

CBG1

= The material for @ 20, @ 25 cylinders with auto switches is made of stainless steel.
Replacement Parts: Seal Kit Replacement Parts: Seal Kit
(With one end lock) (With double end lock)
Series Bore size [mm] Kit no. Contents Series Bore size [mm] Kit no. Contents
CBG1ON 20 CBG1N20-PS Set of th CBGION 20 CBG1N20-PS-W Setof th
et of the nos. et of the nos.
type - and grease pack type - and grease pack
40 CBG1N40-PS 40 CBG1N40-PS-W

Order seal kit in accordance with the bore size.

= The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g)

A Caution

When disassembling cylinders with bore sizes of g 20 through @ 40, grip the double flat part of either the tube cover or the rod cover with a vise

Order seal kit in accordance with the bore size.

= The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g)

and loosen the other side with a wrench or a monkey wrench etc., and then remove the cover. When re-tightening, tighten approximately 2
degrees more than the original position. (Cylinders with @ 50 or larger bore sizes are tightened with a large tightening torque and cannot be
disassembled. If disassembly is required, please contact SMC.)

O

SVC

58

With End Lock

I

Auto Switch

‘ Made to Order



Series CBG1

Construction: With Air Cushion

With air cushion
Head end lock

(0

@ﬁ B BYAHA0A1)(8)(9
N

Non-locking type manual release: Suffix N

Rod end lock

Component Parts

N

Long stroke

No. Description Material Note No. Description Material Note

1 |Rod cover Aluminium alloy Hard anodised 22 |Piston gasket NBR

2 |Head cover Aluminium alloy Hard anodised 23 | Wear ring Resin

3 |Tube cover Aluminium alloy Hard anodised 24 |Rod end nut Carbon steel Zinc chromated

4 |Cylinder tube Aluminium alloy Hard anodised 25 |Rod seal NBR

5 |Piston Aluminium alloy Chromated 26 | Piston seal NBR

6 |Piston rod Carbon steel*® Hard chrome plating® 27 | Cylinder tube gasket NBR 1 pc. when using tube cover

7 |Bushing Bearing alloy 28 |Lock piston seal NBR 2 pcs. for double end lock

8 |Lock piston Carbon steel Hard chrome plating, Heat treated 29 |Piston holder Resin 2 40 to @ 100 only

9 |Lock bushing Copper alloy 30 |Cushionring A Aluminium alloy Anodised

10 |Lock spring Stainless steel 31 | Cushion ring B Aluminium alloy Anodised

11 | Bumper Resin 32 | Seal retainer Rolled steel Only when using nickel plating, tube cover
12 | Hexagon socket head cap screw Alloy steel Black zinc chromated 33 | Cushion valve Rolled steel Electroless nickel plating
13A|Cap A Aluminium die-casted Black painted 34 |Valve retainer Rolled steel Electroless nickel plating
13B|Cap B Carbon steel Oxide film treated 35 |Lock nut Rolled steel Nickel plating

14 | Rubber cap Synthetic rubber 36 |Cushion seal A Urethane

15 |M/O knob Zinc die-casted Black painted 37 | Cushion seal B Urethane o 32 or larger: Same as A
16 |M/O bolt Alloy steel Black zinc chromated, Red painted 38 | Cushion ring gasket A NBR

17 | M/O spring Steel wire Zinc chromated 39 | Cushion ring gasket B NBR o 32 or larger: Same as A
18 |Stopper ring Carbon steel Zinc chromated 40 |Valve seal NBR

41 | Valve retaining gasket NBR

Note) For cylinders with auto switches, the magnet is installed in the piston.
= The material for @ 20, @ 25 cylinders with auto switches is made of stainless steel.

Replacement Parts

: Seal Kit

(With one end lock)

Replacement Parts: Seal Kit
(With double end lock)

Series Bore size [mm] Kit no. Contents Series Bore size [mm] Kit no. Contents
20 CBG1A20-PS Set of the nos. 20 CBG1A20-PS-W | get of the nos.
XSSJthQ ] 25 CBGIA25PS | @, ®, @), ®, gﬁfdfhﬁ) ] 25 CBG1A25-PSW | @, ®, @), ®,
type 32 CBG1A32-PS @, @ type 32 CBG1A32-PS-W @,
40 CBG1A40-PS | and grease pack 40 CBG1A40-PS-W | and grease pack

Order seal kit in accordance with the bore size.

= The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g)

A Caution

When disassembling cylinders with bore sizes of g 20 through @ 40, grip the double flat part of either the tube cover or the rod cover with a vise
and loosen the other side with a wrench or a monkey wrench etc., and then remove the cover. When re-tightening, tighten approximately 2
degrees more than the original position. (Cylinders with @ 50 or larger bore sizes are tightened with a large tightening torque and cannot be
disassembled. If disassembly is required, please contact SMC.)

59

O

Order seal kit in accordance with the bore size.

= The seal kit includes a grease pack (10 g). Order with the following part
number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g)

SVC



Basic with Rubber Bumper: CBG1BN

Air Cylinder: With End Lock Series CBG1

Head end lock: CBG1BN | Bore size | — Stroke| — HC]

Double Acting, Single Rod
CG1

2xTC Width across flats B1 GA 2xRcP
MM H a !'/ 3
Mo o
= i | B o
[V s =) VG | - T EEES
[y | i, : 3 i | I §I8=
. WA N ' S|EQ
\\_\_/ \ 1 mgo
3
3
TE AL F =
TG|| TF A K TA 2xTC DL2 E
NA H S + Stroke F £
ZZ + Stroke EE
TA cross section 20
%
Non-locking type manual release: Suffix N Locking type manual release: Suffix L L
[z
HR HN o
i
i £0
4t ol<Q
[e) 7( ZN n?%
=l e | / \ 3
o F LA 23 = g
3 i ] 1 s ©
53
Tl
553
4
C:o1 ga
NA 8xJ %0
3
NE
Ele
[mm] |3|20C
Bore size Stroke HN Zlerm
=
[mm] range A AL | B1 C D |DL2| E F GA | GB H Hi1 HR (Max.) | J _é 58
a
20 Upto350 | 18 | 155 | 13 | 14 8 |125| 12 | 2 12 | 12 | 35 5 | 253 | 37 26 | M4x0.7depth7 o
25 Upto400 | 22 |195| 17 165 | 10 | 125 | 14 | 2 12 | 12 | 40 6 | 28.3 | 40 31 | M5x08depth75 | (8
32 Upto450 | 22 | 195 | 17 | 20 12 |12 18 | 2 12 | 12 | 40 6 | 31.3| 43 38 | M5x08depth8 (B
40 Upto800 | 30 |27 19 | 26 16 | 15 25 | 2 13 | 13 | 50 8 | 383|525 | 47 | Mexidephi2 =t ..
50 Upto1200| 35 | 32 27 | 32 20 | 165| 30 | 2 14 | 14 | 58 | 11 | 445 | 585 | 58 | M8x1.25depth16 |2| M
63 Upto 1200 35 | 32 27 | 38 20 | 165 | 32 | 2 14 | 14 | 58 | 11 |45 | 59 72 | M10x15depth 16 |=| E
80 Upto 1400 40 | 37 32 | 50 25 |19 40 | 3 | 20 | 20 | 71 | 13 | 535 68 89 | M0x15depth22 (3| O
100 Upto 1500 40 | 37 41 | 60 30 |20 50 | 3 | 20 | 20 | 71 | 16 |64.5| 79 | 110 [Mi2x1.75depth22 |8
o
Boresize |y | kp MM MO|NA| P |[RF| S |TA TC TD | TE | TF | TG | WL | 2Z
[mm] B
—
20 5 6 | M8x1.25 15 | 24 1/8 | 11 81 | 11 M5 x 0.8 839% | 4 |05 55| 15 | 118 |S|ME]
[ =
25 5.5 8 | MI0Ox125 | 15 | 29 1/8 | 11 81 | 11 | M6x075 | 10%%® | 5 |1 65| 15 | 123 |W 8
32 55| 10 | M10x125 | 15 | 355 1/8 | 11 81 | 11 M8 x 1.0 12150 55 | 1 75| 24 | 123 |E
40 6 14 | M14x15 19 | 44 1/8 | 11 92 | 12 | M10x125 | 14%%® | 6 |125| 85| 24 | 144
50 7 18 | M18x15 19 | 55 14 | 11 | 107 | 13 | M12x1.25 | 167 75| 2 10 24 | 167
63 7 18 | M18x15 19 | 69 1/4 | 11 | 107 | 18 | M14x1.5 | 183%%® | 115 | 3 145 | 24 | 167 S
]
80 10 22 M22x15 | 23 | 80 | 38 | 21 | 130 | — — — — | — | — | 40 | 204 S
100 10 26 | M26x1.5 | 23 |100 12 | 21 | 130 | — = — — | — | — | 40 | 204 a
%
<
S
[}
T
S
o
]
8
[}
T
©
=
60
% SVC



Series CBG1

Basic with Rubber Bumper: CBG1BN

Rod end lock: CBG1BN | Bore size |— [Stroke| — R[]

GB

o
D

-

)

S + Stroke

Bicl

ZZ + Stroke

Double end lock: CBG1BN | Bore size | —|Stroke| — W[

[mm]
B"[[Te]ms']ze DLi1| GB s ) 7z
20 19.5 | 10 (12) 80 (88) 1 117 (125)
25 |195|10(12)| 80(88) |11 122 (130)
32 |20 [10(12)] 81(89) |10(11) | 123 (131)
40 |19 |10(13)| 87(96) |10(12) | 139 (148)
50 | 235 |12 (14)| 102 (114) | 12 (13) | 162 (174)
63 23.5|12(14) | 102 (114) {12 (13) | 162 (174)
80 |27 |16(20)| 124(138) | — | 198 (212)
100 |30 |16(20)| 124(138) | — | 198 (212)

= (): Denotes the dimensions for long stroke.

1 [mm]
N HER A
oo 5o Bore size
. -..‘..‘.\.‘... ...‘.\.‘..‘--- [mm] S
15 | ) 20 92 | 129
= AN Lh 25 | 92134
32 91 | 133
40 101 | 153
S + Stroke 50 119 | 179
ZZ + Stroke 63 119 | 179
80 146 | 220
100 146 | 220
With rod boot
8 [ 8 8 4
- d ‘ K - d ‘ K
R T RGIT I e—— sy S
3¢ %E" T 38 O
Q Q
f f
h+¢ h+¢
ZZ + ¢ + Stroke ZZ + ¢ + Stroke
2 20 to o 63 2 80,0 100
[mm]
Bore size el flhlw JH | JW p Head end lock: -HCI|Rod end lock: -RC | Double end lock: -WOI
[mm] (Ref (R Y74 Y74 Y74
20 30(18|55|27| 15,5 | 10.5 138 137 (145) 149
25 |30|19(62|32| 16.5 | 10.5 145 144 (152) 156
32 35[(19|62|38| 185 | 10.5 o 145 145 (153) 155
40 [35|19|70|48| 21.5 | 10.5 g 164 159 (168) 173
50 [40[19|78|59| 24 105 | 2 187 182 (194) 199
63 |40|20(78|72| 24 105 |= 187 182 (194) 199
80 |52[10[80[59] — | — 213 207 (221) 229
100 |62| 7(80|71| — — 213 207 (221) 229
# (1): Denotes the dimensions for long strokes.
#+ The minimum stroke with rod boot is 20 mm.
61

O

SVC



Air Cylinder: With End Lock Series CBG1

Basic with Air Cushion: CBG1BA

Head end lock: CBG1BA | Bore size | — [Stroke| — HCJ
Rod end lock: CBG1BA | Bore size | —[Stroke| — RO

Double Acting, Single Rod
CG1

WA 2xP «
Ks)
52
5|2¢s
IR $
i i ) ‘/ \‘ & 8
\\ & =
N~ %‘_
O
20
%
Head End Lock: -HJ [mm] Rod End Lock: -R [mm] (5
o
Bore size Bore size z
[mm] P WA wB WH Wo [mm] P WA wB WH Wo §¥
20 M5 x 0.8 16 16 23 30° 20 M5 x 0.8 16 15(16) | 23 30° ga
25 M5 x 0.8 16 16 25 30° 25 M5 x 0.8 16 15(16) | 25 30° 3 20
()
32 Rc1/8 16 16 28.5 25° 32 Rc1/8 16 15(16) | 28.5 25° %, g
40 Rc1/8 16 16 33 20° 40 Rc1/8 16 15(16) | 33 20° % -
50 Rc1/4 18 18 40.5 20° 50 Rc1/4 18 17 (18) | 40.5 20° § 8
63 Rc1/4 18 18 47.5 20° 63 Rc1/4 18 17 (18) | 47.5 20° <Z§ %;
80 Rc3/8 22 22 60.5 | 20° 80 Rc3/8 22 |22 60.5 | 20° s
100 Rc1/2 22 22 71 20° 100 Rc1/2 22 |22 71 20° g 6
= For dimensions other than listed above, refer to the dimensions # (): Denotes the dimensions for long strokes. %Q
with rubber bumper. #*% For dimensions other than the listed above, refer to the §

dimensions with rubber bumper.

1(

Direct Mount

Double Acting, Single Rod
CG1R

CG1KR

1 Direct Mount, Non-rotating Rod |

With End Lock
CBG1

[

Auto Switch

‘ Made to Order

62

O
2



Series CBG1

With Mounting Bracket

(For dimensions other than listed below, refer to pages 60 to 62, 14 to 16.)

Axial foot: CBG1LO

— |
T
] Bik }
— ,
[ i LY ) B} B i B
LA % ‘ ;
-~ | LSS
Y LS + Stroke
ZZ + Stroke
[mm]
B . Head end lock: -HCI Rod end lock: -RLC] Double end lock: -W[]
"[[T?nsﬁze LS Zz LS zz LS zz
— Without rod boot | With rod boot — Without rod boot | With rod boot — | Without rod boot | With rod boot
20 57 122 142 + ¢ 56 (64) | 121 (129) 141 (149) + ¢ 68 133 153 + ¢
25 57 127.5 1495 +¢ 56 (64) | 126.5(134.5) | 148.5(156.5) +¢ 68 138.5 160.5 + ¢
32 55 127.5 149.5 + ¢ 55(63) | 127.5(135.5) | 149.5(157.5)+¢ | 65 137.5 159.5 + ¢
40 65 149 169 + ¢ 60 (69) | 144 (153) 164 (173) + ¢ 74 158 178 + ¢
50 72 174.5 194.5 +¢ 67 (79) | 169.5(181.5) | 189.5(201.5) +¢ 84 186.5 206.5 + ¢
63 72 174.5 194.5 +¢ 67 (79) | 169.5(181.5) | 189.5(201.5) +¢ 84 186.5 206.5 +¢
80 82 210.5 2195 +¢ 76 (90) | 204.5 (218.5) 213.5 (227.5) + ¢ 98 226.5 2355 +¢
100 82 214 223 +¢ 76 (90) | 208 (222) 217 (231) +¢ 98 230 239 +¢
# (1): Denotes the dimensions for long stroke.
Rod flange: CBG1F[]
K % K K % K
byt byt
—\ r --‘ PP P ‘..
i _\ ) _ : : B : 1 d
i | \% ; :
/ I | s —
Head flange: CBG1G[]
K % K K % K
byt byt
— r N mmalemma-- M
] B f\p B : i . ) /
[ U ! i
/ L] == N)N=Em== L
ZZ + Stroke
[mm]
) Head end lock: -HCI \ Rod end lock: R[] \ Double end lock: W]
Bore size 27 (Head fl
[mm] (Head flange)
Without rod boot With rod boot Without rod boot With rod boot Without rod boot With rod boot
20 124 144 + ¢ 123 143 + ¢ 135 155 +¢
25 130 152 + ¢ 129 151 +¢ 141 163 +¢
32 130 152 + ¢ 130 152 + ¢ 140 162 +¢
40 152 172 + ¢ 147 (156) 167 (176) + ¢ 161 181 +¢
50 176 196 + ¢ 171 (183) 191 (203) + ¢ 188 208 +¢
63 176 196 +¢ 171 (183) 191 (203) + ¢ 188 208 +¢
80 215 224 + ¢ 209 (223) 218 (232) + ¢ 231 240 + ¢
100 218 227 + ¢ 212 (226) 221 (235) +¢ 234 243 +¢

# (1): Denotes the dimensions for long stroke.

63

ZSNC



Air Cylinder: With End Lock Series CBG1

With Mounting Bracket g
- [}
=)
Rod trunnion: CBG1U[J 25
(Head end lock -HI only) 50
o | [mm] | |3
i il Bore s Rod end lock: -RL] 3
nzﬁzﬂgz\—_ﬁ e -” o[:ﬁmSI]ZG Z (Head trunnion) ZZ (Head trunnion)
- ) B - - i f Without rod boot | With rod boot | Without rod boot| With rod boot E
v ]
B el I\ N 20 | 104 124 +¢ 117 137 +¢ ol2
1 25 109 181+¢ 122 144 +¢ gs%
32 111 133 +¢ 123 145 + ¢ sl20
. 40 127 (134) | 147 (154) +¢ | 139 (148) | 159 (168) +¢  |P|2 O
Head trunnion: CBG1TO 50 148 (159) | 168 (179)+ ¢ | 162 (174) | 182 (194) + ¢ §
(Rod end lock -R[] only) 63 148 (159) | 168 (179) +¢ | 162 (174) | 182 (194) + ¢ 8
—t —— # (): Denotes the dimensions for long stroke. E
N N E
Moz oatioed % -
T : ) ) . £¢5
I S 20
U ™= K %
Z + Stroke — =
ZZ + Stroke %
£x
-
Clevis: CBG1D — 15”8
- o<
o 20 to o0 63 = gle
- ey 56
i et o | I Y N 7. W I Y\ 5=
e\ \V% gl&
: 553
| 8%
= Sy
Z + Stroke | 3
ZZ + Stroke % (@]
8
Clevis: CBG1DO e Bl e flE
o 80, 0 100 — 80
I /M7 2(7 o
1] AN g0
Qo
Rl I
Z + Stroke D;
ZZ + Strok 5|
+ Olroke g x
(mm) |2} &
: Head end lock: -HC] Rod end lock: -RC] 3l O
Bore size Z 77 Z 77 =
[mm] £
Without rod boot | With rod boot | Without rod boot| With rod boot |Without rod boot| With rod boot |Without rod boot| With rod boot e
20 130 150 + ¢ 141 161 +¢ 129 149 + ¢ 140 160 +¢
25 137 159 +¢ 150 172 +¢ 136 158 + ¢ 149 171 +¢ S
32 141 163 +¢ 156 178 +¢ 141 163 +¢ 156 178 +¢ S “3
40 164 184 + ¢ 182 202 +¢ 159 (168) 179 (188) +¢ 177 (186) 197 (206) + ¢ E M
50 190 210 +¢ 210 230 +¢ 185(197) | 205(217)+¢ | 205 (217) 225 (237) +¢ | |®)
63 195 215 +¢ 217 237 +¢ 190 (202) 210 (222) +¢ 212 (224) 232 (244) +¢ =
80 236 245 + ¢ 254 263 + ¢ 230 (244) | 239 (253)+¢ | 248 (262) 257 277) +¢ |
100 244 253 +¢ 266 275 +¢ 238 (252) | 247 (261) +¢ 260 (274) 269 (283) + ¢
<
) Double end lock: W[ o
Bore size Z 77 E
[mm] (7]
Without rod boot | With rod boot | Without rod boot | With rod boot o
20 141 161 +¢ 152 172 +¢ 5
25 148 170+¢ 161 183 +¢ <
32 151 173 +¢ 166 188 +¢ =
40 173 193 +¢ 191 211 +¢ %
50 202 222 +¢ 222 242 +¢ 5
63 207 227 +¢ 229 249 +¢ o
80 252 261 +¢ 270 279 +¢ ®
100 260 269 +¢ 282 291 +¢ B
# (1): Denotes the dimensions for long stroke. =
64

SVC

O



Series CBG1

Specific Product Precautions 1

Be sure to read this before handling. Refer to the back cover for Safety Instructions.
For Actuator and Auto Switch Precautions, refer to “Handling Precautions for SMC
Products” and the Operation Manual on SMC website, http://www.smc.eu

|

Use the Recommended Pneumatic Circuit \

|

Handling

A Caution

* This is necessary for proper operation and release of

the lock.

2

]
N

dl ol
>
A
7T 77'777TL<>j <
W Lf(fj .
Head end lock Rod end lock
] Handling \
A Caution
1. Do not use 3 position solenoid valves.

10.

65

Avoid use in combination with 3 position solenoid valves
(especially closed center metal seal types). If pressure is
trapped in the port on the lock mechanism side, the cylinder
cannot be locked. Furthermore, even after being locked, the
lock may be released after some time, due to air leaking from
the solenoid valve and entering the cylinder.

. Back pressure is required when releasing the lock.

Be sure air is supplied to the side of the cylinder without a lock
mechanism, (side of the piston rod without lock for double end
lock), before starting up, as in the above figures. Otherwise, the
lock may not be released. (Refer to “Releasing the Lock”.)

. Release the lock when mounting or adjusting the cylinder.

If mounting or other work is performed when the cylinder is
locked, the lock unit may be damaged.

. Operate with a load ratio of 50 % or less.

If the load ratio exceeds 50 %, this may cause problems such
as failure of the lock to release, or damage to the lock unit.

. Do not operate multiple cylinders in synchronization.

Avoid applications in which two or more cylinders with end lock
are synchronized to move one workpiece, as one of the
cylinder locks may not be able to release when required.

. Use a speed controller with meter-out control.

Lock cannot be released occasionally by meter-in control.

. Be sure to operate completely to the cylinder stroke

end on the side with the lock.
If the cylinder piston does not reach the end of the stroke,
locking and unlocking may not be possible.

. Do not use the air cylinder as an air-hydro cylinder.

This may result in oil leak.

. Install a rod boot without twisting.

If the cylinder is installed with its bellows twisted, it could
damage the bellows.

Adjust an auto switch position so that it operates for
movement to both the stroke end and backlash (2

mm) positions.

When a 2-colour indication switch is adjusted for green
indication at the stroke end, it may change to red for the
backlash return, but this is not abnormal.

~
Z

AWarning

1.

Do not operate the cushion valve in the fully closed
or fully opened state.

Using it in the fully closed state will cause the cushion seal to
be damaged. Using it in the fully opened state will cause the
piston rod assembly or the cover to be damaged.

2. Operate within the specified cylinder speed.

Otherwise, cylinder and seal damage may occur.

|

Operating Pressure

A Caution

1. Supply air pressure of 0.15 MPa or higher to the port on the lock

mechanism side, as it is necessary for releasing the lock.

|

Exhaust Speed

A Caution

1.

The lock will be engaged automatically if the pressure applied to the port
on the lock mechanism side falls to 0.05 MPa or less. In cases where the
piping on the lock mechanism side is long and thin, or the speed
controller is separated at some distance from the cylinder port, the
exhaust speed will be reduced. Take note that some time may be
required for the lock to engage. In addition, clogging of a silencer
mounted on the solenoid valve exhaust port can produce the same
effect.

|

Relation to Cushion

A Caution

When cushion valve at lock mechanism side is fully opened or
closed, piston rod may not be reached at stroke end. Thus, lock
is not established. And when locking is done at cushion valve
fully closed, adjust cushion valve since lock may not be released.

|

Releasing the Lock

AWarning

1.

Before releasing the lock, be sure to supply air to the side without a
lock mechanism, so that there is no load applied to the lock
mechanism when it is released. (Refer to the recommended pneumatic
circuits.) If the lock is released when the port on the other side is in an
exhaust state, and with a load applied to the lock unit, the lock unit
may be subjected to an excessive force and be damaged.
Furthermore, sudden movement of the piston rod is very dangerous.

|

Disassembly/Replacement

A Caution

1.

SVC

BT

Do not replace the bushings.
The bushings are press-fit. To replace them, they must be
replaced together with the cover assembly.

2. To replace a seal, apply grease to the new seal before installing it.

If the cylinder is put into operation without applying grease to
the seal, it could cause the seal to wear significantly, leading to
premature air leakage.

3. Cylinders with ¢ 50 or larger bore sizes cannot be disassembled.

When disassembling cylinders with bore sizes of @ 20 through o
40, grip the double flat part of either the tube cover or the rod cover
with a vise and loosen the other side with a wrench or a monkey
wrench etc., and then remove the cover. When re-tightening,
tighten approximately 2 degrees more than the original position.
(Cylinders with @ 50 or larger bore sizes are tightened with a large
tightening torque and cannot be disassembled. If disassembly is
required, please contact SMC.)



Series CBG1
Specific Product Precautions 2

Be sure to read this before handling. Refer to the back cover for Safety Instructions.
For Actuator and Auto Switch Precautions, refer to “Handling Precautions for SMC —
Products” and the Operation Manual on SMC website, http://www.smc.eu

] Working Principle \

= The figures below are the same as those for Series CBA2.

] Manual Release |

A Caution

1. Non-locking type manual release
Insert the accessory bolt from the top of the rubber cap (it is not
necessary to remove the rubber cap), and after screwing it into the lock
piston, pull it to release the lock. If you stop pulling the bolt, the lock will
return to an operational state.

Thread sizes, pulling forces and strokes are as shown below.

Double Acting, Single Rod
CG1

@®Head end lock (Rod end lock is the same.)
1. When the piston rod is getting closer to the stroke end, the taper part (*)
of the piston rod edge will push the lock piston up.

Standard
Double Acting, Double Rod
CG1w

Spring

Lock piston

Remove the bolt for normal operation.
It can cause lock malfunction or faulty release.

7

Piston rod

Bore size [mm] Thread size Pulling force Stroke [mm] =
20, 25,32 |M25x045x25L ormore 49N 2 %
40, 50, 63 |M3x0.5x30 L or more 10N 3 1 I s
80, 100 M5 x 0.8 x 40 L or more 245N 3 Press“'e'_LEZ w ;;6

| g0
=

Rubber cap

Double Acting, Single Rod
CG1K

Non-rotating Rod

Double Acting, Double Rod
CG1KW

2. Locking type manual release
While pushing the M/O knob, turn it 90° counterclockwise. The lock is
released (and remains in a released state) by aligning the amark on
the cap with the WOFF mark on the M/O knob.
When locking is desired, turn the M/O knob 90° clockwise while
pushing completely down, and align the a mark on the cap with the
WON mark on the M/O knob. The correct position is confirmed by a
clicking sound.
Failure to click it into place properly can cause the lock to disengage.

3. The lock piston is pushed up into the groove of the piston rod to lock it.
(The lock piston is pushed up by spring force.) At this time, it is =
exhausted from the port on the head side and introduced into the
atmosphere.

Direct Mount

Double Acting, Single Rod
CG1R

Lock <mm é}?

QQ_L, =) Release
Locked state

4. When pressure is supplied in the head side, lock piston will be pushed
up to release the lock.

1 Direct Mount, Non-rotating Rod |
CG1KR

Back pressure

— _..1( I
Exhaust —@

Locked state Unlocked state

i

With End Lock
CBG1

I

=
5. When the lock is released, the cylinder will move forward. g
=
(7]
[e]
=
]
<
Exhaust € ] LI @
— M ©
k o
[ o
=
]
k-]
]
=

66

O
2



\)

67



Series CG1

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

Solid state auto switch
D-M9CI/M9CIW, D-M9LJA
o 20to o 63

22
(24)

(): Dimension of the D-M9UA
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-M9JV/M9IWV, D-M9CJAV
o 20to o 63

P

(22)

(): Dimension of the D-M9LJAV
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-G5/K5/G50W/G5BA
D-K59W, D-G59F, D-G5NT
o 20too 100

Il

A

D-H7O/H7OW
D-H7NF/H7BA/D-H7C
o 20to o 63

i
:

Reed auto switch
D-A9]
o 20to o 63

A 24.5 B
(22)
(): Dimension of the D-A96
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
D-A9C1V
o 20to o 63

P

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-C7/C8, D-C73C/C80C
o 20 to 0 63

==

A

1
Il

D-B5/B6/B59W
o0 20to o 100

==
A B
Auto Switch Mounting Height [mm]
Auto switch H H
" model | D-MOTI(V) g_:;gw 32?’55\, D-G5NT
D-M9IW(V) D-C73C D-G59F
p-morA(v) DPHINF 5 csoc D-KSSW 1y h7¢e
D-ASLI(V) D-H7BA D-B5/B6 [ ~ron
D-C7/C8 D-B59W
Bore size Hs Hs Hs
20 26.5 27 27.5
25 29 29.5 30
32 32.5 33 33.5
40 37 B7ES) 38
50 42.5 43 43.5
63 49.5 50 50.5
80 — — 59
100 — = 69.5

O

68

Standard
Double Acting, Double Rod
CG1w

Non-rotating Rod

1(
Double Acting, Double Rod
CG1KW

Direct Mount

Double Acting, Single Rod
CG1R

1( Direct Mount, Non-rotating Rod | [

With End Lock

(

o [ e

Double Acting, Single Rod
CG1

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

‘ Made to Order



Series CG1

Auto Switch Proper Mounting Position (Detection at Stroke End)

Except Single Acting, Direct Mount Type (CG1R, CG1KR) and With End Lock (CBG1) [mm]
Auto switch | D-M9] g .
model | D-M9CIV D-H7CIW p-C70] preslolh el
D-H7NF D-G5CW/K59W
D-M9CIW D-A9] D-H7BA D-C80 D-G59F D-B50] D-B59W
D-M9CIWV D-A9C1V D-C73C D-B64
D-H7O D-G5NT
D-M9CIA D-H7C D-C80C D-G5BA
D-M9JAV
Bore size A B A B A B A B A B A B A B
24 20 19.5 20.5 16 14.5 17.5
20 33 (32) 29 (28) 285 | o7 | 295 | 285 | 25 (24) 235 | o5 | 265 | (25)
24.5 20.5 20 21 16.5 15 18
e 325 | 305) | %85 | (085 | 28 (28) | 2° @) | ®*° | a5 | B (23) | 26 26)
25 21 20.5 21.5 17 15.5 18.5
32 34 33) 30 (29) 29.5 (28.5) 30.5 (29.5) 26 (25) 245 (23.5) 275 (26.5)
27 23 225 23.5 19 17.5 20.5
40 39 (36) 35 (32) 345 | 31s) | 35 | @25 | 3 (28) 295 | oes) | 325 | 203
32 28 275 28.5 24 225 25.5
50 46 (44) 42 (40) 41.5 (39.5) 42.5 (40.5) 38 (36) 36.5 (34.5) 39.5 (37.5)
33.5 29.5 29 30 25.5 24 27
63 445 | smy | 405 | a1g | 40 @y | A 42 | 35 | @rs | B (6 | 8 (39)
30.5 29 32
80 — — — — — — — — 495 | (aas) | 48 4z | 5 (46)
31.5 30 33
100 = — — — — = — — 48.5 (45.5) 47 (44) 50 (47)
Note 1) The values in () are for long stroke.
Note 2) Adjust the auto switch after confirming the operating condition in the actual setting.
Single Acting, Spring Return Type (S)
Auto switch model Bore size Aldimonsions B
Up to 50 st 51 to 100 st 101 to 125 st 126 to 200 st
20 58 83 108 — 24
D-M9CI(V) 25 57.5 82.5 107.5 132.5 24.5
g'mgng(\y) 32 59 84 109 134 25
) V) 40 64 89 114 139 27
20 54 79 104 — 20
25 53.5 78.5 103.5 128.5 20.5
DA 32 55 80 105 130 21
40 60 85 110 135 23
D-H7O 20 53.5 78.5 103.5 — 19.5
DH7Sw 25 53 78 103 128 20
D-H7BA 32 54.5 79.5 109.5 129.5 20.5
D-H7NF 40 59.5 84.5 109.5 134.5 22.5
D-C701 20 54.5 79.5 104.5 — 20.5
D-C80 25 54 79 104 129 21
D-C73C 32 655 80.5 105.5 130.5 21.5
D-C80C 40 60.5 85.5 110.5 135.5 23.5
20 50 75 100 — 16
D-G5NT 25 49.5 74.5 99.5 124.5 16.5
D-G59F 32 51 76 101 126 17
40 56 81 106 131 19
20 48.5 73.5 98.5 = 14.5
D-B50] 25 48 73 98 123 15
D-B64 32 49.5 74.5 99.5 124.5 15.5
40 54.5 79.5 104.5 129.5 17.5
20 51.5 76.5 101.5 — 17.5
25 51 76 101 126 18
D-B59W 32 52.5 77.5 102.5 127.5 18.5
40 57.5 82.5 107.5 132.5 20.5

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

69



Auto Switch Mounting Series CG1

Auto Switch Proper Mounting Position (Detection at Stroke End)

g
k)
Single Acting, Spring Extend Type (T) mm] | & —
i : B dimensions 20
Auto switch model Bore size A 30
Up to 50 st 51 to 100 st 101 to 125 st 126 to 200 st P
20 33 49 74 99 — E
D-Mo0I(V) 25 32.5 49.5 74.5 99.5 124.5 -
D-M9CIW(V) =
D-M9TIA(V 32 34 50 75 100 125 e
(V) 40 39 52 77 102 127 - 2
20 29 45 70 95 = g ég
25 28.5 45.5 70.5 95.5 120.5 g g’a
2B 32 30 46 71 96 121 5120
40 35 48 73 98 123 3
D-H7O 20 28.5 445 69.5 94.5 — a
D-H7CJW =
D 25 28 45 70 95 120 z
D-H7BA 32 29.5 45.5 70.5 95.5 120.5 a
D-H7NF 40 34.5 47.5 72.5 97.5 122.5 2
o =
D-C70J 20 29.5 45.5 70.5 95.5 — 20
D-C80 25 29 46 71 96 121 20
D-C73C 32 30.5 46.5 71.5 96.5 121.5 k=]
D-C80C 40 35.5 48.5 73.5 98.5 123.5 g
20 25 41 66 91 — — =
D-G5NT 25 24.5 41.5 66.5 91.5 116.5 &
D-G59F 32 26 42 67 92 117 §,¥
40 31 44 69 94 119 [
20 23.5 39.5 64.5 89.5 — _§(5
D-B50J 25 23 40 65 90 115 32O
D-B64 32 245 40.5 65.5 90.5 1155 T35
40 29.5 42.5 67.5 92.5 117.5 -% e
20 26.5 42.5 67.5 92.5 — ° §
25 26 43 68 93 118 ¢lo
- Ola
D-BS9W 32 275 435 68.5 935 1185 z EE
40 32.5 45.5 70.5 95.5 120.5 Sy
Note) Adjust the auto switch after confirming the operating condition in the actual setting. 38
k)
E
(o
Direct Mount Type (CG1R, CG1KR) (mm] |=|E
=1 k<)
Auto switch | D-M9LC] D-H7O0W 3|5
model D-M9C1V D-H7NF D-C700 k] g’(‘;
D-M9IW D-A9C] D-H7BA D-C80 D-G59F D-B50] D-B59W £13 o
D-M9TIWV D-A9C1V D-H70 D-C73C D-G5NT D-B64 e 2
D-M9CIA : D-C80C 3
D-M9LIAV D-H7C L2
Bore size A B A B A B A B A B A B A B %
20 12 24 8 20 7.5 19.5 8.5 20.5 4 16 25 14.5 55 17.5 § o
25 11.5 24.5 7.5 20.5 7 20 8 21 3.5 16.5 2 15 5 18 = §
=
32 13 25 9 21 8.5 20.5 9.5 21.5 5 17 3.5 155 6.5 18.5 £| (O]
40 18 27 14 23 135 22.5 14.5 23.5 10 19 8.5 17.5 11.5 20.5 <§: o
50 20 32 16 28 15.5 275 16.5 28.5 12 24 10.5 22.5 13.5 25.5 ;,%
63 18.5 33.5 14.5 29.5 14 29 15 30 10.5 2515 9 24 12 27 (
Note) Adjust the auto switch after confirming the operating condition in the actual setting. 5
S -
ol O
wl m
g O
=
S
o
)
S
o
o
=]
[
o
<
=
70

O




Series CG1

Auto Switch Proper Mounting Position (Detection at Stroke End)

With End Lock (CBG1) [mm]
Auto switch D-G5C0W
model Doy D-H7D) D-K59W N
D-MOCIW D-A9C] D-H7C D-GS9F D-C8 D-B5
Lock | p.veowv | D-agov | D-HZOW | D-GS D-C73C D-B6 Akl
position | p-pno = D-H7BA D-K5 D-G80C
D-H7NF D-G5NT
D-M9IAV D-G5BA
Bore size A B A B A B A B A B A B A B
Headend | 33 36 29 32 2855 | 315 25 28 295 | 325 | 235 | 265 | 265 | 295
20 Rod end 44 24 40 20 39.5 19.5 36 16 40.5 205 34.5 14.5 37.5 175
(32) (28) (27.5) (24) (28.5) (22.5) (25.5)
Doubleend | 44 36 40 32 39.5 | 315 36 28 405 | 325 | 345 | 265 | 375 | 295
Headend | 33 36 29 32 28,5 | 315 25 28 295 | 325 | 235 | 265 | 265 | 295
25 Rod end 44 24 40 20 39.5 19:5 36 16 40.5 205 34.5 14.5 37.5 175
(32) (28) (27.5) (24) (28.5) (22.5) (25.5)
Doubleend | 44 36 40 32 39.5 | 315 36 28 405 | 325 | 345 | 265 | 375 | 295
Headend | 34 35 30 31 29.5 | 305 26 27 305 | 315 | 245 | 255 | 275 | 285
32 Rod end 44 25 40 21 39.5 205 36 17 40.5 215 34.5 195 37.5 18.5
(33) (29) (28.5) (25) (29.5) (23.5) (26.5)
Doubleend | 44 35 40 31 39.5 | 305 36 27 405 | 315 | 345 | 255 | 375 | 285
Headend | 39 41 35 37 345 | 365 31 33 355 | 375 | 295 | 315 | 32 345
40 Rod end 48 27 44 23 435 22.5 40 19 445 235 38.5 17.5 41 205
(36) (32) (31.5) (28) (32.5) (26.5) (29.5)
Doubleend | 48 41 44 37 435 | 36.5 40 33 445 | 375 | 385 | 315 | 41 345
Headend | 46 49 42 45 415 | 445 38 41 425 | 455 | 365 | 395 | 39.5 | 425
50 Rod end 58 32 54 28 53.5 27.5 50 24 54.5 28.5 48.5 22.5 51.5 25.5
(44) (40) (39.5) (36) (40.5) (34.5) (37.5)
Doubleend| 58 49 54 45 53.5 | 445 50 41 545 | 455 | 485 | 395 | 515 | 425
Headend | 46 49 42 45 415 | 445 38 41 425 | 455 | 365 | 395 | 39.5 | 425
63 Rod end 58 82 54 28 53.5 27.5 50 24 54.5 28.5 48.5 22.5 51.5 25.5
(44) (40) (39.5) (36) (40.5) (34.5) (37.5)
Doubleend| 58 49 54 45 53.5 | 445 50 41 545 | 455 | 485 | 395 | 51.5 | 425
Head end 48 54 465 | 525 | 495 | 555
80 Rod end — — — — — — 64 s — — 62.5 805 65.5 335
(46) (44.5) (47.5)
Double end 64 54 62.5 | 525 | 65.5 | 55.5
Head end 48 54 465 | 525 | 495 | 555
100 Rod end — — — — — — 64 82 — — 62.5 805 65.5 335
(46) (44.5) (47.5)
Double end 64 54 625 | 525 | 65.5 | 55.5

Note 1) The values in ( ) are for long stroke.

Note 2) Adjust the auto switch after confirming the operating condition in the actual setting.

71




Auto Switch Mounting Series CG1

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches [mm]

Double Acting, Single Rod
CG1

Number of auto switches
Auto switch model With 1 pe With 2 pcs. With n pcs.
’ Different surfaces Same surface Different surfaces Same surface
n-2
D-M9C] 5 15 Note 1) 40 Note 1) 20 + 35(7) 55+35 (n-2) 3
(n=2, 4, 6-..) Note 3) (n=2,3,4,5) E
kel =i
n—2 =15 ;
D-M9CIW 10 15 Note 1) 40 Note 1) 20+ 35(7) 55+35(n-2) Blom
- ...) Note 3) (n=2,8,4,5-) s1£O
(n=2,4,6-) o120
n-2 2
D-M9IA 10 25 40 Note 1) 25+ 3552 60+35(n-2) g
(n=2,4, 6. Note 3) (n=2,3,4,5-) =
n-2 2
D-ASC] 5 .5 30 Note 1) 15+35(T) 50 + 35 (N - 2) g
(n=2, 4, 6...) Note3) (n=234,5-) -
(n-2) _ (%G
D-M9LIV 5 20 35 20+3575 3roe -2 20O
(N=2, 4, 6...)Note 3) (n=2,3,4,5-) 3
(n-2) _ L &
D-A9CIV 5 15 o5 15+35° 5 25_+23g (2 52) =
(n=2, 4, 6-)Note 3) (n=2,3,4,5) g
o
D-M9IWV 10 20 a5 20 + 354%) 35+35(n-2) £
D-M9CJAV (n=2, 4, 6.-) Note 3) (n=2,3,4,5") 86
_ S ELS)
D-C70] 5 15 50 15+45(”2—2) 50 + 45 (n—2) & 3
D-C80 (N=2, 4, 6...)Note3) (n=2,3,4,5-) g8
©
D-H70] of8
D-H7OW 10 15 60 15+45(”2;2) 60 + 45 (n—2) 5|22
D-H7BA (N=2, 4, 6...)Note 3) (n=2,3,4,5-) ‘3%
D-H7NF Y Sy
50
<
B:'(":;gc 5 5 65 15+5o(—)”;2 65+ 50 (n—2) 20
_ Note 3 (n=2,34,5-) S
D-C80C (n=2,4,6-) ) -
o
o
D-G501 = z
D-K39L] ; . s 15+ 50(1>2) 75455 (n-2) 32
D-B50 (n=2, 4, 6-..) Note 3) (n=2,3,4,5") =l ot
D-B64 o 85O
5 5|0
(n-2) s
D-B59W 10 20 75 20 +50° 75+ 55 (n—2) 2
(N=2, 4, 6...)Noted) (n=2,3,4,5-)

. . Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces Note 1)

Same surface Note 1)

A

15

<
S

— T

f

Correct auto switch mounting position is 3.5 mm from the back

face of the switch holder.

auto switch and lead wire do not interfere with each other.

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the

1 Direct Mount, Non-rotating Rod |

With End Lock

[

o [ e

D-M9CI Note 2) Note 2)
D-MOCIW Less than 20 stroke Less than 55 stroke

D-M9CIA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A9[] — Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in styles other than those mentioned in Note 1.

sMC 72

O

‘ Made to Order



Series CG1

Auto Switch Mounting Brackets/Part No.

Auto switch model

Bore size [mm]

20 25 32 40 50 63 80 100
Y V) BMA3-020 | BMA3-025 | BMA3-032 | BMA3-040 | BMA3-050 | BMA3-063 B _
D-A9CI(V) (Asetofa,b,c,d)|(Asetofa,b,c,d)|(Asetofa,b,c,d)|(Asetofa,b,c,d)|(Asetofa,b,c,d)|(Asetofa,b,c,d)
D-MOTIA(V) Note2)| BMA3-020S BMA3-025S BMA3-032S BMA3-040S BMA3-050S BMAS3-063S _ .
(Asetofb,c,de)|(Asetofb,c,d e)|(Asetofb,c,d e)|(Asetofb,c,d e)|(Asetofb,c,de)|(Asetofb,c,d,e)
Switch bracket (Resin) Auto switch
a | Transparent (Nylon) Note 1)
e |White (PBT) Z
|~
b
g
e a
Auto switch
mounting screw
c
[Auto switch mounting band]
* Band (c) is mounted so that the projected part is
on the internal side (contact side with the tube).
D-H70]
AT BMA2-020A | BMA2-025A | BMA2-032A | BMA2-040A | BMA2-050A | BMA2-063A B B
D-C701/C80 (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-C73C/C80C
D-H7BA BMA2-020AS | BMA2-025AS | BMA2-032AS | BMA2-040AS | BMA2-050AS | BMA2-063AS _ _
(A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G501/K59
D-G5C1W/K59W
D-G3BA/GSOF | a.of BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10
D-B5[1/B64 (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-B59W
D-G5NB

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform, methylamines, hydrochloric acid or sulfuric
acid is splashed over, so it cannot be used.
Please contact SMC regarding other chemicals.
Note 2) As the indicator LED is projected from the switch unit, indicator LED may be damaged if the switch bracket is fixed on the indicator LED.

Band Mounting Brackets Set Part No.

Set part no.

Contents

BMA2-00CIA(S)

« 8: Stainless steel screw

- Auto switch mounting band (c)
- Auto switch mounting screw (d)

BJ4-1

- Switch bracket (White/PBT) (e)
- Switch holder (b)

BJ5-1

- Switch bracket (Transparent/Nylon) (a)
- Switch holder (b)

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating environment.
(Since the auto switch mounting bracket is not included, order it separately.)

BBA3: D-B5/B6/G5/K5 types
Note 3) Refer to the Auto Switch Guide for details on the BBA3.
When the D-G5BA type auto switch is shipped independently, the BBAS is attached.

73

O




Operating Range

Auto Switch Mounting Series CG1

[mm]
Auto switch model Bore size
20 25 32 40 50 63 80 100

D-M9[CI(V)

D-M9IW(V) 45 5.0 45 5.5 5.0 5.5 — —
D-M9IA(V)

D-A9(] 7 6 8 8 8 9 — —
3 SiRaoc o [ o [ o T Tw [0 [ -] -
D-B5C1/B64 8 10 9 10 10 11 11 11
D-B59W 13 13 14 14 14 17 16 18
D-H7NFHTBA : . ; 6 - -
D-H7C 7 8.5 9 10 9.5 10.5 — —
g-ggg}l\clilf(,EQ‘l/vlégngVF 4 4 4.5 5 6 6.5 6.5 7
D-G5NT 4 4 4.5 5 6 6.5 6.5 7
D-G5NB 35 40 40 45 45 45 45 50

= Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately £30 % dispersion) and may change
substantially depending on the ambient environment.

Cylinder Mounting Bracket, by Stroke/Auto Switch Mounting Surfaces

Double Acting, Single Rod
CG1

Standard
Double Acting, Double Rod
CG1w

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

= Trunnion type is not available for 80 and @ 100.
+ Adjust the auto switch mounting angle according to the customer’s application.

B
st: Stroke [mm 0;
Basic, Foot, Flange, Clevis Trunnion %
Auto switch model With 1 pc. With 2 pcs. With 2 pcs. With 1 pc. With 2 pcs. With 2 pcs. é 8
(Rod cover side) | (Different surfaces) | (Same surface) (Rod cover side) | (Different surfaces) | (Same surface) ‘z% 2 ;
Auto switch mounting Col!
surface Port surface Port surface Port surface ga
s o 3
~ @F et
o
Auto switch type — 2
D-M9CI(V) = é’a:
- ol<
D-MILIW(V) 10 st or more 15to 44 st 45 st or more 10 st or more 15 to 44 st 45 st or more =1 -
D-M9IA(V) 5|2
D-A9] £z O
5|0
D-C7/C8 10 st or more 15 to 49 st 50 st or more 10 st or more 15 to 49 st 50 st or more g
D-H7C/H7OW LLe
D-H7BA/H7NF 10 st or more 15 to 59 st 60 st or more 10 st or more 15 to 59 st 60 st or more E
D-H7C/C73C/C80C 10 st or more 15 to 64 st 65 st or more 10 st or more 15 to 64 st 65 st or more _-g
D-G5/K5/B5/B6 §
D-G5]W/K59W/G5BA 10 st or more 15to 74 st 75 st or more 10 st or more 15 to 74 st 75 st or more =
D-G59F/G5NT =
D-B59W 15 st or more 20 to 74 st 75 st or more 15 st or more 20 to 74 st 75 st or more g

e |
1 Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. 1|
1 Refer to the Auto Switch Guide for the detailed specifications. 1
: Type Model Electrical entry Features Applicable bore size :
I D-H7A1, H7A2, H7B — I
1 ) D-H7NW, H7PW, H7BW Diagnostic indication (2-colour indication) 0 20to o 63 1
Solid state - —

1 D-H7BA Water resistant (2-colour indication) 1
1 D-G5NT Grommet (In-line) With timer 0 20to o 100 1
1 D-C73, C76 — 1
1 - — - 2 20 to 0 63

Reed D-C80 Without indicator light 1
: D-B53 — 02010 0 100 :
I + With pre-wired connector is also available for solid state auto switches. For details, refer to the Auto Switch Guide. I
I = Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H) are also available. For details, refer to the Auto Switch Guide. I
I = Wide range detection type, solid state auto switch (D-G5NB) is also available. For details, refer to the Auto Switch Guide. I

L o o o o e e e e e e R e R e e e R e e R e mm e e ]

O

SVC

74

With End Lock

[

o [ e

‘ Made to Order



Prior to Use
Auto Switch Connection and Example

Sink Input Specifications

Source Input Specifications

3-wire, NPN

Auto switch

(PLC internal circuit)

3-wire, PNP

Auto switch

(PLC internal circuit)

Connect according to the applicable PLC input specifications, as the connection method will vary depending on the PLC input specifications.

Example of AND (Series) and OR (Parallel) Connection

+ When using solid state auto switches, ensure the application is set up so the signals for the first 50 ms are invalid.
3-wire AND connection for NPN output

(Using relays)

Auto switch 1

Auto switch 2

3-wire AND connection for PNP output

(Using relays)

Auto switch 1

Auto switch 2

2-wire AND connection

Auto switch 1

Brown
O

Load

Auto switch 2

When two auto switches are
connected in series, a load
may malfunction because
the load voltage will decline
when in the ON state.

The indicator lights will light
up when both of the auto
switches are in the ON state.
Auto switches with load
voltage less than 20 V
cannot be used.

Load voltage at ON = Power supply voltage —
Residual voltage x 2 pcs.
=24V -4V x2pcs.

=16V
Example: Power supply is 24 VDC

Internal voltage drop in auto switch is 4 V.

75

(Performed with auto switches only)

Auto switch 1

Brown

O
Auto switch 2 M

(Performed with auto switches only)
Bron

2-wire OR connection

Brown
O

Auto switch 1

Auto switch 2

Auto switch 1

(Solid state)

When two auto
switches are
connected in parallel,
malfunction may occur
because the load
voltage will increase
when in the OFF state.

Load voltage at OFF = Leakage current x 2 pcs. x
Load impedance

=1mAXx2pcs.

=6V
Example: Load impedance is 3 kQ.
Leakage current from auto

SVC

O

x 3 kQ

switch is 1 mA.

Black
O

3-wire OR connection for NPN output

Brown

Load

Load

(Reed)

Because there is no
current leakage, the load
voltage will not increase
when turned OFF.
However, depending on
the number of auto
switches in the ON state,
the indicator lights may
sometimes grow dim or
not light up, due to the
dispersion and reduction
of the current flowing to
the auto switches.



poy a|buis ‘Bundy sjgnod || poy ajgnod ‘Buioy sjgnog | | pusix3uimay buuds ‘Gujoy 8lbuis || poy aibuis ‘Bundy sjanod || poy ejgnog ‘Bunioy ejgnoq || Poy aibuis ‘Bunoy sgnoa
L pJepueis I poy Buneloi-uoN J|___Juno 10811 ]| Poy Buiyejoi-uop ‘Junopy 10811Q JI_ X907 pu3 Yim

190 MDD 190 ALOD MM 1LDD H190 dM199 1940 _E 49plI0 o0} apejy
J

(o]
N~



Series CG1

ESimple Specials

Specifications

The following special specifications can be ordered as a simplified Made-to-Order.
There is a specification sheet available on paper and CD-ROM. Please contact your SMC sales representatives if necessary.

Simple Specials/Made to Order

Please contact SMC for detailed specifications, delivery and prices.

-XA0 to 30 | Change of rod end shape

Bl Made to Order

Specifications

| Heat resistant cylinder (-10 to 150 °C)

| Cold resistant cylinder (-40 to 70 °C)

| Low speed cylinder (10 to 50 mm/s)

m | Low speed cylinder (5 to 50 mm/s)

| With heavy duty scraper

| Made of stainless steel

| Adjustable stroke cylinder/Adjustable extension type

| Adjustable stroke cylinder/Adjustable retraction type

-XC10 | Dual stroke cylinder/Double rod type

-XC11 | Dual stroke cylinder/Single rod type

-XC12 | Tandem cylinder

-XC13 | Auto switch rail mounting

-XC20 | Head cover axial port

-XC22 | Fluororubber seal

-XC27 | Double clevis and double knuckle joint pins made of stainless steel

-XC29 | Double knuckle joint with spring pin

-XC35 | With coil scraper

-XC37 | Larger throttle diameter of connection port

-XC42 | Built-in shock absorber in head cover side

-XC85 | Grease for food processing equipment

m | PTFE grease

Note 1) The shape is the same as the existing product. Use the existing seal kit.

Note 2) Single acting/spring return type (S) only

77

N

CG1
(Standard type)
Double acting Single acting
Single rod Double rod Single rod
Rubber | Air Rubber | Air Rubber
® ® o o
CG1
(Standard type)
Double acting Single acting
Single rod Double rod Single rod
Rubber | Air Rubber | Air Rubber
o ® o o
o o
®
o
® L
Note 2)
® ® L L L
® o
® ®
® ®
® o
®
o o o ®
® o
o o o ¢
L o L
Note 2)
® ® L
® ®
® ® o o
o o
o L o o L
®



Simple Specials/Made to Order Series C G 1

CG1K CG1R CG1KR CBG1
(Non-rotating rod type) (Direct mount type) (Direct mount, Non-rotating rod type) (With end lock ) Note 1)
Double actin Double acting Double acting Double acting Page
Single rod Double rod Single rod Single rod Single rod
Rubber | Air Rubber Rubber | Air Rubber Rubber | Air
L ® L ® BTRE] | Page 79
CG1K CG1R CG1KR CBG1
(Non-rotating rod type) (Direct mount type) (Direct mount, Non-rotating rod type) (With end lock) Nete 1)
Double actin Double acting Double acting Double acting Page
Single rod Double rod Single rod Single rod Single rod
Rubber | Air Rubber Rubber | Air Rubber Rubber | Air
@ ® IPage 81
Note 1 1
Note 1
Note 1)
[ xB13 S
@ o Page 82
Note 1)
® @ @ Page 83
Note 1)
o o .-
o o (a1l Page 85
® B (2RI | Page 85, 86
Note 1
[ ) B (3 PM |Page 87
o @ o o B (o3 KW | Page 871089
o o o D (e»[)/ll-| Page 90
o D (o7 Page 90
o o 5 (o778l |Page 90
D (71l -| Page 91
D (x| Page 91
D (ex74l | Page 91
D (o772 | Page 92
@ @ D (e:L | Page 93
-X446 Page 93

7

O
2

Standard
Double Acting, Double Rod
CG1w

Non-rotating Rod

Double Acting, Double Rod
CG1KW

(S

1

Direct Mount

Double Acting, Single Rod
CG1R

1 Direct Mount, Non-rotating Rod |

With End Lock

[

Double Acting, Single Rod
CG1

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

Made to Order



Series CG1
Simple Specials

These changes are dealt with Simple Specials System.

n Change of Rod End Shape

Applicable Series

Series Action SN ) Note
rod end shape
CG1 Double acting, Single rod XAO0 to 30 #1
Standard type -
CG1w Double acting, Double rod XAO0 to 30
Non-rotating rod type CG1K Double acting, Single rod XAO0 to 30 #1
Direct mount type CG1R Double acting, Single rod XAO0 to 30 *2
With end lock CBG1 Double acting, Single rod XAO0 to 30
=1: Except rod end bracket, pivot bracket #2: Except pivot bracket
A\ Precautions
1. SMC will make appropriate arrangements if no dimension, D<6—=D-1mm 6<D<25—=D-2mm D>25—D-4mm
tolerance, or finish instructions are given in the diagram. 3. In the case of double rod type and single acting retraction type, enter
2. Standard dimensions marked with “«” will be as follows to the rod the dimensions when the rod is retracted.
diameter (D). Enter any special dimension you desire.
Symbol: AQ Symbol: A1 Symbol: A2 Symbol: A3
C C0.5 oDA
30° \ _ 30° |
A . Tl lwt | N
o H H H
Symbol: A4 Symbol: A5 Symbol: AG Symbol: A7
oRD B
oRD | | MM AL MM_, . AL
A AN — 77
€S - [ e +E =
N =
W le\r‘300 n . }30o 30°
L H L "H
H

Symbol: A8 Symbol: A9
= C0.5 file chamfer
iR c WA R sphere
MM \ R sphere TP 4p_\ —
18 : & = Tt S—-—]
AK 12 !
30° — L
T Wit
H i H H

Symbol: A12 Symbol: A13 Symbol: A14 Symbol: A15
C0.5 oDA R AL oDA
R sphere i C gDA 30 M\ 300 C\‘ oDA 30°
Nt - " - e R |-
- | | B i
T| Wi A M A A
H H H H

79



Symbol: A16

Symbol: A17

Simple Specials Series CG1

Symbol: A18

Symbol: A19

Symbol: A20
MM 30°
A LKL}
H
Symbol: A24
MM
H
Symbol: A28
MM x oDA 30°W
A Ai
il
H

MM 30° W
i = ?
gl
l_
Symbol: A21
<| 300
MM % Y
m a
==
T
A
H
Symbol: A25
MM
M N
AL |LIK_ |
H
Symbol: A29
30°
w L
t ~
F T fAL
MM A H

30°

Symbol: A22

MM

oDA

> |-

Symbol: A26

30°

RD

IS

30°

to|

Symbol: A27

MM = 30°

oDA

kN

T[>

Symbol: A30
MM 309
*i; | il
LT
A
H

O

80

Standard
Double Acting, Double Rod
CG1w

Non-rotating Rod

1(
Double Acting, Double Rod
CG1KW

Direct Mount

Double Acting, Single Rod
CG1R

1( Direct Mount, Non-rotating Rod | [

With End Lock

(

Double Acting, Single Rod
CG1

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

CG1KR

CBG1

Auto Switch

Made to Order



Series CG1

Made to Order

Please contact SMC for detailed dimensions, specifications and lead times.

n Heat Resistant Cylinder (—10 to 150 °C)

Symbol

Air cylinder which changed the seal material and grease, so that it could be used even at higher temperature up to 150 from —10 °C.

Applicable Series Specifications
Description Model Action Note Ambient temperature range -10°Cto 150 °C
Standard type CG1 | Double act-ing, Single rod Except with auto switch. Seal material FIuolrorubber
CG1W | Double acting, Double rod | Cylinders with rubber Grease Heat resistant grease

Direct mount type | CG1R | Double acting, Single rod | bumper have no bumper.

Note 1) Operate without lubrication from a pneumatic system lubricator.

Note 2) Please contact SMC for details on the maintenance intervals for this
cylinder, which differ from those of the standard cylinder.

Note 3) In principle, it is impossible to make built-in magnet type and the one
with auto switch. But, as for the one with auto switch, and the heat
resistant cylinder with heat resistant auto switch, please contact SMC.

Note 4) Piston speed is ranged from 50 to 500 mm/s.

How to Order
| Standard model no.

|- xB6

Heat resistant cylinderl

E Cold Resistant Cylinder (-40 to 70 °C)

Specifications other than above

and external dimensions Same as standard type

AWarning
Precautions

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.

Symbol

Air cylinder which changed the seal material and grease, so that it could be used even at lower temperature down to —40 °C.

Applicable Series Specifications
Description | Model Action Note Ambient temperature range -40°Cto 70 °C
oG Double acting, Except with air cu§hion and auto switch, Seal material Low nitrile rubber
Single rod | fod end bracket, pivot bracket. Grease Cold resistant grease
Standard type Cylinders with rubber bumper have no -
caw | Beubleacting, | humper. Auto switch Not mountable
Double rod | Except with rod boot and with air cushion. Dimensions Same as standard type
Direct mount CG1R Double acting, | Except with air cushion and with auto switch. l Additional specifications Same as standard type
type Single rod | Cylinders with rubber bumper have no bumper.

Note 1) Operate without lubrication from a pneumatic system lubricator.

Note 2) Use dry air which is suitable for heatless air dryer etc. not to cause
the moisture to be frozen.

Note 3) Please contact SMC for details on the maintenance intervals for this
cylinder, which differ from those of the standard cylinder.

Note 4) Mounting auto switch is impossible.

Note 5) Without a bumper.
Piston speed is ranged from 50 to 500 mm/s.

How to Order
| Standard model no.

|- xB7

Cold resistant cylinderl

B Low Speed Cylinder (10 to 50 mm/s)

AWarning
Precautions

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.

Symbol

Even if driving at lower speeds 10 to 50 mm/s, there would be no stick-slip phenomenon and it can run smoothly.

Applicable Series Specifications
Description | Model Action Note Piston speed 10 to 50 mm/s
Standard type | CG1 Double acting, Single rod | Except with rod boot and with air cushion Dimensions Same as standard type

Direct mount type | CG1R | Double acting, Single rod Except with air cushion

Note) Operate without lubrication from a pneumatic system lubricator.

How to Order
Standard model no.

|- xB9

Low speed cylinderl
81

‘ Additional specifications

AWarning

Precautions

Same as standard type

Be aware that smoking cigarettes etc. after your hands have come into
contact with the grease used in this cylinder can create a gas that is
hazardous to humans.



Made to Order Series C G 1

Specifications other than above

Symbol 2
[
H =)
n Low Speed Cylinder (5 to 50 mm/s) 5’5
S
Even if driving at lower speeds 5 to 50 mm/s, there would be no stick-slip phenomenon and it can run smoothly. §Q
@
Applicable Series Specifications §
Description | Model Action Note Piston speed 5 to 50 mm/s =
Standard type | CG1 | Double acting, Single rod | Except with rod boot and with air cushion Dimensions Same as standard type %
Direct mount type | CG1R | Double acting, Singlerod | Except with air cushion | Additional specifications Same as standard type | e g;
Note 1) Operate without lubrication from a pneumatic system lubricator. % ?E
Note 2) For speed adjustment, use speed controllers for controlling at H &HhlB
lower speeds. (Series AS-FM/AS-M) Awar!‘"ng % o
Precautions 3
How to Order Be aware that smoking cigarettes etc. after your hands have come into =
Standard model no. - XB13 contact with the grease used in this cylinder can create a gas that is &
hazardous to humans. é
Low speed cylinderl E’E
%0
Symbol 3
EWith Heavy Duty Scraper e
o
o
It is suitable for using cylinders under the environment, where there are much dusts in a surrounding area by using a heavy duty scraper on the §’¥
wiper ring, or using cylinders under earth and sand exposed to the die-casted equipment, construction machinery, or industrial vehicles. [
£Q
Applicable Series Specifications: Same as standard type 3O
Description Model Action Note . Dé, %
Standard type CG1 Double acting, o 32 to @ 63 onl ACautlon % =
yp Single rod Y Do not replace heavy duty scrapers. é §
e Since heavy duty scrapers are press-fit, they must be replaced together | §|-2 g
How to Order with the scraper bracket. = S!
Sy=
Standard model no. - XC4 30
20
With heavy duty scraperl §
HE
Dimensions Eli
=1 [
M_ FA mm] || E¢D
Bl Bore H Y74 5|20
size e L Male thread | Female thread | Male thread | Female thread §
I T T 32 [ 17 | 8 | 3 |5 |3 | 48 | 28 | 121 | 101 [[S
| I W 40 | 21 | 8 | 3 [35]| 47 | 58 29 [ 138 | 109 (B
o fan) i ; fASY 50 |26 | 9 | 3 |45| 58 | 66 30 158 | 122 |g -
Slsp  —I LSS 63 [ 26 | 9 [ 3 [55 72| 66 | 30 | 158 | 122 |§| g
| I — | é -
L - | = Other dimensions are the same as double acting, Long Stroke ‘% (O]
| single rod, standard type. Y44 = o
H = On the axial foot and the rod flange types, the Male thread | Female thread g
mounting bracket is wedged and bolted between 129 109 p——
ZZ + Stroke . :
the cylinder and the scraper at the time of 147 118
shipment. On other types, it is placed in the 170 134 S
same package, (but not assembled). 170 134 S =
S VASR B . S 1 Y O]
wl m
gl O
Symbol =
ﬂ Made of Stainless Steel =
<
Suitable for the cases it is likely to generate rust by being immersed in the water and corrosion. S
S
Applicable Series How to Order ‘g
Description Model Action Note Standard model no. - XC6 5
G Double acting, Single rod <
Standard type Single acting (Spring return) Made of stainless steell u
CG1W | Double acting, Double rod S ificati §
Direct mount type | CG1R | Double acting, Single rod pectiications - - %
Smooth Cylinder |CG1Y | Double acting, Single rod | Parts changed to stainless steel Piston rod, Rod end nut | =
S
=

O

and external dimensions

Same as standard type

SVC

82




Series CG1

Symbol
Adjustable Stroke Cylinder/Adjustable Extension Type
It adjusts the extending stroke by the stroke adjustable mechanism equipped in the head side.
Applicable Series Specifications
Description Model Action Note Stroke adjustment symbol A B

Standard type CG1 | Double acting Stroke adjustment range [mm] 0to 25 0 to 50

Non-rotating rod type CG1K | Double acting | Except with air cushion l Additional specifications l Same as standard type

Direct mount type CG1R | Double acting | Except with air cushion

Direct mount, Non-rotating rod type | CG1KR | Double acting | Except with air cushion*!

#1 The shape is the same as the existing product. Use the existing seal kit.

How to Order
CG1 |Mounting style

| Type

* Except head flange and clevis types [

Bore sizel - |Stroke| |Stroke adjustment symbol | Z- | Pivot bracketl |Rod end bracket| = XC8
I

CG1KR |Bore sizel - |Stroke| |Stroke adjustment symbol | - XC8

Mounting style| |Type

A Warnin g Adjustable stroke cylinder/Adjustable extension type

Precautions
r‘f’f 1. When the cylinder is operating, if something gets caught between the
\Stroke adjustment mechanism stopper bracket for adjusting the stroke and the cylinder body, it could

cause bodily injury or damage the peripheral equipment. Therefore, take
preventive measures as necessary, such as installing a protective cover.

2. To adjust the stroke, make sure to secure the wrench flats of the
stopper bracket by a wrench etc. before loosening the lock nut. If the
lock nut is loosened without securing the stopper bracket, be aware that
the area that joins the load to the piston rod or the area in which the
piston rod is joined with the load side and the stopper bracket side
could loosen first. It may cause an accident or malfunction.

Dimensions (Dimensions other than below are the same as standard type.)

Series CG1
Stopper bracket Width across flats MA ~ Width across flats B2
BE TT TR Stopper / MM2
o N 72 ) - 1 =
e S | BN AH i
% MK H2 [mm]
MT Stroke_| ML + Adjustment Bore
S + Stroke MH + Stroke + Adjustment size B2 | H2 \MA|MH| MI \MK|ML MM2 MT| S | ZZ
ZZ + 2 x Stroke + Adjustment (A: 25 mm, B: 50 mm) 20 |10 36|12 38| 14| 7|18 M6 x 1 ol 77150
25 |13 |5 |17 |41|20| 9|18 | M8x1.25 | 11| 77| 158
32 |13 |5 |17 |41|20| 9|18 | M8x1.25 |11 | 79| 160
40 (17 |6 |19 (47 |25|10|24 | M10x1.25 | 11| 87| 184
50 |19 (8 |24 |60|32|13|32| M14x1.5 |11 |102|220
63 |19(8 |24 |60|32|13|32| M14x1.5 |13 |102 | 220
x On the axial foot type, the foot is wedged and bolted between the
cylinder and the stopper bracket at the time of shipment. On other
types, it is placed in the same package, (but not assembled).
Series CG1K/CG1R/CG1KR

Width across flats MA

I ) = Width across flats B2
i o e =
L( ‘YJ', I s ,A} Q MM2
AT i . 1 =
LHZLhN_ il } . 4
| MK Hz [mm]
MT Stroke | ML + Adjustment Bore
S + Stroke MH + Stroke + Adjustment size Bz | Hz|MA MH| MI| MK ML MMz |MT| S | 2Z
ZZ + 2 x Stroke + Adjustment (A: 25 mm, B: 50 mm) 20 |10(36|12|38| 14| 71|18 M6 x 1 9| 831148
25 (13 |5 17 41|20 9|18 | M8x1.25 | 11 85 | 158
32 |13 |5 17|41|20| 9|18 | M8x1.25 | 11 91 | 164
40 |17 |6 19 |47 25|10 |24 | M10x1.25| 11 | 103 | 189
50 (19 |8 24 |60|32|13|32| M14x1.5 |11 | 120 | 225
63 |19 |8 24 160|32|13|32| M14x1.5 | 13 | 126 | 231
83

O
2



Made to Order Series C G 1

E Adjustable Stroke Cylinder/Adjustable Retraction Type

The retracting stroke of the cylinder can be adjusted by the adjustment bolt.

Applicable Series

Specifications

Symbol

Double Acting, Single Rod
CG1

Description Model Action Note Stroke adjustment symbol A B 3
i Stroke adjustment range [mm Oto25 0to 50 S
Sudpe | cor |Pyneseine | Bt e pstment enge () ofiz
) yp \ Additional specifications | Same as standard type | g 8 =
Non-rotating rod Double acting, | Except head flange and clevis S 20
CG1K ) P . S|
type Single rod types and with air cushion ZJELS)
@

. Double acting, A . 3
Direct mount type | CG1R Single rod Except with air cushion 8
Direct mo_unt, CG1KR | Double acting | Except with air cushion*1 S
Non-rotating rod type £

%1 The shape is the same as the existing product. Use the existing seal kit. E’E
20
How to Order £
CG1|Mounting style || Type | [Bore size [~ | Stroke || Stroke adjustment symbol | Z —| Rod end bracket |-~ XC9 | |&
* Except head flange and clevis types | | E
k%)
CG1KR|Mounting style || Type || Bore size |—| Stroke | [ Stroke adjustment symbol |= XC9 EX
-
j=2}
c
Adjustable stroke cylinder/Adjustable retraction typel i 8
. |8
AWarning EE
Precautions 3 z
1. When air is supplied to the cylinder, if the stroke adjustment bolt is (z% % ;
loosened in excess of the allowable stroke adjustment amount, be 4
aware that the stroke adjustment bolt could fly out or air could be 2=
discharged, which could injure personnel or damage the peripheral g O
Adjustment bolt equipment. 20
2. Adjust the stroke when the cylinder is not pressurised. L 8
If it is adjusted in the pressurised state, the seal of the adjustment HE
section could become deformed, leading to air leakage. =5
3|2
Dimensions (Dimensions other than below are the same as standard type.) § ‘g,a
c
2138
(mm] |5 O
Q
Rubber bumper | Air cushion 3
i vt BM Bore size L e
T i [ “ BM S MH]zz [MH ]| 2z £
;H} /a3 _ = T 20 M6 x 1 77 | 23 | 135 | 21 | 133 |G
g 25 M6 x 1 77 23 140 21 138 g §
32 M8 x 1.25 79 | 25 | 144 | 25 | 144 (5| =
2l O
s MH + Adjustment 40 M12 x 1.75 87 40 177 39 176 3l O
ZZ + Stroke + Adjustment (A: 25 mm, B: 50 mm) 50 M12x1.75 102 33 193 37 197 E
63 M16 x 2 102 40 200 44 204 =l
* In the case of axial foot type, it is assembled at the time of shipment.
On other types, it is placed in the same package, (but not §
assembled). a3 6
x Dimensions other than above are the same as those for the CG1 E o
series, long stroke type. =l O
g
<
2
S
(%)
[}
=S
S
<

O

84

Made to Order



Series CG1

Symbol
E Dual Stroke Cylinder/Double Rod Type -XC10

Two cylinders are constructed as one cylinder in a back-to-back configuration allowing the cylinder stroke to be controlled in three steps.

Applicable Series

T
Description Model Action Note - ///J
Standard type | CG1 Double acting, Single rod | Except rod end bracket, pivot bracket 2 d

Non-rotating rod type | CG1K | Double acting, Single rod | Except rod end bracket, pivot bracket @ V

How to Order
CG1 |Mounting stylel |Type|| Bore size |-| Stroke A |+| Stroke B H Suffix |Z = XC10

Dual stroke cylinder/Double rod type

] Function
® oc |10 When air pressure is supplied to strokeB B ®IC  |® When air pressure is supplied to
ports @ and @, both strokes A and { } ports @ and ®, B out strokes.

B retract.

® D|® A gyoea When air pressure is supplied to stokeB B @H® A sioea  When air pressure is supplied to
{ } ports @ and @, A out strokes. ports @ and ®, both strokes A and

B out strokes.

Dimensions (Dimensions other than below are the same as standard type.)

= WC
GC
GD, * WD
D port D port " Cport A port
+ For C port TA - ;
Ve Vit
=]
H SB + Stroke B SA + Stroke A I H
ZZ + Stroke (A + B)
[mm]
Boresize| GC | GD | H | SA SB | Wo [—ooTha— 2z
20 20.5(21) | 85(9) 35 |56.5(56) | 85.5(86)| 30° (25) (5) 212
25 21(21.5) | 9(8.5) 40 |56 86 30° (25) (5) 202
32 23 9 40 |58 90 30° (27) (5) 228
40 23.5(25) | 7.5(9) 50 | 66.5(65) | 97.5(99) | 20° (29) (5) 264
50 29 13 58 |75 117 20° (33) (9) 308
63 28 12 58 |76 116 (116) | 20° (32) (8) 308
= () With air cushion
Symbol
Il Dual stroke Cylinder/Single Rod Type -XC11
Two cylinders can be integrated by connecting them in line, and the cylinder stroke can be controlled in two stages in both directions.
Applicable Series Specifications: Same as standard type
Description Model Action Note * Please contact SMC for each manufacturable stroke length.

Standard type CG1 Double acting, Single rod
Non-rotating rod type | CG1K | Double acting, Single rod | Except with air cushion

How to Order
CG1 | Mounting style | |Type| |Bore size| - |Stroke A| + |Stroke B-Al |Suffix| Z- | Pivot bracketl | Rod end bracket|—= XC11

[
CG1K | Mounting style | |Type| |Bore size| - |Stroke Al + |Stroke B-Al |Suffix| - XC11

Dual stroke cylinder/Single rod type
85



m Dual Stroke Cylinder/Single Rod Type

Dimensions (Dimensions other than below are the same as standard type.)

Made to Order Series C G 1

Double Acting, Single Rod
CG1

GC D port Note)
ap | / 2
o
C port + WD Apot HE ;
B port 1 1]
/] E 2%
N I ¥ Trrw L 5 E o
0 Yl Nl o
: = _ i 3
=== | =
2
H SB + Stroke B SA + Stroke A -
ZZ + Stroke (A + B) £0
0
g
Note) D port style Type N: Rubber bumper, Plug with fixed orifice; Lé;
Type A: Air cushion, element non-installation (Release to atmospheric pressure) —
o
o
CG1, CG1K [mm] p
B Air | LongNete) (%’ X
sioz": GC GD | H |SA|SB | Wo | ZZ |cushion| stroke ga
WD |SA| ZZ i O
20 21 9 35|48 | 87|30°[172| 5 56 | 180 £]2
25 | 21(21.5) | 9(8.5) |[40[48| 87|30°|177| 6.5 |56 |185 2 g
32 | 23 9 40|50 | 91[30°|183| 5 58 | 191 B
40 | 25 9 50 |56 | 100 | 20° | 208 | 5 65 | 217 g %
50 | 29 13 5863|118 |20°|241| 9 75| 253 Sl ;
63 | 28 12 58 |64 |117[20° (241 8 |76]253 4
j=2}
# (): With air cushion = 6
Note) When the stroke A is a long stroke (¢ 20: 201 mm or more, @ 25 to ; (8
@ 63: 301 mm or more) El
o
| Functional description of dual stroke cylinder | | Stroke A or stroke B operation can be made individually. | [~ (3
o
Ele
B c A B A i 3|2
/ I L 1) Initial state i ¢ & [StrokeAoperation) SIS
I ‘ (0 stroke position) ‘ 1) Initial state O]
. = 2
[ 2) 1st stage (o] strolfe position) a p (@]
Stroke B Stroke A (Stroke A operation) Stroke B Stroke A 2) Operation 3
'A) When the air pressure (A When the air pressure |2
B c | is supplied from t{@) Stroke A_ B c | is supplied from (3
5 i b port, the rod operates \ | 1 I ‘ the @ port, the rod |}
L | 1 ‘ the stroke A. L | 1 operates the stroke A. |§ E
Stroke A g
3) 2nd stage 2| =
(Stroke B-A operation) B c A (stroke B operation) |2| O
(C] (A Following the 1st stage, ‘ . 2 O
Stroke B-A I? ] ] when the air pressure 1) Initial state F
] 1 ‘ is supplied from t® (0 stroke position) (S
i | | port, the rod operates Stroke B Stroke A 2) Operation (
® the stroke B-A. ® When the air pressure |<
c A . . Stroke B B ) A is supplied from |8] =
| ] | 4) Cylinder retraction ‘ the @ port, the rod |3 (9
‘ ‘ When the air pressure I operates the stroke B. ||| 0O
H is supplied from ti® =l O
ort, the rod retracts i S
Stroke B Stroke A Eompletely. A CaUtlon =
Precautions G S
‘ D I T ibl | 1. Do not supply air until the cylinder is fixed with the attached bolt. 'S
ouble output is possible. 2. If air is supplied without securing the cylinder, the cylinder could lurch, =
posing the risk of bodily injury or damage to the peripheral equipment. (%
B A
1 ¢ 4 2
‘ 1) Initial state S
(0 stroke position) <
Stroke B Stroke A

®

[ i I ‘\: “
wl o w. I 1

2) Double output
When the air pressure
is supplied to ti@®
and @ ports at the
same time, the double
output can be obtained
in the stroke A range.

O

86

Made to Order




Series CG1

Symbol
m Tandem Cylinder -XC12

This is a cylinder produced with two air cylinders in line allowing double the output force.

Applicable Series Specifications: Same as standard type

Description Model Action Note
Standard type CG1 | Double acting, Single rod | Except with air cushion | Function |
Non-rotating rod type | CG1K | Double acting, Single rod | Except with air cushion

l@ Cjc-) A When air pressure is supplied to ports ®

How to Order o and @, the output force is doubled in the
retract stroke.
Standard model no. |- XC12 B O |®
-— When air pressure is supplied to ports @
Tandem cylinderl - and @, the output force is doubled in the
D out stroke.

Dimensions (Dimensions other than below are the same as standard type.)

GC
GD
B port C port D port A port
HiY virtie it
BT YAT e E—
LA RN
H SB + Stroke SA + Stroke
ZZ + 2 x Stroke
CG1 [mm] CG1K [mm]
. L ke Note) .

Boresize| GC [GD | H | SA | SB | We | ZZ °§gs“° S Boresize]l GC | GD | H | SA | SB | Weo | 2z
20 21 9 | 35 | 48 87 | 30° | 172 56 180 20 21 9 35 48 87 30° 172
25 21 9 40 48 87 | 30° | 177 56 185 25 21 9 40 48 87 30° 177
32 23 9 | 40 | 50 91 | 30° | 183 58 191 32 23 9 40 50 91 30° 183
40 25 9 | 50 | 56 | 100 | 20° | 208 65 217 40 24 8 50 57 99 20° 208
50 29 13 58 63 | 118 | 20° | 241 75 253 50 28 12 58 64 117 20° 241
63 28 12 58 64 | 117 | 20° | 241 76 253 63 28 12 58 64 117 20° 241

Note) In the case of long strokes (g 20: 201 mm or more, o 25 to @ 63: = Please contact SMC for long stroke (301 mm or more) since SA-dimensions

301 mm or more) and ZZ-dimensions are different from those in the above table.
Symbol

m Auto Switch Rail Mounting -XC13

A cylinder on which a rail is mounted to enable auto switches, in addition to the standard method for mounting auto switches (Band mounting).

Applicable Series How to Order
Description | Model Action Note CDG1 Standard model no - XC13A
caGi Doubl acig, Sngerod Exgept trunn!on and basic (without . ] ] ] l
Standard trunnion mounting female thread) types Rail mounting direction

type ' Except trunnion and basic (without Mounted on the right side when viewed from
CGTW | Doubl acting, Doule od trunnion mounting female thread) types XC13A the rod with the ports facing upward.
XC13B | Mounted on the left side when viewed from the rod.

¥

Non-rotating Except trunnion and basic (without trunnion mounting

CG1K | Double acting, Single rod

rod type female thread) types, Except with air cushion = Not available for CBG1.
Direct mounttype | CG1R | Double acting, Single rod Except with air cushion
With end lock | CBG1 | Double acting, Single rod For XC13A only

Applicable Auto Switches

Solid | D-MOC/M9V, D-MICOW/MICWV, D-MITIA/MITIAV, D-F700, D-F701V,
state | D-F7BA, D-F79F, D-F79W, D-F70WV, D-J79, D-J79C, D-J79W

Reed | D-A7/A8, D-A7C0H/A80H, D-A73C/A80C, D-A79W

Auto switch | Refer to the Auto Switch Guide for additional
specifications | information on auto switches.

87 ZS\NC

Rail
mounting




B Auto Switch Rail Mounting

Made to Order Series C G 1

Symbol

Auto Switch Proper Mounting Position (Detection at Stroke End) and Its Mounting Height

Double Acting, Single Rod
CG1

Series CDG1 Series CDG1R 5
(o 20 to o 63) S
e
HES
2 ma
; ; -t o] B
HE IE =..|.E,=“-.-" o120
%7 = ]» [ w2 = %
A LB.| A
1.
Auto Switch Proper Mounting Position (Detection at stroke end) §8
Applicable Cylinder Series: CDG1-XC13 [mm] | |2
Auto switch|  D-M9C/D-M9CIV D-F7TOIF79FIF7TOV  D-F7BA/F7ABV! D-A70] g
model|  D-MOCIW/D-M9CIWV D-J79/479C D-A72/A7TOH/A80H D-F7NT D-AS0 D-A79W (=
D-M9CJA/D-MOCIAV D-FTOWNTIW/FTOWV D-A73C/A80C €
Bore size A B A B A B A B A B Sy
20 315 22.5 (30.5) 30.5 21.5 (29.5) 355 26.5 (34.5) 30 21 (29) 27.5 18.5 (26.5) Ooy=
25 31 23 (31) 30 22 (30) 35 27 (35) 295 21.5 (29.5) 27 19 (27) - §8
32 32,5 23.5 (31.5) 315 22.5 (30.5) 36.5 27.5 (35.5) 31 22 (30) 28.5 195(275) | [2]2
40 37.5 25.5 (34.5) 36.5 24.5 (33.5) 415 29.5 (38.5) 36 24 (33) 33.5 21.5(30.5) g8
50 445 30.5 (42.5) 435 29.5 (41.5) 49 34.5 (46.5) 43 29 (41) 405 26.5(385) | [£(3
63 43 32 (44) 42 31 (43) 47 36 (48) 415 30.5 (42.5) 39 28 (40) g E;
80 56 37 (51) 55 36 (50) 60 41 (55) 54.5 35.5 (49.5) 52 33 (47) z 3%
100 55 38 (52) 54 37 (51) 59 42 (56) 53.5 36.5 (50.5) 51 34 (48) gF
Note 1) ( ): For long stroke ﬁg
Note 2) Adjust the auto switch after confirming the operating condition in the actual setting. El
o
- - mgw - ( °
Auto Switch Proper Mounting Position (Detection at stroke end) -
. . . cle
Applicable Cylinder Series: CDG1R-XC13 [mm] é 2
Auto switch| ~ D-M9OC1/D-M9OIV D-F7TOIFT9FIF7TONV  D-F7BA/F7ABV! D-A70] k3] g’a
model D-M9CIW/D-M9CIWV D-J791J79C D-A72/ATCH/A80H D-F7NT D-A80 D-A79W %’ K O
D-M9JA/D-M9CIAV D-F7TOWNTIW/FTOWY D-A73C/A80C 2
Bore size A B A B A B A B A B g
20 10.5 22,5 9.5 215 14.5 26.5 9 21 6.5 18.5 (=
25 10 23 9 22 14 27 8.5 21.5 6 19 Eé’ o
32 115 23.5 10.5 22,5 155 27.5 10 22 7.5 19.5 g >4
40 16.5 25.5 15.5 245 20.5 29.5 15 24 125 21.5 5 6
50 18.5 30.5 17.5 29.5 22.5 34.5 17 29 14.5 26.5 E% O
63 17 32 16 31 21 36 15.5 30.5 13 28 g
Note) Adjust the auto switch after confirming the operating condition in the actual setting. ; —
Auto Switch Proper Mounting Position/Applicable Cylinder Series: CDBG1-XC13 [mm Auto Switch Mounting Height [mm] '§ -
= -
Lock posion H R w Auto switch | D-MOC/M9TIV ol O
(Head end) (Rod end) (Double end) mode!| D-MOCIW/MICIWV D-FTCV w| M
B A BNote2) | A B A B Note2) D-MIDAMITAV | pezu | 129 | D-A70 [D-A73C |0 ool | € o
20 +0 +12 +11 +0 +11 +12 D-F7LIF79F D-F7BAV el e e =
D-J79/F7NT
25 +0.5 +11.5 +11.5 -0.5 +11.5 +11.5 D-F70W/J79W/F7BA T
32 +0 +10 +10 +0 +10 +10 Bore size Hs Hs Hs Hs Hs Hs S
40 +0 +14 +9 +0 +9 +14 20 26.5 29 32 25.5 32.5 28 §
50 +0 +17 +12 +0 +12 +17 25 29 31.5 34.5 28 35 30.5 »n
63 +1.5 +15.5 +13.5 -1.5 +13.5 +15.5 32 325 35 38 315 38.5 34 *g
80 -1.5 +23.5 +14.5 +1.5 +14.5 +23.5 40 36.5 39 42 355 425 38 <
100 -0.5 +23.5 +15.5 +0.5 +15.5 +22.5 50 42 445 475 41 48 435
Note 1) For cylinders with end lock, add the above values to those listed in the table for 63 49 51.5 54.5 48 &5 50.5 %
CG1-XC13. =
Note 2) For the head and double end lock, add the above values to CG1-XC13 (long 80 59 61.5 64.5 58 65 60.5 %
stroke) to find B. 100 69.5 72 75 68.5 75.5 71 ®
Note 3) Adjust the auto switch after confirming the operating condition in the actual setting. o
Note 4) For the dimensions other than the auto switch proper mounting position and its g
mounting height, refer to the standard type of the CBG1 series.
88

O
2



Series CG1

B Auto Switch Rail Mounting

Minimum Stroke for Auto Switch Mounting_

Operating Range

Symbol

Note) When “n” is an odd number, an even number that is one larger than this
odd number is used for the calculation. However, the minimum even
number is 4. So, 4 is used for the calculation when “n” is 1 to 3.

Auto Switch Mounting Brackets/Part No.

Aut il ekl Bore size [mm]
uto switch mode

o 20to o 100
D-M9CI/MOIV
D-M9CIW/MOCIWV BQ2-012
D-M9TJA/MOLIAV BQ2-012S

Note 1) When ordering the auto switches other than D-M9UJOJO and D-F7BA(V)
mentioned on the above, order auto switch mounting brackets BQ-1

separately.

Note 2) When adding D-M9OJA(V), order a stainless steel screw set BBA2 together
with BQ2-012S separately.
When adding the auto switch D-F7BA(V), order a stainless steel screw set

BBA2 separately.

89

O

[mm] [mm]
Number of auto switches - itch model Bore size
Auto switch model ; 2 n (n: No. of auto switches) uto switeh mode 20| 25 [ 32|40 | 50| 63 | 80 | 100
Same surface Same surface D-MSL/MOLIV

BZ'\F"?DD\',MQDV 5 5 10+10(n-2) D-M9CIW/M9CIWV 4 | 4|5 | 4 |55|65|75]| 7
D-J79C (n=4,6...)Nte) D-MOCJA/MOIAV
D-MoCIWV D-F70/F79F/F70IV
D-M9TJAV 10+ 15 o D-J79/J79C
D-F70WV 10 15 ) 6(” 2, D-F7OW/J79W/F7TOWV| 45 | 4 | 45| 5 | 5 | 6 | 6 | 6
D-F7BAV (n=46-) D-F7BA/F7BAV
D-A79W D-F7NT
D-MoCIW 10 15 15+15(n-2) D-A701/A80
D-M9IA (n=4,6 ) Nte) D-A7C1H/A80H 9 | 9 | 10|11 |11 [135] 13 135
D-F700 5 5 15+15(n-2) D-A73C/A80C

= = ...) Note)
g:;g W/J79W (n=46-) D-A79W 11 11 13 14 14 | 16.5| 16 |16.5
D:F7EA 9 10 15 15+20(n-2) * Since the operating range is provided as a guideline including hysteresis, it
D-F79F/E7NT (n=4,6--)Note) cannot be guaranteed. (Assuming approximately +30 % dispersion.) It may

vary substantially depending on an ambient environment.

D-A701/A80 5 10 15+10(n—-2)
D-A73C/A80C (n=4,6..)Note)
D-A7CH 5 10 15 + 15 (n - 2)
D-A80H (n=4,6...)Note)



m Head Cover Axial Port

Head side port position is changed to the axial direction. (Standard head side port is plugged with hexagon socket head screw.)

Made to Order Series C G 1

Symbol

Double Acting, Single Rod
CG1

Applicable Series Construction
Description Model Action Note
CG1 Double acting, Single rod | Except with air cushion Connection port
Standard type cGi Single acting —_—
(Spring return/extend) L
Non-rotating rod type | CG1K | Double acting, Single rod | Except with air cushion
Direct mount type | CG1R | Double acting, Single rod | Except with air cushion i
Bgﬁ_c:org%l:;t}o dtype CG1KR | Double acting, Single rod | Except with air cushion™!

#1 The shape is the same as the existing product. Use the existing seal kit.

Bore size [mm] Port size
How to Order 20, 25, 32, 40 Rols
Standard model no. = XC20 50, 63 RcYs

Head cover axial porll = Same dimensions as standard type except port size.

Specifications: Same as standard type

+ Be sure to use the speed controller since head side
port has no throttle.

Standard
Double Acting, Double Rod
CG1w

Single Acting, Spring Return/Extend

Double Acting, Single Rod
CG1K

o
o
o
Symbol ||
©
m Fluororubber Seal -XC22 BEE
Sle
. . . 522
Applicable Series Specifications N4
j=2}
Description Model Action Note Seal material Fluororubber = 6
<<
cG1 Double acting, Cylinders with rubber Ambient temperature | With auto switch Note 1): 10 °C to 60 °C (No freezing) 20
Single rod bumper have no bumper. range Without auto switch 1 -10°C to 70 °C 9 §
Standard type -
CcG1W Double acting, Cylinders with rubber Specifications other [
Double rod bumper have no bumper. than above and Same as standard type =
: . : external dimensions §
Direct mount type | CG1R Dosu_ble,] actlgg, b Cyllndﬁrs with ';Jbber Note 1) Please contact SMC, as the type of chemical and the operating E
ingle ro Umper have no bumper. temperature may not allow the use of this product. §
=

Note 2) Cylinders with auto switches can also be produced; however, auto
switch related parts (auto switch units, mounting brackets, built-in
magnets) are the same as standard products.

Before using these, please contact SMC regarding their suitability
for the operating environment.

How to Order
| Standard model no.

|- xc22

Fluororubber seall

Symbol
m Double Clevis and Double Knuckle Joint Pins Made of Stainless Steel -XC27

To prevent the oscillating portion of the double clevis or the double knuckle joint from rusting, the material of the pin and the retaining ring has
been changed to stainless steel.

Applicable Series How to Order
Description Model Action Note CG1 D| Standard model no. |_ XC27
Double acting, Except with rod end
CG1 , 'l' l
Standard type Single rod bracket Double clevis type Double clevis pin made
cG1 Single acting Except with rod end of stainless steel
(Spring return/extend) bracket
Non-rotating CGiK Double acting, Except with rod end Y -| G02, G03, G04, G05, G08, G10 |- XC27
rod type Single rod bracket 1_ l
Double knuckle joint Double knuckle joint pin

Specifications made of stainless steel

Mounting Only double clevis type (D), double knuckle joint Iy _| G02. G03. G04. GO5. G08. G10 |_ XC27
zrganr::tre?:::ning Stainless steel 304 T ) ’ ) ' ' T
CD -| G02, G25, GO3, G04, GO5, G06 |- XC27
Additional Same as standard type T
specifications P Clevis pin Clevis pin de of stainl t Il
Knuckle pin Knuckle pin made ot stainless stee

SvC %0

O

Double Acting, Single Rod
CG1R

=
&
£
5| C
[=3
=
2 O
=
=
2 O
8
E
X
8
_|1_
ol O
w| m
s O
=
L
[$]
=
=
7
o
i)
=
<

Made to Order



Series CG1

m Double Knuckle Joint with Spring Pin

To prevent loosening of the double knuckle joint

Applicable Series

Description Model Action Note

CG1 | Double acting, Single rod | Except with rod end bracket

Standard type
yP CG1 | Single acting/spring retur type (S) | Except with rod end bracket

How to Order
| Standard model no.

|- xc29

Double knuckle joint with spring pinl

With Coil Scraper

Symbol
-XC29

Specifications: Same as standard type

Dimensions: Same as standard type

Symbol
-XC35

It gets rid of frost, ice, weld spatter, cutting chips adhered to the piston rod, and protects the seals etc.

Applicable Series

Description Model Action Note

Standard type CG1 | Double acting, Single rod

How to Order
Standard model no.

|- xc35

With coil scraperl

Specifications: Same as standard type

Dimensions (Dimensions other than below are the same as standard type.)

Scraper bracket

mounting bolt M FA
T T
\: L \‘ i ‘\ \‘ i ‘\

[l
o Zay) 17
s ] \W) 1\

H
ZZ + Stroke

m Larger Throttle Diameter of Connection Port

This is a cylinder with a piping port larger than the standard type.

Applicable Series

[mm]
B_ore Stroke range FA H L | M ZZ
Size | Standard | Long stroke Male thread | Female fread Male thread | Female thread
20 [Upto200(201to 1500 6 39 27 |27 | 4 (110(118)| 98 (106)
25 |Upto 300301 to 1500 6 44 28 | 32| 5 [115(123)| 99 (107)
32 |Upto 300|301 to 1500 6 44 28 |38 | 5 |117(125)[101 (109)
40 |Upto300|301to 1500| 7 54 29 |47 | 6 |134(143)/109 (118)
50 |Upto300{301to1500| 7 62 30 |58 | 8 [154(166)[122(134)
63 [Upto300(301to 1500 7 62 30 | 72 | 10 |154 (166)(122 (134)

Note) ( ): Long stroke

= Other dimensions are the same as double acting, single rod, standard type.

= On the axial foot and the rod flange types, the mounting bracket is wedged
and bolted between the cylinder and the scraper at the time of shipment.
On other types, it is placed in the same package, (but not assembled).

+ The long stroke shows the maximum manufacturable stroke. For details
about maximum stroke that can be used for each mounting bracket, contact
SMC.

Symbol
-XC37

Dimensions (Throttle diameter of connection port) 2,‘;“;":‘;;2;?2?;‘;%2?;’%

Description Model Action Note

Standard type CG1 | Double acting, Single rod | * Except @ 80, o 100

Double acting,
Double rod

Except with air cushion
« Except o 80, o 100

Double rod type | CG1W

How to Order
Standard model no.

|- xc37

Larger throttle diameter of connection portl
Specifications: Same as standard type

91

[mm]

Bore size | With rubber bumper | With air cushion |Standard type
20 5 3 (2.1)
25 5 3.5 (2.5)
32 6 (3.3)
40 7 (3.9)
50 9 (4.5)
63 9 (5.7)

# Use external stopper etc. not to be damaged with cylinder
cover directly if exceeding the range of kinetic energy
absorption.



Made to Order Series C G 1

Symbol
m Built-in Shock Absorber in Head Cover Side -XC42

A type of the CG1 series air cylinder in which a special shock absorber is enclosed in the head portion so that its ability to absorb energy during the
retraction of the cylinder is considerably greater than the conventional air cushion.

Double Acting, Single Rod
CG1

Applicable Series Specifications =
Description Model Action Note | Piston speed | 50 to 1000 mm/s | E
, °|5
Standard type CG1 DOSUi:L; :?;'ggy | Additional specifications | Same as standard type | § éc; E
* On the axial foot and head flange types, the bracket is mounted at the | S|< (O]
time of shipment. Others are shipped together, (but not assembled). @ < (&)
How to Order 3
[=]
Standard model no. - XC42 =
2
Built-in shock absorber in head cover sidel £
&y
s ~’ %0
v 3
a#M aa
HE
k%)
2
Dimensions (Dimensions other than below are the same as the CG1 long stroke type.) (2,6
c
320
Shock absorber |3
bl | 12
, Bore size| Stroke range | Shock absorber S MH zZz I
Jrit it 20 10 to 350 RBAC0806 77 23.5 135.5 g €
ﬁ} & - : s 25 10 to 400 RBAC1007 77 | 3t 148 |2
4 o
32 15 to 450 RBAC1412 79 55 174 g‘%
[ 40 15 to 800 RBAC2015 87 62.5 199.5 § (O]
S + Stroke MH 50 15 to 1200 RBAC2015 102 55.5 2155 %0
ZZ + Stroke 63 25 to 1200 RBAC2725 102 92.5 2525 | |&
* Shock absorbers are consumables. [ 3
The specifications for shock absorbers are the same as those for the b z
. e s o RBCOOO, but use the RBACLIII] when an external pressure is 32
y(‘; shc;_cl:jabss r:)er serr\‘/ Ic;;fe . dlf;eren.tf.frc:’m t(;‘at of the applied such as for a built-in cylinder. The maximum absorption energy ~ [Z[% 1=
cy .|n er. Refer to the serles. pecific Product may decrease depending on the operating conditions. § = O
Precautions for the replacement period. 5|2 (§)

sMC %

O

1 Direct Mount, Non-rotating Rod |

With End Lock

[

CG1KR

CBG1

Auto Switch

Made to Order



Series CG1

m Grease for Food Processing Equipment

Food grade grease (certified by NSF-H1) is used as lubricant.

Applicable Series

Symbol
-XC85

Specifications

Description Model Action Note Ambient temperature range -10°Cto70°C
CG1 Double acting, Single rod Seal material Nitrile rubber
Standard type -
CG1W | Double acting, Double rod Grease Grease for food
Direct mount type | CG1R | Double acting, Single rod Auto switch Mountable
Dimensions Same as standard type
How to Order Additional specifications Same as standard type
Standard model no. - XC85
Grease for food processing equipmentl
AWarning
Precautions
Be aware that smoking cigarettes etc. after your hands have come into
Food zone

contact with the grease used in this cylinder can create a gas that is
hazardous to humans.

Not installable zone

Food zone ---eoveeveeeeee An environment where the raw materials and
materials of food products, semi-finished food
products and food products that make direct or
indirect contact in a normal processing process.

Splash zone ---«e-eeeveve An area where a portion of food products
accidentally splash and stick under the
intended operating conditions. An environment
where food products that enter this area do
not return to the food product contact portion
again, and are not used as food products.

| Installable zone

Non-food zone «---------- Other environments including the food splash
zone, except for the food contact portions.

Note 1) Avoid using this product in the food zone.
(Refer to the figure on the right.)

Note 2) When the product is used in an area of liquid splash, or a water
resistant function is required for the product, please consult SMC.

Note 3) Operate without lubrication from a pneumatic system lubricator.

Note 4) Use the following grease pack for the maintenance work.
GR-H-010 (Grease: 10 g)

Note 5) Please contact SMC for details about the maintenance intervals
for this cylinder, which differ from those of the standard cylinder.

m PTFE Grease
Applicable Series
Description Model Action Note
Double acting, Except with
Standard type cat Single rod air cushion
How to Order
Standard model no. = X446

PTFE greasel

93

O

Not installable

Splash zone
Not installable

Non-food zone
Installable

Symbol
-X446

Specifications: Same as standard type
Dimensions: Same as standard type

= When grease is necessary for maintenance, grease pack is available,
please order it separately.
GR-F-005 (Grease: 5 g)







A\ Safety Instructions

These safety instructions are intended to prevent hazardous situations and/or
equipment damage. These instructions indicate the level of potential hazard with the
labels of “Caution,” “Warning” or “Danger.” They are all important notes for safety

and must be followed in addition to International Standards (ISO/IEC)*1), and other

safety regulations.
r A Caution indicates a hazard with a low level of risk 1
1 A Cautlon: which, if not avoided, could result in minor or moderate
1 injury.
|
|
|
|

. Warning indicates a hazard with a medium level of risk
/A Warning:

yvhich, if not avoided, could result in death or serious
/\ Danger :

injury.
e U AU U U NG U R U R U ———

Danger indicates a hazard with a high level of risk 1
which, if not avoided, will result in death or serious injury. |

/AWarning

1. The compatibility of the product is the responsibility of the person
who designs the equipment or decides its specifications.
Since the product specified here is used under various operating conditions, its
compatibility with specific equipment must be decided by the person who designs the
equipment or decides its specifications based on necessary analysis and test results.
The expected performance and safety assurance of the equipment will be the
responsibility of the person who has determined its compatibility with the product. This
person should also continuously review all specifications of the product referring to its
latest catalogue information, with a view to giving due consideration to any possibility of
equipment failure when configuring the equipment.

. Only personnel with appropriate training should operate machinery
and equipment.
The product specified here may become unsafe if handled incorrectly. The assembly,
operation and maintenance of machines or equipment including our products must be
performed by an operator who is appropriately trained and experienced.

3.Do not service or attempt to remove product

machinery/equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only be performed
after measures to prevent falling or runaway of the driven objects have been
confirmed.

. When the product is to be removed, confirm that the safety measures as mentioned
above are implemented and the power from any appropriate source is cut, and read
and understand the specific product precautions of all relevant products carefully.

. Before machinery/equipment is restarted, take measures to prevent unexpected
operation and malfunction.

. Contact SMC beforehand and take special consideration of safety
measures if the product is to be used in any of the following
conditions.

1. Conditions and environments outside of the given specifications, or use outdoors or in
a place exposed to direct sunlight.

2. Installation on equipment in conjunction with atomic energy, railways, air navigation,
space, shipping, vehicles, military, medical treatment, combustion and recreation, or
equipment in contact with food and beverages, emergency stop circuits, clutch and
brake circuits in press applications, safety equipment or other applications unsuitable
for the standard specifications described in the product catalogue.

3. An application which could have negative effects on people, property, or animals
requiring special safety analysis.

4.Use in an interlock circuit, which requires the provision of double interlock for possible
failure by using a mechanical protective function, and periodical checks to confirm
proper operation.

N

and

n

w

IS

#1) ISO 4414: Pneumatic fluid power — General rules relating to systems.
1SO 4413: Hydraulic fluid power — General rules relating to systems.
IEC 60204-1: Safety of machinery — Electrical equipment of machines.

(Part 1: General requirements)
ISO 10218-1: Manipulating industrial robots - Safety.
etc.

Limited warranty and Disclaimer/
Compliance Requirements

The product used is subject to the following “Limited warranty and
Disclaimer” and “Compliance Requirements”.
Read and accept them before using the product.

Limited warranty and Disclaimer

1.The warranty period of the product is 1 year in service or 1.5 years
after the product is delivered, wichever is first.*2)
Also, the product may have specified durability, running distance or
replacement parts. Please consult your nearest sales branch.

2. For any failure or damage reported within the warranty period which is clearly
our responsibility, a replacement product or necessary parts will be provided.
This limited warranty applies only to our product independently, and not to any
other damage incurred due to the failure of the product.

3. Prior to using SMC products, please read and understand the warranty
terms and disclaimers noted in the specified catalogue for the particular
products.

%2) Vacuum pads are excluded from this 1 year warranty.
A vacuum pad is a consumable part, so it is warranted for a year after it is delivered.
Also, even within the warranty period, the wear of a product due to the use of the vacuum
pad or failure due to the deterioration of rubber material are not covered by the limited
warranty.

Compliance Requirements

1. The use of SMC products with production equipment for the manufacture of
weapons of mass destruction (WMD) or any other weapon is strictly
prohibited.

2. The exports of SMC products or technology from one country to another are
governed by the relevant security laws and regulations of the countries
involved in the transaction. Prior to the shipment of a SMC product to
another country, assure that all local rules governing that export are known
and followed.

A\ Caution

1. The product is provided for use in manufacturing industries.
The product herein described is basically provided for peaceful use in manufacturing
industries.
If considering using the product in other industries, consult SMC beforehand and exchange
specifications or a contract if necessary.
If anything is unclear, contact your nearest sales branch.

A\ Caution

SMC products are not intended for use as instruments for legal
metrology.

Measurement instruments that SMC manufactures or sells have not been qualified by
type approval tests relevant to the metrology (measurement) laws of each country.
Therefore, SMC products cannot be used for business or certification ordained by the
metrology (measurement) laws of each country.

’ASafety Instructions | Be sure to read “Handling Precautions for SMC Products” (M-E03-3) before using.

SMC Corporation (Europe)

Austria @ +43 (0)2262622800  www.smc.at office@sme.at Lithuania @ +370 52308118 www.smlt.ft info@smclt.lt

Belgium @ +32 (0)33551464  www.smcpneumatics.be  info@smcpneumatics.be | Netherlands @ +31(0)205318888  www.smcpneumatics.nl info@smcpneumatics.nl
Bulgaria & +359 (0)2807670  www.smc.bg office @sme.bg Norway @ +47 67129020 WWW.Smc-norge.no post@smc-norge.no

Croatia @ +385 (0)13707288  www.smc.hr office@sme.hr Poland @ +48 222119600 www.sme.pl office@sme.pl

Czech Republic @& +420 541424611 Wwww.smc.cz office@smc.cz Portugal @ +351226166570  www.smc.eu postpt@smc.smces.es
Denmark @ +45 70252900 www.smedk.com smc@smedk.com Romania @ +40 213205111 WWww.smcromania.ro smcromania @smcromania.ro
Estonia @ +372 6510370 www.smepneumatics.ee  smc@smcpneumatics.ee | Russia @ +7 8127185445 www.smc-pneumatik.ru info@smc-pneumatik.ru
Finland @ +358207513513  www.smc.fi smcfi@sme.fi Slovakia B +421 (0)413213212  www.sme.sk office @smc.sk

France @ +33(0)164761000  www.smc-france.fr promotion@smc-france.fr | Slovenia @& +386 (0)73885412  www.smc.si office@smc.si

Germany @ +49(0)61034020  www.smc.de info@smc.de Spain @ +34 902184100 Www.smc.eu post@smc.smces.es

Greece @+302102717265  www.smchellas.gr sales@smchellas.gr Sweden @& +46 (0)86031200  www.smc.nu post@smc.nu

Hungary @ +36 23511390 www.smc.hu office@sme.hu Switzerland @ +41(0)523963131  www.sme.ch info@smc.ch

Ireland @& +353 (0)14039000  www.smcpneumatics.ie  sales@smcpneumatics.ie | Turkey @+902124890440  www.smcpnomatik.com.tr  info@smcpnomatik.com.tr
Italy @ +39 0292711 www.smitalia.it mailbox @smcitalia.it UK @ +44 (0)845 1215122 www.smepneumatics.co.uk sales@smepneumatics.co.uk
Latvia @ +371 67817700 www.smelv.lv info@smclv.lv

SMC CORPORATION Akihabara UDX 15F, 4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021, JAPAN Phone: 03-5207-8249 FAX: 03-5298-5362

1st printing TU printing TU 00 Printed in Spain

Specifications are subject to change without prior notice and any obligation on the part of the manufacturer.



	CG1-Z.pdf
	Air Cylinder Series CG1
	Features
	Variations
	How to Order
	Specifications, Accessories, Standard Strokes
	Cylinder Assembly
	Mounting Brackets, Mounting Brackets, Accessories/Material, Surface Treatment
	Weights, Weights of Cylinder Movable Parts, Additional Weights
	Maximum Allowable Kinetic Energy, Mounting Procedure
	Construction
	Dimensions/Basic
	Dimensions/Axial Foot
	Dimensions/Rod Flange, Head Flange
	Dimensions/Rod Trunnion, Head Trunnion
	Dimensions/Clevis
	With Pivot Bracket
	Dimensions of Accessories
	Auto Switch Mounting
	Made to Order: Individual Specitications




